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Introduction

Collection of Employment Data. The employment sections of the NLSY97 questionnaire are
somewhat complex. Before beginning analysis, researchers must understand the structure of each
round's questionnaire, particularly the way in which jobs are classified as employee, freelance, or self-
employment. It is important to note that this classification depends in part on the survey round and the
respondent's age. In rounds 1 and 2, employee jobs were recorded in the first part of the YEMP section,
administered only to respondents age 14 or older as of the interview date. The second part of the YEMP
section collected information about freelance jobs of respondents age 14 and older and all jobs of
respondents age 12 or 13 (the implicit assumption being that respondents younger than 14 are not likely
to hold employee jobs). If the respondent was at least 16 years old and made at least $200/week in a
freelance job, the job was classified as self-employment and an extra series of questions was asked
during the freelance section.

In round 3, all respondents were at least age 14 by the interview date, so the age restriction for employee
jobs was no longer necessary. The structure of the section remained largely the same, with a division
between employee and freelance jobs. Self-employment was classified in the same way as in the earlier
rounds.

In round 4 the section was redesigned. Respondents born in 1980-82 (who were mostly age 18 and older
when the round 4 field period began) were asked about employee jobs and self-employment at the same
time. In addition, the minimum income requirement from the freelance section no longer applied; jobs
could be classified as self-employment regardless of earnings. However, respondents born in 1983-84
(who were mostly age 16 or 17 when the round 4 field period began) continued to describe employee
and freelance jobs separately. Data on self-employment jobs were still collected in the freelance section,



and freelance jobs still had to meet the income criteria to qualify as self-employment. The same pattern
was used in round 5.

The redesign of the employment section has important implications for created employment variables.
In rounds 1-3, all of the created employment variables were based only on employee-type jobs. So, for
example, the variable "Weeks Worked during Calendar Year 1999" counted only the weeks worked by a
respondent at a regular employee-type job. If the respondent also reported self-employment in a lawn
care business, the weeks spent working at that job were not counted in the created variable.

In round 4, when older respondents reported both employee-type and self-employed jobs in the same
series of variables, this approach was reconsidered. For rounds 4 and 5, older respondents now have
three versions of most created variables. The first version, identified by the suffix "ET" in the question
name, includes only employee-type jobs. The second version, the "SE" variables, includes only self-
employed jobs reported by respondents born in 1980-83 in the regular employment section during
round 5 (and similarly for respondents born in 1980-82 in round 4). These variables do not include
freelance jobs or self-employment reported by younger respondents in the freelance jobs section in
rounds 4 and 5, and they do not include freelance jobs or self-employment reported in rounds 1-3 by any
respondent regardless of age. Finally, the variables for all jobs include both employee-type jobs and self-
employment reported during round 5 for respondents born in 1980-83 but only include employee-type
jobs for respondents born in 1984 (similarly, in round 4, these variables reported all jobs for respondents
born in 1980-82 and only employee-type jobs for respondents born in 1983-84). These last variables are
identified with the suffix "ALL" in the question name.

Respondents' ages varied widely in round 4, when self-employed jobs were first recorded as part of the
regular employment section, and some respondents reported employment over several years if they
missed a round of interviewing. To simplify the creation of the employment variables, survey staff
included only the self-employment job information starting on January 1 of the year the respondent
turned 18. For example, consider a respondent who was 20 years old on his round 4 interview date in
April 2001 and had not been interviewed since round 1. He reports self-employment in a computer

repair business beginning on his 17t birthday in March 1998 and continuous employment at a fast-food
restaurant since his round 1 interview in 1997. The round 4 created employment variables would include
information about the employee-type fast food job dating all the way back to 1997. However, the
computer repair business would not be considered until January 1, 1999 (the first day of the year he
turned 18). In other words, the variable "Weeks Worked in Calendar Year 1998" would count only the
fast food job and the variable "Weeks Worked Any Job in Calendar Year 1999" would count both the
fast food job and the repair business. Similarly, the new variable "Weeks R Was Self-Employed Year
1998" would have a value of -4, or valid skip (because the respondent was not yet 18), but the variable
"Weeks R Was Self-Employed Year 1999" would report the weeks the respondent worked at the
computer repair business in 1999. This approach, continued in round 5, will permit users to compare the
employment variables across respondents in different rounds with confidence that the job types included
are the same for all respondents of a given age.

"Backreporters.” Occasionally respondents report a job in the current interview that started before the
date of their last interview and should have been reported at that time. Appendix 6 in this document
contains a more complete description of the implications of these reports for the created employment
event history variables. There are also a number of created employment variables detailed in this
appendix. Nearly all of these variables use the information provided about employment previous to the
date of last interview. The only exception is the set of CV_WKSWK_DL. variables, which reports the
weeks worked since the previous interview date. The current round's variables would not include the
backreported information in any case; the previous round's variables are not re-created to incorporate



this new information.

For example, assume that Jane was interviewed in round 3 on April 15, 2000, and in round 4 on April
15, 2001. In the round 4 interview, she reports for the first time a job that started on April 1, 2000. The
2 weeks worked at that job before April 15, 2000, would not be reflected in any round's
CV_WKSWK_DLI variables. However, those weeks would be counted in other variables. For
example, CV_WKSWK _YR.00 would count all the weeks worked at any job in 2000, regardless of
whether those weeks were reported in the round 3 or round 4 interview.

Creation of Employment Variables. A number of the created employment variables use the same
program as input. The program in this section is referred to throughout the employment variables. For
example, to create the "Weeks Worked at Employee Job #x during 19xx™ variables, survey staff first run
the program titled "emp_begin.sas" and then run the program included in the weeks worked section of
this appendix. The variables and code for "emp_begin.sas" are provided in a separate file.

Number of Weeks Worked during 19xx/20xx

Variables Created: V_WKSWK_YR_ALL.80 - CV_WKSWK_YR_ALL.03
CV_WKSWK_YR_ET.80 - CV_WKSWK_YR_ET.03
CV_WKSWK_YR_SE.98 - CV_WKSWK_YR_SE.03

Programs Used
This program uses emp_begin.sas as input.

This variable is created for each individual for each year of potential work activity (1980-2003) See the
introduction to this appendix for important information about the universes for each of these
variables. Respondents not working in a given year are given a default value of zero (0) weeks worked.
Otherwise, the variable indicates the actual cumulative weeks worked on all jobs in that year.

array joblwks (i) wl_1-wl 1253;
array job2wks (i) w2_1-w2_1253;
array job3wks (i) w3_1-w3_1253;
array job4wks (i) w4 _1-w4 1253;
array job5wks (i) ws_1-wb 1253;
array job6wks (i) wé_1-w6_1253;
array job7wks (i) w7_1-w7_1253;
array job8wks (i) w8_1-w8_1253;
array job9wks (i) w9_1-w9 1253;
array job10wks (i) w10_1-w10_1253;
array jobllwks (i) wll 1-wll 1253;

array alljobs (i) wks1-wks1253;
array selfjobs (i) swks1-swks1253;
array empjobs (i) ewksl-ewks1253;



array starw (i) starwQ1-starwll;
array stopw (i) stopw01-stopwll;
array uid (i) uidO1-uid11;

array self (i) selfO1-selfll;

array smof (i) smof01-smofl1;
array emof (i) emofOl-emofll,;
array stary (i) stary01-stary11;
array stopy (i) stopy01-stopy11;

array réwks (i) réwks80-réwks99 réwks00 réwks01 réwks02 réwks03;
array réswks (i) réswks80-r6swks99 r6swks00 réswks01 r6swks02 r6swks03;
array réewks (i) réewks80-r6ewks99 r6ewks00 ré6ewks01 réewks02 r6ewks03;

do over alljobs;
alljobs=0;
selfjobs=0;
empjobs=0;
end;

*hkkhhkkhhkkhhkkhhkhkikkhhhkkhhkhkihkkhhhkkihkhihkihhkihkihihkkihkhihiihihhihiixx

** Qverlay multiple jobs over JOB 1 work weeks **

*hhkkkhkhkkkhkkhkkkhkhkkhkkhhkkhhhkkhkkhkhkkhkkhhkhkkhhhkkhhhkkhkhhkkhkhhkkhkihkkhkihhkihhkihiiiikkh-
)

do over joblwks;
alljobs=job1wks;

if self01=1 then do;
selfjobs=job1wks;
end;

if self01=0 then do;
empjobs=job1wks;
end;

end;

do over alljobs;

if job2wks=1 then do;
alljobs=job2wks;

end;

if job2wks=1 and self02=1 then do;
selfjobs=job2wks;

end;

if job2wks=1 and self02=0 then do;
empjobs=job2wks;

end;

if job2wks=-3 and alljobs=0 then do;
alljobs=job2wks;

end;

if job2wks=-3 and selfjobs=0 and self02=1 then do;
selfjobs=job2wks;

end;

if job2wks=-3 and empjobs=0 and self02=0 then do;



empjobs=job2wks;
end;
end;

[* repeat code for jobs 3-11*/
end;

Fhhhhhkhkkkkhkhkhhhhhkhkhkhkkhkhkhhrrhhkhhhkkhkhrrrrrhhhhhrrirriiddxhhhiiiix

** Calculate cumulative weeks on all jobs for each year **

F*hkhkkhkkhhkhkkhhkkhhhkkhhkhhkkhhhkkihkhihkkhhkhkkihkhihkkhhhkkihhihkkiihkkihhihiihiiiik:
’

/* Initialize each annual c.v. */
do over réwks;

réwks=0;

réswks=0;

réewks=0;

end;

[*1980 */

do i=1to 52;

if alljobs=1 then do;
réwks80=r6wks80+1;
end;

if selfjobs=1 then do;
r6swks80=r6swks80+1;
end;

if empjobs=1 then do;
réewks80=r6ewks80+1;
end;

end;

do i=1to 52;

if alljobs=-3 then do;
réwks80=-3;

end;

if selfjobs=-3 then do;
réswks80=-3;

end;

if empjobs=-3 then do;
réewks80=-3;

end;

end;

/* repeat for 1981-2003

/*the week numbers for the do i statements are as follows*/
/* 1981 */ do i=53 to 104;

/* 1982 */ do i=105 to 156;

/* 1983 */ do i=157 to 209;

/* 1984 */ do i=210 to 261;

/* 1985 */ do i=262 to 313;

/* 1986 */ do i=314 to 365;



[* 1987 */ do i=366 to 417,
/[* 1988 */ do i=418 to 470;
[* 1989 */ do i=471 to 522,
/*1990 */ do i=523 to 574;
[*1991 */ do i=575 to 626;
[*1992 */ do i=627 to 678;
[*1993 */ do i=679 to 730;
[*1994 */ do i=731 to 783;
[* 1995 */ do i=784 to 835;
[* 1996 */ do i=836 to 887,
[* 1997 */ do i=888 to 939;
/* 1998 */ do i=940 to 991,
/*1999 */ do i=992 to 1043,;
[* 2000 */ do i=1044 to 1096;
[* 2001 */ do i=1097 to 1148;
[* 2002 */ do i=1149 to 1200;
[* 2003 */ do i=1201 to 1252;

*** Include valid skips;

do over réwks;

if €200=-5 then do;
réwks=-5;
réswks=-5;
réewks=-5;

end;

end;

/* Define the following c.v.'s to match up the array sizes, they are zero by definition. */
riwks99=0; riwks00=0; r1wks01=0; r1wks02=0; r1wks03=0;

r2wks00=0; r2wks01=0; r2wks02=0; r2wks03=0; r3wks03=0;

r3wks01=0; r3wks02=0; r3wks03=0;

rdwks02=0; r4ewks02=0; r4swks02=0; r4wks03=0; r4ewks03=0; r4swks03=0;
r5wks03=0; r5ewks03=0; r5swks03=0;

array rlwks (i) riwks80-riwks99 riwks00 riwks01 riwks02 riwks03; /* Round 1 created variable */
array r2wks (i) r2wks80-r2wks99 r2wks00 r2wks01 r2wks02 r2wks03; /* Round 2 created variable */
array r3wks (i) r3wks80-r3wks99 r3wks00 r3wks01 r3wks02 r3wks03; /* Round 3 created variable */

array r4wks (i) rdwks80-r4wks99 rdwks00 rdwks01 rdwks02 rdwks03; /* Round 4 created variable, all
jobs */

array rdewks (i) r4ewks80-r4ewks99 r4ewks00 rdewks01 rdewks02 rdewks03;/* Round 4 created
variable, employee jobs*/

array rdswks (i) r4swks80-r4swks99 r4swks00 r4swks01 rdswks02 r4swks03;/*Round 4 created
variable, self-employed jobs */

array rowks (i) rswks80-r5wks99 rowks00 r5wks01 r5wks02 rowks03; /* Round 5 created variable, all
jbos */
array rsewks (i) roewks80-r5ewks99 r5ewks00 r5ewks01 rs5ewks02 r5ewks03 ; /* Round 5 created



variable, employee jobs */
array r5swks (i) roswks80-r5swks99 rsswks00 r5swks01 roswks02 r5swks03; /* Round 5 created
variable, self-employed jobs */

array réwks (i) réewks80-r6wks99 réwks00 réwks01 réwks02 réwks03; /*number of weeks worked in
each year forall jobs);*/

array réewks (i)réewks80-r6ewks99 r6ewks00 réewks01 réewks02 r6ewks03; /*number of weeks
worked in each year for employ type jobs);*/

array réswks (i)réswks80-r6swks99 réswks00 réswks01 réswks02 réswks03; /*number of weeks
worked in each year self-employed .*/

array twks (i) twks80-twks99 twks00 twks01 twks02 twks03;/* Total created variable, all jobs */

array tewks (i) tewks80-tewks99 tewks00 tewks01 tewks02 tewks03;/* Total created variable, employee
jobs */

array tswks (i) tswks80-tswks99 tswks00 tswks01 tswks02 tswks03;/* Total created variable, self-
employed jobs */

[* 4-16-04 Thes people backreported on a military job. The problem is that the backreporting skips them
into the
bottom calculation of the c.v.'s, so their "back5" is set back to "." */

array br (i) br1-brii;

array milflag (i) milflagl-milflag11;
do over br;

if br=1 and milflag=1 then do;
flagmi=1;

back5=;

end;

end;

/* Begin by splitting up periods where Round5 the dli c.v. exclusively collect weeks worked
information. Define the dli

interview year as the split. By construction, any weeks worked information collected before the dli
interview week

should be independent of information collected in Round5. */

/* For the new Round 5 c.v.'s, we are assuming that all dli jobs are employee-type jobs. Thus, dli
information

will be added to the "all jobs™ and "employee jobs" c.v.'s but not "self-employed jobs" c.v.'s. */

do over réwks;
twks=0;

tswks=0;

tewks=0;

if réwks>0 then do;
twks=réwks;

end;

if réswks>0 then do;
tswks=r6swks;



end;

if réewks>0 then do;
tewks=r6ewks;

end;

/* 4-19-04 dli is Round 5 */

if rowks>0 and dliwk=r5int then do;

twks=r5wks;

end;

if roswks>0 and dliwk=r5int then do;
tswks=r5swks;

end;

if r5ewks>0 and dliwk=r5int then do;
tewks=r5ewks;

end;

if r5wks>0 and réwks>0 and dliwk=r5int then do;
twks=r5wks+réwks;

end;

if r5swks>0 and r6swks>0 and dliwk=r5int then do;
tswks=r5swks+r6swks;

end;

if r5ewks>0 and r6ewks>0 and dliwk=r5int then do;
tewks=r5ewks+r6ewks;

end;

/* dli is Round 4 */

if rAwks>0 and dliwk=r4int then do;

twks=r4wks;

end;

if rdswks>0 and dliwk=r4int then do;
tswks=r4swks;

end;

if rdewks>0 and dliwk=r4int then do;
tewks=rdewks;

end;

if rdwks>0 and réwks>0 and dliwk=r4int then do;
twks=r4wks+réwks;

end;

if r4swks>0 and r6swks>0 and dliwk=r4int then do;
tswks=r4swks+r6swks;

end;

if rdewks>0 and r6ewks>0 and dliwk=r4int then do;
tewks=r4ewks+r6ewks;

end;

/* dli is Round 3 */

if r3wks>0 and dliwk=r3int then do;
twks=r3wks;

tewks=r3wks;



end;

if r3wks>0 and réwks>0 and dliwk=r3int then do;
twks=r3wks+réwks;

end;

if r3wks>0 and réewks>0 and dliwk=r3int then do;
tewks=r3wks+r6ewks;

end;

/* dli is Round 2 */

if r2wks>0 and dliwk=r2int then do;

twks=r2wks;

tewks=r2wks;

end;

if r2wks>0 and ré6wks>0 and dliwk=r2int then do;
twks=r2wks+réwks;

end;

if r2wks>0 and r6ewks>0 and dliwk=r2int then do;
tewks=r2wks+ré6ewks;

end;

/* dli is Round 1 */

if riwks>0 and dliwk=rlint then do;

twks=r1wks;

tewks=r1wks;

end;

if riwks>0 and réwks>0 and dliwk=rlint then do;
twks=r1wks+réwks;

end;

if riwks>0 and r6ewks>0 and dliwk=rlint then do;
tewks=rlwks+r6ewks;

end;

end;

[* This section is written for the backreporters. We load in the weeks array from the Round 5 c.v.'s and
use it to update the corresponding Round 6 array. */

array alljobs (i) wks1-wks1252; /* form R6 status arrray xia.emp29_numwks*/
array selfjobs (i) swksl-swks1252; /* form R6 selfemp status arrrayxia.emp29_numwks*/
array empjobs (i) ewksl-ewks1252; /* form R6 emp status arrrayxia.emp29_numwks*/

array r5ar (i) rsarl-r5arl252; /* R1-R5 xia.tnwksa weeks status arrray */
array r5sar (i) r5sarl-r5sar1252; /* R1-R5 xia.tnwksa weeks selfemp status arrray */
array rbear (i) rearl-rbearl252; /* R1-R5 xia.tnwksa weeks emp status arrray */

if back1=1 or back2=1 or back3=1 or back4=1 then back5=1;
if back5=1 then do;

do over alljobs;
if rbar=1 then do;



alljobs=rbar;

end;

if roear=1 then do;
empjobs=rbear;
end;

if r5ar=1 and r5sar=0 and r5ear=0 then do;
empjobs=rbar;
end;

if r5sar=1 then do;
selfjobs=r5sar;
end;

if rbar=-3 and alljobs=0 then do;

alljobs=r5ar;

end;

if roear=-3 and empjobs=0 and r5sar=0 then do;
empjobs=rb5ar;

end;

end;
/* 1990 */

twks90=0;
tswks90=0;
tewks90=0;

do i=523 to 574;

if alljobs=1 then do;
twks90=twks90+1;
end;

if selfjobs=1 then do;
tswks90=tswks90+1;
end;

if empjobs=1 then do;
tewks90=tewks90+1;
end;

end;

do i=523 to 574;

if alljobs=-3 then do;
twks90=-3;

end;

if selfjobs=-3 then do;
tswks90=-3;

end;

if empjobs=-3 then do;
tewks90=-3;

end;



end;

[*repeat above code for 1991-2003*/
/*do i statements for each year are as follows:*/
/*1991 */ do i=575 to 626;

[* 1992 */ do i=627 to 678;

/* 1993 */ do i=679 to 730;

[*1994 */ do i=731 to 783;

[* 1995 */ do i=784 to 835;

/* 1996 */ do i=836 to 887,

[* 1997 */ do i=888 to 939;

/* 1998 */ do i=940 to 991,

/*1999 */ do i=992 to 1043;

/* 2000 */ do i=1044 to 1096;

/* 2001 */ do i=1097 to 1148;

/* 2002 */ do i=1149 to 1200;

/* 2003 */ do i=1201 to 1252;

end;

/* If either created variable from Round 6 or dli is a -2 or -3, then the overall created variable will be -2
or -3, respectively. */

do over réwks;

if réwks in (-1,-2,-3) then do;
twks=-3;

end;

if réswks in (-1,-2,-3) then do;
tswks=-3;

end;

if réewks in (-1,-2,-3) then do;
tewks=-3;

end;

if rowks in (-1,-2,-3) and dliwk=r5int then do;
twks=-3;

end;

if roswks in (-1,-2,-3) and dliwk=r5int then do;
tswks=-3;

end;

if roewks in (-1,-2,-3) and dliwk=r5int then do;
tewks=-3;

end;

if rdwks in (-1,-2,-3) and dliwk=r4int then do;
twks=-3;

end;

if rdswks in (-1,-2,-3) and dliwk=r4int then do;
tswks=-3;

end;

if rdewks in (-1,-2,-3) and dliwk=r4int then do;
tewks=-3;

end;



if r3wks in (-1,-2,-3) and dliwk=r3int then do;
twks=-3;

tewks=-3;

end;

if r2wks in (-1,-2,-3) and dliwk=r2int then do;
twks=-3;

tewks=-3;

end;

if riwks in (-1,-2,-3) and dliwk=rlint then do;
twks=-3;

tewks=-3;

end;

end;

/* Round 6 non-interview cases */
do over twks;

if intwk=-5 then do;

twks=-5;

tswks=-5;

tewks=-5;

end;

end;

endsas;

Number of Weeks Worked since Last Interview

Variables Created: CV_WKSWK_DLI_ALL
CV_WKSWK _DLI ET
CV_WKSWK_DLI_SE

Programs Used
This program uses emp_begin.sas as input.

For each individual, this program counts the number of weeks the respondent worked since the last
interview. Three variables are created: one for all jobs, one for employee-type jobs, and one for self-
employed jobs. See the introduction to this appendix for important information about the
universes for each of these variables. Respondents not working in a given year are given a default
value of zero.

array joblwks (i) wl_1-wl_1253;
array job2wks (i) w2_1-w2_1253;
array job3wks (i) w3_1-w3 1253;
array job4wks (i) w4_1-w4_1253;



array job5wks (i) ws_1-wb5 1253;
array job6wks (i) wé_1-w6_1253;
array job7wks (i) w7_1-w7_1253;
array job8wks (i) w8_1-w8_1253;
array job9wks (i) w9_1-w9 1253;
array job10wks (i) w10_1-w10_1253;
array jobl1lwks (i) will 1-wl1l_1253;

array alljobs (i) wks1-wks1253;
array selfjobs (i) swksl-swks1253;
array empjobs (i) ewksl-ewks1253;

array starw (i) starw01-starw1l;
array stopw (i) stopw01-stopw1l;
array self (i) selfO1-selfll;

do over alljobs;
alljobs=0;
selfjobs=0;
empjobs=0;
end;

** Qverlay multiple jobs over JOB 1 work weeks **

do over joblwks;
alljobs=job1wks;
if self01=1 then do; selfjobs=joblwks; end;
if self01=0 then do; empjobs=job1wks; end;
end;

do over alljobs;
if job2wks=1 then do;
alljobs=job2wks;
end;
if job2wks=1 and self02=1 then do;
selfjobs=job2wks;
end;
if job2wks=1 and self02=0 then do;
empjobs=job2wks;
end;

if job2wks=-3 and alljobs=0 then do;
alljobs=job2wks;

end;

if job2wks=-3 and selfjobs=0 and self02=1 then do;
selfjobs=job2wks;

end;

if job2wks=-3 and empjobs=0 and self02=0 then do;
empjobs=job2wks;

end;



end;

[*At this point the program loops through the job2 code for jobs 3-11. Contact NLS User Services for
details.*/

** Calculate cumulative weeks on all jobs since dli **;
allwks=0;

selfwks=0;

empwks=0;

if dliwk>0 then do;
if dliwk=>agel4wk then do;
do i=dliwk to 1253;
if alljobs=1 then do; allwks=allwks+1; end;
if selfjobs=1 then do; selfwks=selfwks+1; end;
if empjobs=1 then do; empwks=empwks+1; end;
end;
do i=dliwk to 1253;
if alljobs=-3 then do; allwks=-3; end,;
if selfjobs=-3 then do; selfwks=-3; end,;
if empjobs=-3 then do; empwks=-3; end,;
end;
end;
if agel4wk>dliwk then do;
do i=agel4wk to 1253;
if alljobs=1 then do; allwks=allwks+1; end;
if selfjobs=1 then do; selfwks=selfwks+1; end;
if empjobs=1 then do; empwks=empwks+1; end;
end;
do i=agel4wk to 1253;
if alljobs=-3 then do; allwks=-3; end;
if selfjobs=-3 then do; selfwks=-3; end;
if empjobs=-3 then do; empwks=-3; end,;
end;
end;
end;

if e200=-5 then do;
allwks=-5;
selfwks=-5;
empwks=-5;

end;

endsas;

Number of Weeks Worked Age 14-19, Weeks Worked at All Jobs Since Age 20, and
Weeks Worked at Employee-Type Jobs Since Age 20

Variables Created: CV_WKSWK_TEEN



CV_WKSWK_ADULT ET
CV_WKSWK_ADULT_ALL

Programs Used
This program uses emp_begin.sas as input.

For each respondent, this program creates a variable counting the number of weeks worked at any
employee-type job between the ages of 14 and 19. It then creates two variables counting weeks worked
from age 20 to the present; one totals all jobs and one presents only employee jobs. See the
introduction to this appendix for important information about the universes for each of these
variables. Respondents not working are given a default value of zero; respondents who have not yet
reached age 20 receive a valid skip (-4) on the latter two variables.

if pubid=1461 then self03=0;

array joblwks (i) wl_1-wl 1253;
array job2wks (i) w2_1-w2_1253;
array job3wks (i) w3_1-w3_1253;
array job4wks (i) w4 _1-w4 1253;
array job5wks (i) w5_1-w5_1253;
array job6wks (i) wé_1-w6_1253;
array job7wks (i) w7_1-w7_1253;
array job8wks (i) w8_1-w8_1253;
array job9wks (i) w9_1-w9 1253;
array job10wks (i) w10_1-wl10_1253;
array jobllwks (i) wll 1-wll 1253;

array alljobs (i) wks1-wks1253;
array empjobs (i) ewksl-ewks1253;

do over alljobs;
alljobs=0;
empjobs=0;
end;

Fkhhhhhkhkkkhkhkhkhhhhkhkhkhkkhkhkhhrrhhkhkhhkhrrrrhhhkhhhirirrriihhhiiiix

** Qverlay multiple jobs over JOB 1 work weeks **

F*hkhkkhkkkhkkhkkhkkhhkhkkhhkkhrhkkhhhkkihkhhhkkhhkhihkkhihkkhhhihkihihkkihhihkiihkihhixk:
’

do over joblwks;
alljobs=job1wks;

if self01=0 then do;
empjobs=job1wks;
end;

end;

do over alljobs;



if job2wks=1 then do;
alljobs=job2wks;

end;

if job2wks=1 and self02=0 then do;
empjobs=job2wks;

end;

if job2wks=-3 and alljobs=0 then do;
alljobs=job2wks;

end;

if job2wks=-3 and empjobs=0 and self02=0 then do;
empjobs=job2wks;

end;

end,

[*repeat job 2 code for jobs 3-11*/

F*hkhkkhkkhkhkkhhhkhhkhkkhhkhhhkkhhkhkihkhhhkkihkhkihkihihkihkhihkiihkihkhihihhihiihkikx

** Calculate cumulative weeks on all jobs since age 14 **

*hhkkkhkhkhkkhkhkkkhhkkhkhhkkhhhkkhkhhkkhkkhhkkhkkhhhkkihhkkhihkkhkihkkhkihkkhkihkhkihhkihikiiiiik
’

réemp14=0;
réwks14=0;
réemp20=0;
réwks20=0;

[* The min. of agel4wk (age20wk) is 731 (1044). The max. of agel4wk (age20wk) is 992 (1305).
All values of agel4wk (age20wk) are positive. */

[* réwks14 */

if agel4wk>0 and (age20wk-1)<=1253 then do;
do i=agel4wk to (age20wk-1);
if alljobs=1 then do;
réwks14=réwksl4+1;

end;

end;

do i=agel4wk to (age20wk-1);
if alljobs=-3 then do;
réwks14=-3;

end;

end;

end;

if agel4wk>0 and (age20wk-1)>1253 then do;
do i=agel4wk to 1253;

if alljobs=1 then do;

réwks14=réwksl4+1;

end;



end,

do i=agel4wk to 1253,
if alljobs=-3 then do;
réwks14=-3;

end;

end,

end;

[* réempl4 */

if agel4wk>0 and (age20wk-1)<=1253 then do;
do i=agel4wk to (age20wk-1);
if empjobs=1 then do;
reempl4=réemplq+1,

end;

end;

do i=agel4wk to (age20wk-1);
if empjobs=-3 then do;
reempl4=-3;

end;

end;

end;

if agel4wk>0 and (age20wk-1)>1253 then do;
do i=agel4wk to 1253;
if empjobs=1 then do;
réempl4=réemplq+1,
end;

end;

do i=agel4wk to 1253;
if empjobs=-3 then do;
reempl4=-3;

end;

end;

end;

I* réwks20 */

if agel4wk>0 and age20wk<=1253 then do;
do i=age20wk to 1253;
if alljobs=1 then do;
réwks20=r6wks20+1;
end;

end;

do i=age20wk to 1253,
if alljobs=-3 then do;
réwks20=-3;

end;

end;

end;

[* reemp20 */



if agel4wk>0 and age20wk<=1253 then do;
do i=age20wk to 1253;
if empjobs=1 then do;
réemp20=r6emp20+1,
end;

end;

do i=age20wk to 1253;
if empjobs=-3 then do;
réemp20=-3;

end;

end,

end;

*** Include valid skips;

if e200=-5 then do;
réwks14=-5;
réempl4=-5;
réwks20=-5;
réemp20=-5;

end;

* define all the back reporters, for whom we will go back to the round 1 to round 5 combined arrays;
if back1=1 or back2=1 or back3=1 or back4=1 or back5=1 then back=1,;

* For the back reporters who back report on a military job, we don't need to go back to the round 1 to
round 5 combined array;

array br (i) br01-brl1;

array milflag (i) milflag01-milflag11,;

do over br;

if br=1 and milflag=1 then back=. ;

end;

* 21 cases. printout of these cases show no other back reported jobs besides the military job;

* Initialize the created variables to zero;
temp14=0;
twks20=0;
temp20=0;

/* Merge the round 6 created array with round 1 to round 5 combined arrays */

array alljobs (i) wks1-wks1253;
array empjobs (i) ewksl-ewks1253;
array rbarr (i) rbarl-r5ar1253;
array rbear (i) rSearl-r5ear1253;

* the interview date before r4 interview date;
if r3int ne -5 then r123int=r3int;



if r3int=-5 and r2int ne -5 then r123int=r2int;
if r3int=-5 and r2int=-5 then r123int=rlint;

* "wks" array;

do over alljobs;

if r5arr=1 then do;

alljobs=rbarr;

end;

if rarr=-3 and alljobs=0 then do;
alljobs=rbarr;

end;

end;

* "ewks" array, the "wks" array in rounds 1-3 are for only employee type jobs;
do i=1to r123int-1,;

if rbarr=1 then do;

empjobs=rbarr;

end;

if rarr=-3 and empjobs=0 then do;
empjobs=rbarr;

end;

end;

do i=rl123int to 1253;

if roear=1 then do;

empjobs=rbear;

end;

if r5ear=-3 and empjobs=0 then do;
empjobs=rbear;

end;

end;

* the created variable using the combined array;

if agel4wk>0 and (age20wk-1)<=1253 then do;
do i=agel4wk to (age20wk-1);
if empjobs=1 then do;
templ4=templ4+1;

end;

end;

do i=agel4wk to (age20wk-1);
if empjobs=-3 then do;
templ14=-3;

end;

end;

end;

if agel4wk>0 and age20wk<=1253 then do;
do i=age20wk to 1253;

if alljobs=1 then do;

twks20=twks20+1,

end;



end,

do i=age20wk to 1253;
if alljobs=-3 then do;
twks20=-3;

end;

end,

end;

if agel4wk>0 and age20wk<=1253 then do;
do i=age20wk to 1253;
if empjobs=1 then do;
temp20=temp20+1,
end;

end;

do i=age20wk to 1253;
if empjobs=-3 then do;
temp20=-3;

end;

end,

end;

/* People who are under 20 */
if agel4wk>0 and (age20wk-1)>1253 then do;
do i=agel4wk to 1253;

if empjobs=1 then do;
templ4=templ4+1;

end;

end;

do i=agel4wk to 1253;

if empjobs=-3 then do;
templ14=-3;

end;

end;

end;

* For those who are not interviewed:;

if e200=-5 then do;
templ4=-5;
twks20=-5;
temp20=-5;

end;

*For respondents younger than 20 at interview date, their c.v. will be -4;
if age20wk>intwk and intwk ne -5 then do;

twks20=-4;

temp20=-4,

end;



endsas;

Weeks Worked at Employee Job #x during 19xx/20xx
Variables Created:
CV_WKSWK_JOB_YR.01.xx-CV_WKSWK_JOB_YR.11.xx
Programs Used

This program uses emp_begin.sas as input.

This program creates variables for each of the respondent'’s jobs counting the number of weeks worked
in each calendar year. A variable is created for each potential job even if the respondent has worked no
jobs in a given year with the default value set to zero (0). The most jobs held by any respondent in round
5 was eight, so variables are created for eight jobs for each respondent.

array joblwks (i) wl_1-wl 1253;
array job2wks (i) w2_1-w2_ 1253;
array job3wks (i) w3_1-w3_1253;
array job4wks (i) w4 _1-w4 1253;
array job5wks (i) ws_1-wb5 1253;
array job6wks (i) wé_1-w6_1253;
array job7wks (i) w7_1-w7_1253;
array job8wks (i) w8_1-w8_1253;
array job9wks (i) w9_1-w9 1253;
array job10wks (i) w10_1-wi10_1253;
array jobl1lwks (i) will 1-wl1l_1253;

array starw (i) starw01-starw1l;
array stopw (i) stopw01-stopwll;
array starfl (i) starf_1-starf 11,
array stopfl (i) stopf_1-stopf 11;
array smof (i) smof01-smofl1;
array emof (i) emof0Ol-emofll,;
array stary (i) staryQ1-stary11;
array stopy (i) stopy01-stopy11l;

array réwks80 (i) réw80_1-réw80 11;
array réwks81 (i) rew81 1-réw81 11;
array réwks82 (i) réw82_1-réw82_11;
array réwks83 (i) réw83_1-réw83 11;
array réwks84 (i) réw84 1-réw84 11;
array réwks85 (i) réw85_1-réw85 11;
array réwks86 (i) rew86_1-réw86 11;
array réwks87 (i) rew87_1-réw87_11,;



array réwks88 (i) rew88 1-ré6w88 11;
array réwks89 (i) réw89_1-réw89 11,
array réwks90 (i) réw90_1-réw90 11;
array réwks91 (i) réw9l 1-réw9l 11;
array réwks92 (i) réw92_1-réw92_11;
array réwks93 (i) rew93_1-ré6w93 11;
array réwks94 (i) rew94_1-réw94 11,
array réwks95 (i) réw95_1-réw95 11;
array réwks96 (i) rew96_1-réw96 11;
array réwks97 (i) réw97_1-réw97_11,;
array réwks98 (i) rew98 1-ré6w98 11;
array réwks99 (i) réw99_1-réw99 11,
array réwks00 (i) réw00_1-réw00_11;
array réwks01 (i) réw01_1-réw01_11,
array réwks02 (i) réw02_1-réw02_11;
array réwks03 (i) réw03_1-réw03_11;

F*hkhkkkkhhkkhhhkhhkhkihkhhhkhhkhkihkhrhkkhhkhkihkhhhkkhhkhihkihhhkihkhihkiihkihhihihhihiiikikx

** Calculate cumulative weeks on individual jobs for each year **

F*hhhkkkhhkkhkhkkkhhkhkkhhkkhrhkkhhkhkihkkhrhkkhhkhkrhkkhihkkihkhkihkhihkihkkhihiihihhihiihihhihkix:
’

* 1980 */

do over réwks80;
réwks80=0;
end;

do i=1to 52;

if joblwks=1 then do;
réw80_1=r6w80_1+1,;
end;

if job2wks=1 then do;
rew80_2=r6w80_2+1;
end;

if job3wks=1 then do;
réew80_3=ré6w80_3+1;
end;

if job4dwks=1 then do;
réew80_4=r6w80_4+1;
end;

if job5wks=1 then do;
réew80 5=réw80 5+1;
end;

if job6wks=1 then do;
réw80_6=ré6w80_6+1;
end;

if job7wks=1 then do;
réew80 7=ré6w80_ 7+1;
end;

if job8wks=1 then do;
row80 8=row80 8+1;



end;

if job9wks=1 then do;
réew80_9=ré6w80_9+1;
end;

if job10wks=1 then do;
réw80_10=r6éw80_10+1;
end;

if jobllwks=1 then do;
row80_11=réw80_11+1,
end;

end;

do i=1to 52;

if joblwks=-3 then do;
row80 1=-3;

end;

if job2wks=-3 then do;
rew80 2=-3;

end,

if job3wks=-3 then do;
rew80_3=-3;

end;

if job4wks=-3 then do;
rew80 _4=-3;

end;

if job5wks=-3 then do;
rew80 5=-3;

end;

if job6wks=-3 then do;
rew80 6=-3;

end;

if job7wks=-3 then do;
rew80_7=-3;

end;

if job8wks=-3 then do;
rew80_8=-3;

end,

if job9wks=-3 then do;
rew80_9=-3;

end;

if job10wks=-3 then do;
rew80_10=-3;

end;

if jobllwks=-3 then do;
rew80 11=-3;

end;

end;

[*repeat above code for 1981-2003*/
/*the week numbers for the do i statements are as follows*/
/* 1981 */ do i=53 to 104;



[* 1982 */ do i=105 to 156;
[* 1983 */ do i=157 to 209;
[* 1984 */ do i=210 to 261,
[* 1985 */ do i=262 to 313;
[* 1986 */ do i=314 to 365;
[* 1987 */ do =366 to 417,
[* 1988 */ do i=418 to 470;
[* 1989 */ do i=471 to 522,
[*1990 */ do i=523 to 574,
[*1991 */ do i=575 to 626;
[*1992 */ do i=627 to 678;
[*1993 */ do i=679 to 730;
[*1994 */ do i=731 to 783;
* 1995 */ do i=784 to 835;
[* 1996 */ do i=836 to 887,
[* 1997 */ do i=888 to 939;
/* 1998 */ do i=940 to 991,
/*1999 */ do i=992 to 1043,;
/* 2000 */ do i=1044 to 1096;
[* 2001 */ do i=1097 to 1148;
[* 2002 */ do i=1149 to 1200;
[* 2003 */ do i=1201 to 1252;

doi=1to 11;

if €200=-5 then do;
réwks80=-5; rowks92=-5;
réwks81=-5; réwks93=-5;
réwks82=-5; rowks94=-5;
réwks83=-5; rewks95=-5;
réwks84=-5; rowks96=-5;
réwks85=-5; rowks97=-5;
réwks86=-5; rewks98=-5;
réwks87=-5; rowks99=-5;
réwks88=-5; rowks00=-5;
réwks89=-5; réwks01=-5;
réwks90=-5; réwks02=-5;
réwks91=-5; réwks03=-5;
end;

end;

* define arrays;
array réuid (i) uid01-uid11;

/* Arrange the jobs by year for Round 6 */
array réwks80 (i) réw80_1-réw80_11;
array réwks81 (i) réw81 1-réw81 11;
array réwks82 (i) rew82_1-réw82_11,;
array réwks83 (i) réw83_1-réw83_11;
array réwks84 (i) réw84 1-réw84 11;
array réwks85 (i) réw85_1-réw85 11;
array réwks86 (i) réw86_1-réw86_11;



array réwks87 (i) rew87_1-réw87_11;
array réwks88 (i) réw88 1-réw88 11;
array réwks89 (i) réw89 1-réw89 11;
array réwks90 (i) réw90_1-réw90_11;
array réwks91 (i) réw9l 1-réw9l 11;
array réwks92 (i) row92_1-réw92_11,
array réwks93 (i) rew93_1-réw93_11;
array réwks94 (i) réw94 1-réw94 11,
array réwks95 (i) réw95_1-réw95 11;
array réwks96 (i) réw96_1-réew96_11;
array réwks97 (i) rew97_1-réw97_11;
array réwks98 (i) row98 1-réw98_11;
array réwks99 (i) réw99_1-réw99 11,
array réwks00 (i) réw00_1-réw00_11;
array réwks01 (i) réw01 1-réw01 11;
array réwks02 (i) réw02_1-réw02_11;
array réwks03 (i) réw03_1-réw03_11;

/* Arrange the jobs by year for total c.v. */
array twks80 (i) twk80 1-twk80 11;
array twks81 (i) twk81 1-twk81 11;
array twks82 (i) twk82_1-twk82_ 11,
array twks83 (i) twk83_1-twk83 11;
array twks84 (i) twk84_1-twk84 11,
array twks85 (i) twk85_1-twk85 11;
array twks86 (i) twk86_1-twk86 11;
array twks87 (i) twk87_1-twk87_11,
array twks88 (i) twk88_1-twk88 11;
array twks89 (i) twk89 1-twk89 11,
array twks90 (i) twk90_1-twk90 11,
array twks91 (i) twk91 1-twk91 11;
array twks92 (i) twk92_1-twk92_11,;
array twks93 (i) twk93_1-twk93 11;
array twks94 (i) twk94 1-twk94 11;
array twks95 (i) twk95_1-twk95 11;
array twks96 (i) twk96_ 1-twk96 11;
array twks97 (i) twk97_1-twk97_11,
array twks98 (i) twk98_1-twk98 11;
array twks99 (i) twk99 1-twk99 11;
array twks00 (i) twk00_1-twk00_11;
array twks01 (i) twk01_1-twk01 11;
array twks02 (i) twk02_1-twk02_11,
array twks03 (i) twk03_1-twk03_11;

/* Initialize total weeks count to zero */

doi=1to 11;

twks80=0; twks81=0; twks82=0; twks83=0; twks84=0; twks85=0; twks86=0; twks87=0; twks88=0;
twks89=0; twks90=0; twks91=0;

twks92=0; twks93=0; twks94=0; twks95=0; twks96=0; twks97=0; twks98=0; twks99=0; twks00=0;
twks01=0; twks02=0; twks03=0;



end;

/* Accounts for non-interview cases */

doi=1to 11;

if €200=-5 then do;

twks80=-5; twks81=-5; twks82=-5; twks83=-5; twks84=-5; twks85=-5; twks86=-5; twks87=-5;
twks88=-5; twks89=-5;

twks90=-5; twks91=-5; twks92=-5; twks93=-5; twks94=-5; twks95=-5; twks96=-5; twks97=-5;
twks98=-5; twks99=-5;

twks00=-5; twks01=-5; twks02=-5; twks03=-5;

end;

end;

/* Initialize the "total" variables by the round 6 created variables */

/* 1980 */

doi=1to 11;

if rowks80=>0 then do;
twks80=r6wks80;

end;

if -4<ré6wks80<0 then do;
twks80=-3;

end;

end;

/* 1981 */

doi=1to 11;

if rowks81=>0 then do;
twks81=r6wks81;

end;

if -4<ré6wks81<0 then do;
twks81=-3;

end;

end;

/* and so on through */

/* 2003 */

doi=1to 11;

if -4<réwks03<0 then do;
twks03=-3;

end;

if rowks03>0 then do;
twks03=r6wks03;

end;

end;

/* When matching jobs from a dli Round to Round 6, we only need to worry about jobs in Round 6 with
a UID not
beginning with "2002" since only those jobs that could have been worked in both rounds. */



array matchl (i) matl_1-matl 11;
array match2 (i) mat2_1-mat2_11;
array match3 (i) mat3_1-mat3 11;
array match4 (i) mat4_1-mat4 11;
array match5 (i) mat5_1-mat5_11;
array match6 (i) maté_1-mat6_11;
array match7 (i) mat7_1-mat7_11;
array match8 (i) mat8_1-mat8 11;
array match9 (i) mat9_1-mat9 11;

doi=1to 11;
match1=0; match2=0; match3=0; match4=0; match5=0; match6=0; match7=0; match8=0; match9=0;
end;

/* Define "matl_4" as the dummy variable that equals 1 when the first job in the last round and the
fourth job in the
current round Roster have the same UID. */

do over r6uid; /* If UID from the first position in dli Round matches with any UID in Round 6 */
if r5uid1>0 and réuid>0 and r5int>0 and intwk>0 then do;

if r5uid1=r6uid then do;

matchl=1;

end;

end;

if r4uid1>0 and réuid>0 and r4int>0 and r5int=-5 and intwk>0 then do;

if r4uid1=r6uid then do;

matchl=1;

end;

end;

if r3uid1>0 and r6éuid>0 and r3int>0 and r4int=-5 and r5int=-5 and intwk>0 then do;

if r3uid1=r6uid then do;

matchl=1;

end;

end;

if r2uid1>0 and réuid>0 and r2int>0 and r3int=-5 and r4int=-5 and r5int=-5 and intwk>0 then do;
if r2uid1=r6uid then do;

matchl=1;

end;

end;

if rluid1>0 and réuid>0 and r1int>0 and r2int=-5 and r3int=-5 and r4int=-5 and r5int=-5 and intwk>0
then do;

if riuid1=r6uid then do;

matchl=1;

end;

end;

end;

do over r6uid; /* If UID from the second position in dli Round matches with any UID in Round 6 */
if r5uid2>0 and r6uid>0 and r5int>0 and intwk>0 then do;
if r5uid2=r6uid then do;



match2=1;

end;

end;

if r4uid2>0 and réuid>0 and r4int>0 and r5int=-5 and intwk>0 then do;

if r4uid2=r6uid then do;

match2=1;

end;

end;

if r3uid2>0 and r6uid>0 and r3int>0 and r4int=-5 and r5int=-5 and intwk>0 then do;
if r3uid2=r6uid then do;

match2=1;

end;

end;

if r2uid2>0 and r6uid>0 and r2int>0 and r3int=-5 and r4int=-5 and r5int=-5 and intwk>0 then do;
if r2uid2=r6uid then do;

match2=1;

end;

end;

if rluid2>0 and r6uid>0 and rlint>0 and r2int=-5 and r3int=-5 and r4int=-5 and r5int=-5 and intwk>0
then do;

if rluid2=r6uid then do;

match2=1;

end;

end;

end;

/* and so on through */

do over r6uid; /* If UID from the 9th position in dli Round matches with any UID in Round 6 */
if r5uid9>0 and réuid>0 and r5int>0 and intwk>0 then do;

if r5uid9=r6uid then do;

match9=1;

end;

end;

if r4uid9>0 and réuid>0 and r4int>0 and r5int=-5 and intwk>0 then do;

if r4uid9=r6uid then do;

match9=1;

end;

end;

if r3uid9>0 and réuid>0 and r3int>0 and r4int=-5 and r5int=-5 and intwk>0 then do;

if r3uid9=r6uid then do;

match9=1;

end;

end;

if r2uid9>0 and réuid>0 and r2int>0 and r3int=-5 and r4int=-5 and r5int=-5 and intwk>0 then do;
if r2uid9=r6uid then do;

match9=1;

end;

end;

if rluid9>0 and r6uid>0 and rlint>0 and r2int=-5 and r3int=-5 and r4int=-5 and r5int=-5 and intwk>0
then do;



if riuid9=r6uid then do;
match9=1;

end;

end;

end;

/* Now reassign total created variable if there is an identical job was worked in both rounds. Using the
match variable,

a job worked in both rounds will update the total created variable. Need to add positivity condition on
the weeks

worked values since some of the values equal -3. */

/* For respondents last interviewed in Round 5, 2002 */

if r5int_y=2002 then do;

do over matchi;

if match1=1 then do;

if rowks801 not in (-5,-4,0,.) then twks80=r5wks801; if r5wks891 not in (-5,-4,0,.) then
twks89=r5wks891;

if rowks811 not in (-5,-4,0,.) then twks81=r5wks811; if r5wks901 not in (-5,-4,0,.) then
twks90=r5wks901;

if rowks821 not in (-5,-4,0,.) then twks82=r5wks821; if r5wks911 not in (-5,-4,0,.) then
twks91=r5wks911;

if rowks831 not in (-5,-4,0,.) then twks83=r5wks831; if r5wks921 not in (-5,-4,0,.) then
twks92=r5wks921,;

if r5wks841 not in (-5,-4,0,.) then twks84=r5wks841; if rowks931 not in (-5,-4,0,.) then
twks93=r5wks931;

if rowks851 not in (-5,-4,0,.) then twks85=r5wks851; if r5wks941 not in (-5,-4,0,.) then
twks94=r5wks941;

if rowks861 not in (-5,-4,0,.) then twks86=r5wks861; if r5wks951 not in (-5,-4,0,.) then
twks95=r5wks951;

if rowks871 not in (-5,-4,0,.) then twks87=r5wks871; if r5wks961 not in (-5,-4,0,.) then
twks96=r5wks961,;

if rowks881 not in (-5,-4,0,.) then twks88=r5wks881; if r5wks971 not in (-5,-4,0,.) then
twks97=r5wks971;

if rowks981 not in (-5,-4,0,.) then twks98=r5wks981;

if rowks991 not in (-5,-4,0,.) then twks99=r5wks991;

if r5wks001 not in (-5,-4,0,.) then twks00=r5wks001,;

if rowks011 not in (-5,-4,0,.) then twks01=r5wks011;

end;
end;

do over matchl;

if match1=1 and réwks02=>0 and r5wks021=>0 then do;
twks02=r5wks021+r6wks02;

end;

if match1=1 and (-4<réwks02<0 or -4<r5wks021<0) then do;
twks02=-3;

end;

end;



do over match2;

if match2=1 then do;

if rowks802 not in (-5,-4,0,.) then twks80=r5wks802; if r5wks892 not in (-5,-4,0,.) then
twks89=r5wks892;

if rowks812 not in (-5,-4,0,.) then twks81=r5wks812; if r5wks902 not in (-5,-4,0,.) then
twks90=r5wks902;

if rowks822 not in (-5,-4,0,.) then twks82=r5wks822; if r5wks912 not in (-5,-4,0,.) then
twks91=r5wks912;

if rowks832 not in (-5,-4,0,.) then twks83=r5wks832; if r5wks922 not in (-5,-4,0,.) then
twks92=r5wks922;

if rowks842 not in (-5,-4,0,.) then twks84=r5wks842; if r5wks932 not in (-5,-4,0,.) then
twks93=r5wks932;

if rowks852 not in (-5,-4,0,.) then twks85=r5wks852; if r5wks942 not in (-5,-4,0,.) then
twks94=r5wks942;

if rowks862 not in (-5,-4,0,.) then twks86=r5wks862; if r5wks952 not in (-5,-4,0,.) then
twks95=r5wks952;

if r5wks872 not in (-5,-4,0,.) then twks87=r5wks872; if rowks962 not in (-5,-4,0,.) then
twks96=r5wks962;

if rowks882 not in (-5,-4,0,.) then twks88=r5wks882; if r5wks972 not in (-5,-4,0,.) then
twks97=r5wks972;

if rowks982 not in (-5,-4,0,.) then twks98=r5wks982;

if rowks992 not in (-5,-4,0,.) then twks99=r5wks992;

if rowks002 not in (-5,-4,0,.) then twks00=r5wks002;

if rowks012 not in (-5,-4,0,.) then twks01=r5wks012;

end;

end;

do over match2;

if match2=1 and réwks02=>0 and r5wks022=>0 then do;
twks02=r5wks022+r6wks02;

end;

if match2=1 and (-4<réwks02<0 or -4<r5wks022<0) then do;
twks02=-3;

end;

end;

/* and so on through */

do over match9;

if match9=1 then do;

if rowks809 not in (-5,-4,0,.) then twks80=r5wks809; if r5wks899 not in (-5,-4,0,.) then
twks89=r5wks899;

if rowks819 not in (-5,-4,0,.) then twks81=r5wks819; if r5wks909 not in (-5,-4,0,.) then
twks90=r5wks909;

if rowks829 not in (-5,-4,0,.) then twks82=r5wks829; if r5wks919 not in (-5,-4,0,.) then
twks91=r5wks919;

if rowks839 not in (-5,-4,0,.) then twks83=r5wks839; if r5wks929 not in (-5,-4,0,.) then
twks92=r5wks929;

if rowks849 not in (-5,-4,0,.) then twks84=r5wks849; if r5wks939 not in (-5,-4,0,.) then
twks93=r5wks939;

if rowks859 not in (-5,-4,0,.) then twks85=r5wks859; if r5wks949 not in (-5,-4,0,.) then



twks94=r5wks949;

if rowks869 not in (-5,-4,0,.) then twks86=r5wks869; if r5wks959 not in (-5,-4,0,.) then
twks95=r5wks959;

if r5wks879 not in (-5,-4,0,.) then twks87=r5wks879; if rowks969 not in (-5,-4,0,.) then
twks96=r5wks9609;

if rowks889 not in (-5,-4,0,.) then twks88=r5wks889; if r5wks979 not in (-5,-4,0,.) then
twks97=r5wks979;

if rowks989 not in (-5,-4,0,.) then twks98=r5wks989;

if rowks999 not in (-5,-4,0,.) then twks99=r5wks999;

if rowks009 not in (-5,-4,0,.) then twks00=r5wks009;

if rowks019 not in (-5,-4,0,.) then twks01=r5wks019;

end;

end;

do over match9;

if match9=1 and réwks02=>0 and r5wks029=>0 then do;
twks02=r5wks029+r6wks02;

end;

if match9=1 and (-4<réwks02<0 or -4<r5wks029<0) then do;
twks02=-3;

end;

end;

end;

[* For respondents last interviewed in Round 5, 2001 */

if r5int_y=2001 then do;

do over matchi,

if match1=1 then do;

if rowks801 not in (-5,-4,0,.) then twks80=r5wks801; if r5wks891 not in (-5,-4,0,.) then
twks89=r5wks891,

if rowks811 not in (-5,-4,0,.) then twks81=r5wks811; if r5wks901 not in (-5,-4,0,.) then
twks90=r5wks901;

if rowks821 not in (-5,-4,0,.) then twks82=r5wks821; if r5wks911 not in (-5,-4,0,.) then
twks91=r5wks911;

if rowks831 not in (-5,-4,0,.) then twks83=r5wks831; if r5wks921 not in (-5,-4,0,.) then
twks92=r5wks921;

if rowks841 not in (-5,-4,0,.) then twks84=r5wks841; if r5wks931 not in (-5,-4,0,.) then
twks93=r5wks931;

if rowks851 not in (-5,-4,0,.) then twks85=r5wks851; if r5wks941 not in (-5,-4,0,.) then
twks94=r5wks941,;

if rowks861 not in (-5,-4,0,.) then twks86=r5wks861; if r5wks951 not in (-5,-4,0,.) then
twks95=r5wks951;

if r5wks871 not in (-5,-4,0,.) then twks87=r5wks871; if rowks961 not in (-5,-4,0,.) then
twks96=r5wks961;

if rowks881 not in (-5,-4,0,.) then twks88=r5wks881; if r5wks971 not in (-5,-4,0,.) then
twks97=r5wks971;

if rowks981 not in (-5,-4,0,.) then twks98=r5wks981,;

if rowks991 not in (-5,-4,0,.) then twks99=r5wks991,;

if rowks001 not in (-5,-4,0,.) then twks00=r5wks001;



end;
end;

do over matchl;

if match1=1 and réwks01=>0 and r5wks011=>0 then do;
twks01=r5wks011+r6wks01;

end;

if match1=1 and (-4<réwks01<0 or -4<r5wks011<0) then do;
twks01=-3;

end;

end;

do over match2;

if match2=1 then do;

if rowks802 not in (-5,-4,0,.) then twks80=r5wks802; if r5wks892 not in (-5,-4,0,.) then
twks89=r5wks892;

if rowks812 not in (-5,-4,0,.) then twks81=r5wks812; if r5wks902 not in (-5,-4,0,.) then
twks90=r5wks902;

if rowks822 not in (-5,-4,0,.) then twks82=r5wks822; if r5wks912 not in (-5,-4,0,.) then
twks91=r5wks912;

if rowks832 not in (-5,-4,0,.) then twks83=r5wks832; if r5wks922 not in (-5,-4,0,.) then
twks92=r5wks922;

if rowks842 not in (-5,-4,0,.) then twks84=r5wks842; if r5wks932 not in (-5,-4,0,.) then
twks93=r5wks932;

if r5wks852 not in (-5,-4,0,.) then twks85=r5wks852; if rowks942 not in (-5,-4,0,.) then
twks94=r5wks942;

if rowks862 not in (-5,-4,0,.) then twks86=r5wks862; if r5wks952 not in (-5,-4,0,.) then
twks95=r5wks952;

if rowks872 not in (-5,-4,0,.) then twks87=r5wks872; if r5wks962 not in (-5,-4,0,.) then
twks96=r5wks962;

if rowks882 not in (-5,-4,0,.) then twks88=r5wks882; if r5wks972 not in (-5,-4,0,.) then
twks97=r5wks972;

if rowks982 not in (-5,-4,0,.) then twks98=r5wks982;

if rowks992 not in (-5,-4,0,.) then twks99=r5wks992;

if rowks002 not in (-5,-4,0,.) then twks00=r5wks002;

end;

end;

do over match2;

if match2=1 and réwks01=>0 and r5wks012=>0 then do;
twks01=r5wks012+r6wks01;

end;

if match2=1 and (-4<r6wks01<0 or -4<r5wks012<0) then do;
twks01=-3;

end;

end;

/* and so on through */

do over match9;
if match9=1 then do;



if r5wks809 not in (-5,-4,0,.) then twks80=r5wks809; if rwks899 not in (-5,-4,0,.) then
twks89=r5wks899;

if rowks819 not in (-5,-4,0,.) then twks81=r5wks819; if r5wks909 not in (-5,-4,0,.) then
twks90=r5wks909;

if rowks829 not in (-5,-4,0,.) then twks82=r5wks829; if r5wks919 not in (-5,-4,0,.) then
twks91=r5wks919;

if rowks839 not in (-5,-4,0,.) then twks83=r5wks839; if r5wks929 not in (-5,-4,0,.) then
twks92=r5wks929;

if rowks849 not in (-5,-4,0,.) then twks84=r5wks849; if r5wks939 not in (-5,-4,0,.) then
twks93=r5wks939;

if rowks859 not in (-5,-4,0,.) then twks85=r5wks859; if r5wks949 not in (-5,-4,0,.) then
twks94=r5wks949;

if rowks869 not in (-5,-4,0,.) then twks86=r5wks869; if r5wks959 not in (-5,-4,0,.) then
twks95=r5wks959;

if rowks879 not in (-5,-4,0,.) then twks87=r5wks879; if r5wks969 not in (-5,-4,0,.) then
twks96=r5wks9609;

if r5wks889 not in (-5,-4,0,.) then twks88=r5wks889; if rowks979 not in (-5,-4,0,.) then
twks97=r5wks979;

if rowks989 not in (-5,-4,0,.) then twks98=r5wks989;

if rowks999 not in (-5,-4,0,.) then twks99=r5wks999;

if rowks009 not in (-5,-4,0,.) then twks00=r5wks009;

end;

end;

do over match9;

if match9=1 and réwks01=>0 and r5wks019=>0 then do;
twks01=r5wks019+r6wks01;

end;

if match9=1 and (-4<réwks01<0 or -4<r5wks019<0) then do;
twks01=-3;

end;

end;

end;

[* For respondents last interviewed in Round 4, 2001 */

if r5int=-5 and rdint_y=2001 then do;

do over matchi;

if match1=1 then do;

if rdwks801 not in (-5,-4,0,.) then twks80=r4wks801; if r4wks891 not in (-5,-4,0,.) then
twks89=r4wks891,

if rAwks811 not in (-5,-4,0,.) then twks81=r4wks811; if r4wks901 not in (-5,-4,0,.) then
twks90=r4wks901;

if rAwks821 not in (-5,-4,0,.) then twks82=r4wks821; if r4wks911 not in (-5,-4,0,.) then
twks91=r4wks911;

if rdwks831 not in (-5,-4,0,.) then twks83=r4wks831; if r4wks921 not in (-5,-4,0,.) then
twks92=r4wks921;

if rdwks841 not in (-5,-4,0,.) then twks84=r4wks841; if r4wks931 not in (-5,-4,0,.) then
twks93=r4wks931,

if rdwks851 not in (-5,-4,0,.) then twks85=r4wks851; if r4wks941 not in (-5,-4,0,.) then



twks94=r4wks941,

if rdwks861 not in (-5,-4,0,.) then twks86=r4wks861; if r4wks951 not in (-5,-4,0,.) then
twks95=r4wks951;

if rAwks871 not in (-5,-4,0,.) then twks87=r4wks871; if r4wks961 not in (-5,-4,0,.) then
twks96=r4wks961;

if rdwks881 not in (-5,-4,0,.) then twks88=r4wks881; if r4wks971 not in (-5,-4,0,.) then
twks97=r4wks971;

if rdwks981 not in (-5,-4,0,.) then twks98=r4wks981,;

if rAwks991 not in (-5,-4,0,.) then twks99=r4wks991,;

if rdwks001 not in (-5,-4,0,.) then twks00=r4wks001,;

end;

end;

do over matchl;

if match1=1 and réwks01=>0 and r4wks011=>0 then do;
twks01=r4wks011+r6wks01;

end;

if matchl=1 and (-4<réwks01<0 or -4<r4wks011<0) then do;
twks01=-3;

end;

end;

do over match2;

if match2=1 then do;

if rAdwks802 not in (-5,-4,0,.) then twks80=r4wks802; if r4wks892 not in (-5,-4,0,.) then
twks89=r4wks892;

if rdwks812 not in (-5,-4,0,.) then twks81=r4wks812; if r4wks902 not in (-5,-4,0,.) then
twks90=r4wks902;

if rdwks822 not in (-5,-4,0,.) then twks82=r4wks822; if r4wks912 not in (-5,-4,0,.) then
twks91=r4wks912;

if rdwks832 not in (-5,-4,0,.) then twks83=r4wks832; if r4wks922 not in (-5,-4,0,.) then
twks92=r4wks922;

if rdwks842 not in (-5,-4,0,.) then twks84=r4wks842; if r4wks932 not in (-5,-4,0,.) then
twks93=r4wks932;

if rAwks852 not in (-5,-4,0,.) then twks85=r4wks852; if r4wks942 not in (-5,-4,0,.) then
twks94=r4wks942;

if rdwks862 not in (-5,-4,0,.) then twks86=r4wks862; if r4wks952 not in (-5,-4,0,.) then
twks95=r4wks952;

if rdwks872 not in (-5,-4,0,.) then twks87=r4wks872; if r4wks962 not in (-5,-4,0,.) then
twks96=r4wks962;

if rdwks882 not in (-5,-4,0,.) then twks88=r4wks882; if r4wks972 not in (-5,-4,0,.) then
twks97=r4wks972;

if rAwks982 not in (-5,-4,0,.) then twks98=r4wks982;

if rdwks992 not in (-5,-4,0,.) then twks99=r4wks992;

if rAwks002 not in (-5,-4,0,.) then twks00=r4wks002;

end;

end;

do over match2;
if match2=1 and réwks01=>0 and r4wks012=>0 then do;
twks01=r4wks012+r6wks01;



end;

if match2=1 and (-4<réwks01<0 or -4<r4wks012<0) then do;
twks01=-3;

end;

end;

/* and so on through */

do over match9;

if match9=1 and réwks01=>0 and r4wks019=>0 then do;
twks01=r4wks019+r6wks01;

end;

if match9=1 and (-4<réwks01<0 or -4<r4wks019<0) then do;
twks01=-3;

end;

end;

end;

[* For respondents last interviewed in Round 4, 2000 */

if r5int=-5 and r4int_y=2000 then do;

do over matchi;

if match1=1 then do;

if rdwks801 not in (-5,-4,0,.) then twks80=r4wks801; if r4wks891 not in (-5,-4,0,.) then
twks89=r4wks891,

if rAwks811 not in (-5,-4,0,.) then twks81=r4wks811; if r4wks901 not in (-5,-4,0,.) then
twks90=r4wks901;

if rdwks821 not in (-5,-4,0,.) then twks82=r4wks821; if r4wks911 not in (-5,-4,0,.) then
twks91=r4wks911;

if rdwks831 not in (-5,-4,0,.) then twks83=r4wks831; if r4wks921 not in (-5,-4,0,.) then
twks92=r4wks921;

if rdwks841 not in (-5,-4,0,.) then twks84=r4wks841; if r4wks931 not in (-5,-4,0,.) then
twks93=r4wks931,

if rdwks851 not in (-5,-4,0,.) then twks85=r4wks851; if r4wks941 not in (-5,-4,0,.) then
twks94=r4wks941;

if rAwks861 not in (-5,-4,0,.) then twks86=r4wks861; if r4wks951 not in (-5,-4,0,.) then
twks95=r4wks951;

if rdwks871 not in (-5,-4,0,.) then twks87=r4wks871; if r4wks961 not in (-5,-4,0,.) then
twks96=r4wks961;

if rdwks881 not in (-5,-4,0,.) then twks88=r4wks881; if r4wks971 not in (-5,-4,0,.) then
twks97=r4wks971;

if rdwks981 not in (-5,-4,0,.) then twks98=r4wks981;

if rdwks991 not in (-5,-4,0,.) then twks99=r4wks991,

end;

end;

do over matchl;

if match1=1 and réwks00=>0 and r4wks001=>0 then do;
twks00=r4wks001+r6wks00;

end;

if match1=1 and (-4<réwks00<0 or -4<r4wks001<0) then do;
twks00=-3;



end;
end;

do over match2;

if match2=1 then do;

if rdwks802 not in (-5,-4,0,.) then twks80=r4wks802; if r4wks892 not in (-5,-4,0,.) then
twks89=r4wks892;

if rdwks812 not in (-5,-4,0,.) then twks81=r4wks812; if r4wks902 not in (-5,-4,0,.) then
twks90=r4wks902;

if rdwks822 not in (-5,-4,0,.) then twks82=r4wks822; if r4wks912 not in (-5,-4,0,.) then
twks91=r4wks912;

if rAdwks832 not in (-5,-4,0,.) then twks83=r4wks832; if r4wks922 not in (-5,-4,0,.) then
twks92=r4wks922;

if rdwks842 not in (-5,-4,0,.) then twks84=r4wks842; if r4wks932 not in (-5,-4,0,.) then
twks93=r4wks932;

if rdwks852 not in (-5,-4,0,.) then twks85=r4wks852; if r4wks942 not in (-5,-4,0,.) then
twks94=r4wks942;

if rdwks862 not in (-5,-4,0,.) then twks86=r4wks862; if r4wks952 not in (-5,-4,0,.) then
twks95=r4wks952;

if rdwks872 not in (-5,-4,0,.) then twks87=r4wks872; if r4wks962 not in (-5,-4,0,.) then
twks96=r4wks962;

if rAdwks882 not in (-5,-4,0,.) then twks88=r4wks882; if r4wks972 not in (-5,-4,0,.) then
twks97=r4wks972;

if rdwks982 not in (-5,-4,0,.) then twks98=r4wks982;

if rAdwks992 not in (-5,-4,0,.) then twks99=r4wks992;

end;

end;

do over match2;

if match2=1 and réwks00=>0 and r4wks002=>0 then do;
twks00=r4wks002+r6wks00;

end;

if match2=1 and (-4<réwks00<0 or -4<r4wks002<0) then do;
twks00=-3;

end;

end;

/* and so on through */

do over match9;

if match9=1 then do;

if rAdwks809 not in (-5,-4,0,.) then twks80=r4wks809; if r4wks899 not in (-5,-4,0,.) then
twks89=r4wks899;

if rdwks819 not in (-5,-4,0,.) then twks81=r4wks819; if r4wks909 not in (-5,-4,0,.) then
twks90=r4wks909;

if rdwks829 not in (-5,-4,0,.) then twks82=r4wks829; if r4wks919 not in (-5,-4,0,.) then
twks91=r4wks919;

if rAwks839 not in (-5,-4,0,.) then twks83=r4wks839; if r4wks929 not in (-5,-4,0,.) then
twks92=r4wks929;

if rdwks849 not in (-5,-4,0,.) then twks84=r4wks849; if r4wks939 not in (-5,-4,0,.) then
twks93=r4wks939;



if rdwks859 not in (-5,-4,0,.) then twks85=r4wks859; if r4wks949 not in (-5,-4,0,.) then
twks94=r4wks949;

if rdwks869 not in (-5,-4,0,.) then twks86=r4wks869; if r4wks959 not in (-5,-4,0,.) then
twks95=r4wks959;

if rdwks879 not in (-5,-4,0,.) then twks87=r4wks879; if r4wks969 not in (-5,-4,0,.) then
twks96=r4wks969;

if rAdwks889 not in (-5,-4,0,.) then twks88=r4wks889; if r4wks979 not in (-5,-4,0,.) then
twks97=r4wks979;

if rAwks989 not in (-5,-4,0,.) then twks98=r4wks989;

if rdwks999 not in (-5,-4,0,.) then twks99=r4wks999;

end;

end;

do over match9;

if match9=1 and réwks00=>0 and r4wks009=>0 then do;
twks00=r4wks009+r6wks00;

end;

if match9=1 and (-4<réwks00<0 or -4<r4wks009<0) then do;
twks00=-3;

end;

end;

end;

[* For respondents last interviewed in Round 3, 2000 */

if r3int_y=2000 and r4int=-5 and r5int=-5 then do;

do over matchi,

if match1=1 then do;

if r3wks801 not in (-5,-4,0,.) then twks80=r3wks801; if r3wks891 not in (-5,-4,0,.) then
twks89=r3wks891,

if r3wks811 not in (-5,-4,0,.) then twks81=r3wks811; if r3wks901 not in (-5,-4,0,.) then
twks90=r3wks901,

if r3wks821 not in (-5,-4,0,.) then twks82=r3wks821; if r3wks911 not in (-5,-4,0,.) then
twks91=r3wks911,;

if r3wks831 not in (-5,-4,0,.) then twks83=r3wks831; if r3wks921 not in (-5,-4,0,.) then
twks92=r3wks921;

if r3wks841 not in (-5,-4,0,.) then twks84=r3wks841; if r3wks931 not in (-5,-4,0,.) then
twks93=r3wks931,

if r3wks851 not in (-5,-4,0,.) then twks85=r3wks851; if r3wks941 not in (-5,-4,0,.) then
twks94=r3wks941,;

if r3wks861 not in (-5,-4,0,.) then twks86=r3wks861; if r3wks951 not in (-5,-4,0,.) then
twks95=r3wks951;

if r3wks871 not in (-5,-4,0,.) then twks87=r3wks871; if r3wks961 not in (-5,-4,0,.) then
twks96=r3wks961;

if r3wks881 not in (-5,-4,0,.) then twks88=r3wks881; if r3wks971 not in (-5,-4,0,.) then
twks97=r3wks971;

if r3wks981 not in (-5,-4,0,.) then twks98=r3wks981;

if r3wks991 not in (-5,-4,0,.) then twks99=r3wks991,;

end;

end;

do over matchl;



if match1=1 and réwks00=>0 and r3wks001=>0 then do;
twks00=r3wks001+r6wks00;

end;

if match1=1 and (-4<r6wks00<0 or -4<r3wks001<0) then do;
twks00=-3;

end;

end;

do over match2;

if match2=1 then do;

if r3wks802 not in (-5,-4,0,.) then twks80=r3wks802; if r3wks892 not in (-5,-4,0,.) then
twks89=r3wks892;

if r3wks812 not in (-5,-4,0,.) then twks81=r3wks812; if r3wks902 not in (-5,-4,0,.) then
twks90=r3wks902;

if r3wks822 not in (-5,-4,0,.) then twks82=r3wks822; if r3wks912 not in (-5,-4,0,.) then
twks91=r3wks912;

if r3wks832 not in (-5,-4,0,.) then twks83=r3wks832; if r3wks922 not in (-5,-4,0,.) then
twks92=r3wks922;

if r3wks842 not in (-5,-4,0,.) then twks84=r3wks842; if r3wks932 not in (-5,-4,0,.) then
twks93=r3wks932;

if r3wks852 not in (-5,-4,0,.) then twks85=r3wks852; if r3wks942 not in (-5,-4,0,.) then
twks94=r3wks942;

if r3wks862 not in (-5,-4,0,.) then twks86=r3wks862; if r3wks952 not in (-5,-4,0,.) then
twks95=r3wks952;

if r3wks872 not in (-5,-4,0,.) then twks87=r3wks872; if r3wks962 not in (-5,-4,0,.) then
twks96=r3wks962;

if r3wks882 not in (-5,-4,0,.) then twks88=r3wks882; if r3wks972 not in (-5,-4,0,.) then
twks97=r3wks972;

if r3wks982 not in (-5,-4,0,.) then twks98=r3wks982;

if r3wks992 not in (-5,-4,0,.) then twks99=r3wks992;

end;

end;

do over match2;

if match2=1 and réwks00=>0 and r3wks002=>0 then do;
twks00=r3wks002+r6wks00;

end;

if match2=1 and (-4<réwks00<0 or -4<r3wks002<0) then do;
twks00=-3;

end;

end;

/* and so on through */

do over match9;

if match9=1 then do;

if r3wks809 not in (-5,-4,0,.) then twks80=r3wks809; if r3wks899 not in (-5,-4,0,.) then
twks89=r3wks899;

if r3wks819 not in (-5,-4,0,.) then twks81=r3wks819; if r3wks909 not in (-5,-4,0,.) then
twks90=r3wks909;

if r3wks829 not in (-5,-4,0,.) then twks82=r3wks829; if r3wks919 not in (-5,-4,0,.) then



twks91=r3wks919;

if r3wks839 not in (-5,-4,0,.) then twks83=r3wks839; if r3wks929 not in (-5,-4,0,.) then
twks92=r3wks929;

if r3wks849 not in (-5,-4,0,.) then twks84=r3wks849; if r3wks939 not in (-5,-4,0,.) then
twks93=r3wks939;

if r3wks859 not in (-5,-4,0,.) then twks85=r3wks859; if r3wks949 not in (-5,-4,0,.) then
twks94=r3wks949;

if r3wks869 not in (-5,-4,0,.) then twks86=r3wks869; if r3wks959 not in (-5,-4,0,.) then
twks95=r3wks959;

if r3wks879 not in (-5,-4,0,.) then twks87=r3wks879; if r3wks969 not in (-5,-4,0,.) then
twks96=r3wks9609;

if r3wks889 not in (-5,-4,0,.) then twks88=r3wks889; if r3wks979 not in (-5,-4,0,.) then
twks97=r3wks979;

if r3wks989 not in (-5,-4,0,.) then twks98=r3wks989;

if r3wks999 not in (-5,-4,0,.) then twks99=r3wks999;

end;

end;

do over match9;

if match9=1 and réwks00=>0 and r3wks009=>0 then do;
twks00=r3wks009+r6wks00;

end;

if match9=1 and (-4<réwks00<0 or -4<r3wks009<0) then do;
twks00=-3;

end;

end;

end;

[* For respondents last interviewed in Round 3, 1999 */

if r3int_y=1999 and r4int=-5 and r5int=-5 then do;

do over matchi;

if match1=1 then do;

if r3wks801 not in (-5,-4,0,.) then twks80=r3wks801; if r3wks891 not in (-5,-4,0,.) then
twks89=r3wks891;

if r3wks811 not in (-5,-4,0,.) then twks81=r3wks811; if r3wks901 not in (-5,-4,0,.) then
twks90=r3wks901,

if r3wks821 not in (-5,-4,0,.) then twks82=r3wks821; if r3wks911 not in (-5,-4,0,.) then
twks91=r3wks911;

if r3wks831 not in (-5,-4,0,.) then twks83=r3wks831; if r3wks921 not in (-5,-4,0,.) then
twks92=r3wks921;

if r3wks841 not in (-5,-4,0,.) then twks84=r3wks841; if r3wks931 not in (-5,-4,0,.) then
twks93=r3wks931;

if r3wks851 not in (-5,-4,0,.) then twks85=r3wks851; if r3wks941 not in (-5,-4,0,.) then
twks94=r3wks941;

if r3wks861 not in (-5,-4,0,.) then twks86=r3wks861; if r3wks951 not in (-5,-4,0,.) then
twks95=r3wks951,

if r3wks871 not in (-5,-4,0,.) then twks87=r3wks871; if r3wks961 not in (-5,-4,0,.) then
twks96=r3wks961;

if r3wks881 not in (-5,-4,0,.) then twks88=r3wks881; if r3wks971 not in (-5,-4,0,.) then
twks97=r3wks971;



if r3wks981 not in (-5,-4,0,.) then twks98=r3wks981,;
end;
end;

do over matchl;

if match1=1 and réwks99=>0 and r3wks991=>0 then do;
twks99=r3wks991+r6wks99;

end;

if match1=1 and (-4<réwks99<0 or -4<r3wks991<0) then do;
twks99=-3;

end;

end;

do over match2;

if match2=1 then do;

if r3wks802 not in (-5,-4,0,.) then twks80=r3wks802; if r3wks892 not in (-5,-4,0,.) then
twks89=r3wks892;

if r3wks812 not in (-5,-4,0,.) then twks81=r3wks812; if r3wks902 not in (-5,-4,0,.) then
twks90=r3wks902;

if r3wks822 not in (-5,-4,0,.) then twks82=r3wks822; if r3wks912 not in (-5,-4,0,.) then
twks91=r3wks912;

if r3wks832 not in (-5,-4,0,.) then twks83=r3wks832; if r3wks922 not in (-5,-4,0,.) then
twks92=r3wks922;

if r3wks842 not in (-5,-4,0,.) then twks84=r3wks842; if r3wks932 not in (-5,-4,0,.) then
twks93=r3wks932;

if r3wks852 not in (-5,-4,0,.) then twks85=r3wks852; if r3wks942 not in (-5,-4,0,.) then
twks94=r3wks942;

if r3wks862 not in (-5,-4,0,.) then twks86=r3wks862; if r3wks952 not in (-5,-4,0,.) then
twks95=r3wks952;

if r3wks872 not in (-5,-4,0,.) then twks87=r3wks872; if r3wks962 not in (-5,-4,0,.) then
twks96=r3wks962;

if r3wks882 not in (-5,-4,0,.) then twks88=r3wks882; if r3wks972 not in (-5,-4,0,.) then
twks97=r3wks972;

if r3wks982 not in (-5,-4,0,.) then twks98=r3wks982;

end;

end;

do over match2;

if match2=1 and réwks99=>0 and r3wks992=>0 then do;
twks99=r3wks992+r6wks99;

end;

if match2=1 and (-4<réwks99<0 or -4<r3wks992<0) then do;
twks99=-3;

end;

end;

/* and so on through */
do over match9;

if match9=1 then do;
if r3wks809 not in (-5,-4,0,.) then twks80=r3wks809; if r3wks899 not in (-5,-4,0,.) then



twks89=r3wks899;

if r3wks819 not in (-5,-4,0,.) then twks81=r3wks819; if r3wks909 not in (-5,-4,0,.) then
twks90=r3wks909;

if r3wks829 not in (-5,-4,0,.) then twks82=r3wks829; if r3wks919 not in (-5,-4,0,.) then
twks91=r3wks919;

if r3wks839 not in (-5,-4,0,.) then twks83=r3wks839; if r3wks929 not in (-5,-4,0,.) then
twks92=r3wks929;

if r3wks849 not in (-5,-4,0,.) then twks84=r3wks849; if r3wks939 not in (-5,-4,0,.) then
twks93=r3wks939;

if r3wks859 not in (-5,-4,0,.) then twks85=r3wks859; if r3wks949 not in (-5,-4,0,.) then
twks94=r3wks949;

if r3wks869 not in (-5,-4,0,.) then twks86=r3wks869; if r3wks959 not in (-5,-4,0,.) then
twks95=r3wks959;

if r3wks879 not in (-5,-4,0,.) then twks87=r3wks879; if r3wks969 not in (-5,-4,0,.) then
twks96=r3wks9609;

if r3wks889 not in (-5,-4,0,.) then twks88=r3wks889; if r3wks979 not in (-5,-4,0,.) then
twks97=r3wks979;

if r3wks989 not in (-5,-4,0,.) then twks98=r3wks989;

end;

end;

do over match9;

if match9=1 and réwks99=>0 and r3wks999=>0 then do;
twks99=r3wks999+r6wks99;

end;

if match9=1 and (-4<réwks99<0 or -4<r3wks999<0) then do;
twks99=-3;

end;

end;

end;

[* 2-26-01 For respondents last interviewed in Round 2, 1998 */

if r2int_y=1998 and r3int=-5 and r4int=-5 and r5int=-5 then do;

do over matchl;

if match1=1 then do;

if r2wks801 not in (-5,-4,0,.) then twks80=r2wks801; if r2wks891 not in (-5,-4,0,.) then
twks89=r2wks891;

if r2wks811 not in (-5,-4,0,.) then twks81=r2wks811; if r2wks901 not in (-5,-4,0,.) then
twks90=r2wks901;

if r2wks821 not in (-5,-4,0,.) then twks82=r2wks821; if r2wks911 not in (-5,-4,0,.) then
twks91=r2wks911,

if r2wks831 not in (-5,-4,0,.) then twks83=r2wks831; if r2wks921 not in (-5,-4,0,.) then
twks92=r2wks921;

if r2wks841 not in (-5,-4,0,.) then twks84=r2wks841; if r2wks931 not in (-5,-4,0,.) then
twks93=r2wks931;

if r2wks851 not in (-5,-4,0,.) then twks85=r2wks851; if r2wks941 not in (-5,-4,0,.) then
twks94=r2wks941;

if r2wks861 not in (-5,-4,0,.) then twks86=r2wks861; if r2wks951 not in (-5,-4,0,.) then
twks95=r2wks951,

if r2wks871 not in (-5,-4,0,.) then twks87=r2wks871; if r2wks961 not in (-5,-4,0,.) then



twks96=r2wks961,;

if r2wks881 not in (-5,-4,0,.) then twks88=r2wks881; if r2wks971 not in (-5,-4,0,.) then
twks97=r2wks971,;

end;

end;

do over matchl;

if match1=1 and réwks98=>0 and r2wks981=>0 then do;
twks98=r2wks981+r6wks98;

end;

if match1=1 and (-4<réwks98<0 or -4<r2wks981<0) then do;
twks98=-3;

end;

end;

do over match2;

if match2=1 then do;

if r2wks802 not in (-5,-4,0,.) then twks80=r2wks802; if r2wks892 not in (-5,-4,0,.) then
twks89=r2wks892;

if r2wks812 not in (-5,-4,0,.) then twks81=r2wks812; if r2wks902 not in (-5,-4,0,.) then
twks90=r2wks902;

if r2wks822 not in (-5,-4,0,.) then twks82=r2wks822; if r2wks912 not in (-5,-4,0,.) then
twks91=r2wks912;

if r2wks832 not in (-5,-4,0,.) then twks83=r2wks832; if r2wks922 not in (-5,-4,0,.) then
twks92=r2wks922;

if r2wks842 not in (-5,-4,0,.) then twks84=r2wks842; if r2wks932 not in (-5,-4,0,.) then
twks93=r2wks932;

if r2wks852 not in (-5,-4,0,.) then twks85=r2wks852; if r2wks942 not in (-5,-4,0,.) then
twks94=r2wks942;

if r2wks862 not in (-5,-4,0,.) then twks86=r2wks862; if r2wks952 not in (-5,-4,0,.) then
twks95=r2wks952;

if r2wks872 not in (-5,-4,0,.) then twks87=r2wks872; if r2wks962 not in (-5,-4,0,.) then
twks96=r2wks962;

if r2wks882 not in (-5,-4,0,.) then twks88=r2wks882; if r2wks972 not in (-5,-4,0,.) then
twks97=r2wks972;

end;

end;

do over match2;

if match2=1 and réwks98=>0 and r2wks982=>0 then do;
twks98=r2wks982+r6wks98;

end;

if match2=1 and (-4<r6wks98<0 or -4<r2wks982<0) then do;
twks98=-3;

end;

end;

/* and so on through */

do over match9;
if match9=1 then do;



if r2wks809 not in (-5,-4,0,.) then twks80=r2wks809; if r2wks899 not in (-5,-4,0,.) then
twks89=r2wks899;

if r2wks819 not in (-5,-4,0,.) then twks81=r2wks819; if r2wks909 not in (-5,-4,0,.) then
twks90=r2wks909;

if r2wks829 not in (-5,-4,0,.) then twks82=r2wks829; if r2wks919 not in (-5,-4,0,.) then
twks91=r2wks919;

if r2wks839 not in (-5,-4,0,.) then twks83=r2wks839; if r2wks929 not in (-5,-4,0,.) then
twks92=r2wks929;

if r2wks849 not in (-5,-4,0,.) then twks84=r2wks849; if r2wks939 not in (-5,-4,0,.) then
twks93=r2wks939;

if r2wks859 not in (-5,-4,0,.) then twks85=r2wks859; if r2wks949 not in (-5,-4,0,.) then
twks94=r2wks949;

if r2wks869 not in (-5,-4,0,.) then twks86=r2wks869; if r2wks959 not in (-5,-4,0,.) then
twks95=r2wks959;

if r2wks879 not in (-5,-4,0,.) then twks87=r2wks879; if r2wks969 not in (-5,-4,0,.) then
twks96=r2wks9609;

if r2wks889 not in (-5,-4,0,.) then twks88=r2wks889; if r2wks979 not in (-5,-4,0,.) then
twks97=r2wks979;

end;

end;

do over match9;

if match9=1 and réwks98=>0 and r2wks989=>0 then do;
twks98=r2wks989+r6wks98;

end;

if match9=1 and (-4<réwks98<0 or -4<r2wks989<0) then do;
twks98=-3;

end;

end;

end;

[* For respondents last interviewed in Round 2, 1999 */

if r2int_y=1999 and r3int=-5 and r4int=-5 and r5int=-5 then do;

do over matchi,

if match1=1 then do;

if r2wks801 not in (-5,-4,0,.) then twks80=r2wks801; if r2wks891 not in (-5,-4,0,.) then
twks89=r2wks891,

if r2wks811 not in (-5,-4,0,.) then twks81=r2wks811; if r2wks901 not in (-5,-4,0,.) then
twks90=r2wks901,

if r2wks821 not in (-5,-4,0,.) then twks82=r2wks821; if r2wks911 not in (-5,-4,0,.) then
twks91=r2wks911,;

if r2wks831 not in (-5,-4,0,.) then twks83=r2wks831; if r2wks921 not in (-5,-4,0,.) then
twks92=r2wks921;

if r2wks841 not in (-5,-4,0,.) then twks84=r2wks841; if r2wks931 not in (-5,-4,0,.) then
twks93=r2wks931;

if r2wks851 not in (-5,-4,0,.) then twks85=r2wks851; if r2wks941 not in (-5,-4,0,.) then
twks94=r2wks941,

if r2wks861 not in (-5,-4,0,.) then twks86=r2wks861; if r2wks951 not in (-5,-4,0,.) then
twks95=r2wks951;

if r2wks871 not in (-5,-4,0,.) then twks87=r2wks871; if r2wks961 not in (-5,-4,0,.) then
twks96=r2wks961;



if r2wks881 not in (-5,-4,0,.) then twks88=r2wks881; if r2wks971 not in (-5,-4,0,.) then
twks97=r2wks971;

if r2wks981 not in (-5,-4,0,.) then twks98=r2wks981,;

end;

end;

do over matchl;

if match1=1 and réwks99=>0 and r2wks991=>0 then do;
twks99=r2wks991+r6wks99;

end;

if match1=1 and (-4<réwks99<0 or -4<r2wks991<0) then do;
twks99=-3;

end;

end;

do over match2;

if match2=1 then do;

if r2wks802 not in (-5,-4,0,.) then twks80=r2wks802; if r2wks892 not in (-5,-4,0,.) then
twks89=r2wks892;

if r2wks812 not in (-5,-4,0,.) then twks81=r2wks812; if r2wks902 not in (-5,-4,0,.) then
twks90=r2wks902;

if r2wks822 not in (-5,-4,0,.) then twks82=r2wks822; if r2wks912 not in (-5,-4,0,.) then
twks91=r2wks912;

if r2wks832 not in (-5,-4,0,.) then twks83=r2wks832; if r2wks922 not in (-5,-4,0,.) then
twks92=r2wks922;

if r2wks842 not in (-5,-4,0,.) then twks84=r2wks842; if r2wks932 not in (-5,-4,0,.) then
twks93=r2wks932;

if r2wks852 not in (-5,-4,0,.) then twks85=r2wks852; if r2wks942 not in (-5,-4,0,.) then
twks94=r2wks942;

if r2wks862 not in (-5,-4,0,.) then twks86=r2wks862; if r2wks952 not in (-5,-4,0,.) then
twks95=r2wks952;

if r2wks872 not in (-5,-4,0,.) then twks87=r2wks872; if r2wks962 not in (-5,-4,0,.) then
twks96=r2wks962;

if r2wks882 not in (-5,-4,0,.) then twks88=r2wks882; if r2wks972 not in (-5,-4,0,.) then
twks97=r2wks972;

if r2wks982 not in (-5,-4,0,.) then twks98=r2wks982;

end;

end;

do over match2;

if match2=1 and réwks99=>0 and r2wks992=>0 then do;
twks99=r2wks992+r6wks99;

end;

if match2=1 and (-4<réwks99<0 or -4<r2wks992<0) then do;
twks99=-3;

end;

end;

/* and so on through */

do over match9;



if match9=1 then do;

if r2wks809 not in (-5,-4,0,.) then twks80=r2wks809; if r2wks899 not in (-5,-4,0,.) then
twks89=r2wks899;

if r2wks819 not in (-5,-4,0,.) then twks81=r2wks819; if r2wks909 not in (-5,-4,0,.) then
twks90=r2wks909;

if r2wks829 not in (-5,-4,0,.) then twks82=r2wks829; if r2wks919 not in (-5,-4,0,.) then
twks91=r2wks919;

if r2wks839 not in (-5,-4,0,.) then twks83=r2wks839; if r2wks929 not in (-5,-4,0,.) then
twks92=r2wks929;

if r2wks849 not in (-5,-4,0,.) then twks84=r2wks849; if r2wks939 not in (-5,-4,0,.) then
twks93=r2wks939;

if r2wks859 not in (-5,-4,0,.) then twks85=r2wks859; if r2wks949 not in (-5,-4,0,.) then
twks94=r2wks949;

if r2wks869 not in (-5,-4,0,.) then twks86=r2wks869; if r2wks959 not in (-5,-4,0,.) then
twks95=r2wks959;

if r2wks879 not in (-5,-4,0,.) then twks87=r2wks879; if r2wks969 not in (-5,-4,0,.) then
twks96=r2wks969;

if r2wks889 not in (-5,-4,0,.) then twks88=r2wks889; if r2wks979 not in (-5,-4,0,.) then
twks97=r2wks979;

if r2wks989 not in (-5,-4,0,.) then twks98=r2wks989;

end;

end;

do over match9;

if match9=1 and réwks99=>0 and r2wks999=>0 then do;
twks99=r2wks999+r6wks99;

end;

if match9=1 and (-4<réwks99<0 or -4<r2wks999<0) then do;
twks99=-3;

end;

end;

end;

/* For respondents last interviewed in Round 1, 1997 */

if rlint_y=1997 and r2int=-5 and r3int=-5 and r4int=-5 and r5int=-5 and intwk>0 then do;
do over matchi;

if match1=1 then do;

if riwks801 not in (-5,-4,0,.) then twks80=r1wks801; if riwks891 not in (-5,-4,0,.) then
twks89=r1wks891;

if riwks811 not in (-5,-4,0,.) then twks81=r1wks811; if riwks901 not in (-5,-4,0,.) then
twks90=r1wks901;

if riwks821 not in (-5,-4,0,.) then twks82=r1wks821; if riwks911 not in (-5,-4,0,.) then
twks91=r1wks911;

if riwks831 not in (-5,-4,0,.) then twks83=r1wks831; if riwks921 not in (-5,-4,0,.) then
twks92=r1wks921;

if riwks841 not in (-5,-4,0,.) then twks84=r1wks841; if riwks931 not in (-5,-4,0,.) then
twks93=r1wks931,

if riwks851 not in (-5,-4,0,.) then twks85=r1wks851; if riwks941 not in (-5,-4,0,.) then
twks94=r1wks941;

if riwks861 not in (-5,-4,0,.) then twks86=r1wks861; if riwks951 not in (-5,-4,0,.) then
twks95=r1wks951;



if riwks871 not in (-5,-4,0,.) then twks87=r1wks871; if riwks961 not in (-5,-4,0,.) then
twks96=r1wks961;

if riwks881 not in (-5,-4,0,.) then twks88=r1wks881,;

end;

end;

do over matchl;

if match1=1 and réwks97=>0 and r1wks971=>0 then do;
twks97=r1wks971+r6wks97;

end;

if match1=1 and (-4<réwks97<0 or -4<rlwks971<0) then do;
twks97=-3;

end;

end;

do over match2;

if match2=1 then do;

if riwks802 not in (-5,-4,0,.) then twks80=r1wks802; if riwks892 not in (-5,-4,0,.) then
twks89=r1wks892;

if riwks812 not in (-5,-4,0,.) then twks81=r1wks812; if riwks902 not in (-5,-4,0,.) then
twks90=r1wks902;

if riwks822 not in (-5,-4,0,.) then twks82=r1wks822; if riwks912 not in (-5,-4,0,.) then
twks91=r1wks912;

if riwks832 not in (-5,-4,0,.) then twks83=r1wks832; if rilwks922 not in (-5,-4,0,.) then
twks92=r1wks922;

if riwks842 not in (-5,-4,0,.) then twks84=r1wks842; if riwks932 not in (-5,-4,0,.) then
twks93=r1wks932;

if riwks852 not in (-5,-4,0,.) then twks85=r1wks852; if riwks942 not in (-5,-4,0,.) then
twks94=r1wks942;

if riwks862 not in (-5,-4,0,.) then twks86=r1wks862; if riwks952 not in (-5,-4,0,.) then
twks95=r1wks952;

if riwks872 not in (-5,-4,0,.) then twks87=r1wks872; if rlwks962 not in (-5,-4,0,.) then
twks96=r1wks962;

if riwks882 not in (-5,-4,0,.) then twks88=r1wks882;

end;

end;

do over match2;

if match2=1 and réwks97=>0 and r1wks972=>0 then do;
twks97=r1wks972+r6wks97;

end;

if match2=1 and (-4<réwks97<0 or -4<rlwks972<0) then do;
twks97=-3;

end;

end;

/* and so on through */
do over match9;

if match9=1 then do;
if riwks809 not in (-5,-4,0,.) then twks80=r1wks809; if riwks899 not in (-5,-4,0,.) then



twks89=r1wks899;

if riwks819 not in (-5,-4,0,.) then twks81=r1wks819; if riwks909 not in (-5,-4,0,.) then
twks90=r1wks909;

if riwks829 not in (-5,-4,0,.) then twks82=r1wks829; if riwks919 not in (-5,-4,0,.) then
twks91=r1wks919;

if riwks839 not in (-5,-4,0,.) then twks83=r1wks839; if rilwks929 not in (-5,-4,0,.) then
twks92=r1wks929;

if riwks849 not in (-5,-4,0,.) then twks84=r1wks849; if riwks939 not in (-5,-4,0,.) then
twks93=r1wks939;

if riwks859 not in (-5,-4,0,.) then twks85=r1wks859; if riwks949 not in (-5,-4,0,.) then
twks94=r1wks949;

if riwks869 not in (-5,-4,0,.) then twks86=r1wks869; if riwks959 not in (-5,-4,0,.) then
twks95=r1wks959;

if riwks879 not in (-5,-4,0,.) then twks87=r1wks879; if riwks969 not in (-5,-4,0,.) then
twks96=r1wks969;

if riwks889 not in (-5,-4,0,.) then twks88=r1wks889;

end;

end;

do over match9;

if match9=1 and réwks97=>0 and riwks979=>0 then do;
twks97=r1wks979+r6wks97;

end;

if match9=1 and (-4<réwks97<0 or -4<rlwks979<0) then do;
twks97=-3;

end;

end;

end;

/* For respondents last interviewed in Round 1, 1998 */

if rlint_y=1998 and r2int=-5 and r3int=-5 and r4int=-5 and r5int=-5 and intwk>0 then do;
do over match1;

if match1=1 then do;

if riwks801 not in (-5,-4,0,.) then twks80=r1wks801; if riwks891 not in (-5,-4,0,.) then
twks89=r1wks891;

if riwks811 not in (-5,-4,0,.) then twks81=r1wks811; if riwks901 not in (-5,-4,0,.) then
twks90=r1wks901,

if riwks821 not in (-5,-4,0,.) then twks82=r1wks821; if riwks911 not in (-5,-4,0,.) then
twks91=r1wks911;

if riwks831 not in (-5,-4,0,.) then twks83=r1wks831; if riwks921 not in (-5,-4,0,.) then
twks92=r1wks921;

if riwks841 not in (-5,-4,0,.) then twks84=r1wks841; if riwks931 not in (-5,-4,0,.) then
twks93=r1wks931;

if riwks851 not in (-5,-4,0,.) then twks85=r1wks851; if riwks941 not in (-5,-4,0,.) then
twks94=r1wks941;

if riwks861 not in (-5,-4,0,.) then twks86=r1wks861; if riwks951 not in (-5,-4,0,.) then
twks95=r1wks951,;

if riwks871 not in (-5,-4,0,.) then twks87=r1wks871; if riwks961 not in (-5,-4,0,.) then
twks96=r1wks961;

if riwks881 not in (-5,-4,0,.) then twks88=r1wks881; if riwks971 not in (-5,-4,0,.) then
twks97=r1wks971;



end;
end;

do over matchl;

if match1=1 and réwks98=>0 and r1wks981=>0 then do;
twks98=r1wks981+r6wks98;

end;

if match1=1 and (-4<réwks98<0 or -4<r1wks981<0) then do;
twks98=-3;

end;

end;

do over match2;

if match2=1 then do;

if riwks802 not in (-5,-4,0,.) then twks80=r1wks802; if riwks892 not in (-5,-4,0,.) then
twks89=r1wks892;

if riwks812 not in (-5,-4,0,.) then twks81=r1wks812; if riwks902 not in (-5,-4,0,.) then
twks90=r1wks902;

if riwks822 not in (-5,-4,0,.) then twks82=r1wks822; if riwks912 not in (-5,-4,0,.) then
twks91=r1wks912;

if riwks832 not in (-5,-4,0,.) then twks83=r1wks832; if riwks922 not in (-5,-4,0,.) then
twks92=r1wks922;

if riwks842 not in (-5,-4,0,.) then twks84=r1wks842; if riwks932 not in (-5,-4,0,.) then
twks93=r1wks932;

if riwks852 not in (-5,-4,0,.) then twks85=r1wks852; if riwks942 not in (-5,-4,0,.) then
twks94=r1wks942;

if riwks862 not in (-5,-4,0,.) then twks86=r1wks862; if riwks952 not in (-5,-4,0,.) then
twks95=r1wks952;

if riwks872 not in (-5,-4,0,.) then twks87=r1wks872; if rlwks962 not in (-5,-4,0,.) then
twks96=r1wks962;

if riwks882 not in (-5,-4,0,.) then twks88=r1wks882; if riwks972 not in (-5,-4,0,.) then
twks97=rlwks972;

end;

end;

do over match2;

if match2=1 and réwks98=>0 and r1wks982=>0 then do;
twks98=r1wks982+r6wks98;

end;

if match2=1 and (-4<r6wks98<0 or -4<r1wks982<0) then do;
twks98=-3;

end;

end;

/* and so on through */

do over match9;

if match9=1 then do;

if riwks809 not in (-5,-4,0,.) then twks80=r1wks809; if riwks899 not in (-5,-4,0,.) then
twks89=r1wks899;

if riwks819 not in (-5,-4,0,.) then twks81=r1wks819; if riwks909 not in (-5,-4,0,.) then



twks90=r1wks909;

if riwks829 not in (-5,-4,0,.) then twks82=r1wks829; if riwks919 not in (-5,-4,0,.) then
twks91=r1wks919;

if riwks839 not in (-5,-4,0,.) then twks83=r1wks839; if riwks929 not in (-5,-4,0,.) then
twks92=r1wks929;

if riwks849 not in (-5,-4,0,.) then twks84=r1wks849; if riwks939 not in (-5,-4,0,.) then
twks93=r1wks939;

if riwks859 not in (-5,-4,0,.) then twks85=r1wks859; if riwks949 not in (-5,-4,0,.) then
twks94=r1wks949;

if riwks869 not in (-5,-4,0,.) then twks86=r1wks869; if riwks959 not in (-5,-4,0,.) then
twks95=r1wks959;

if riwks879 not in (-5,-4,0,.) then twks87=r1wks879; if riwks969 not in (-5,-4,0,.) then
twks96=r1wks9609;

if riwks889 not in (-5,-4,0,.) then twks88=r1wks889; if riwks979 not in (-5,-4,0,.) then
twks97=r1wks979;

end;

end;

do over match9;

if match9=1 and réwks98=>0 and r1wks989=>0 then do;
twks98=r1wks989+r6wks98;

end;

if match9=1 and (-4<réwks98<0 or -4<rlwks989<0) then do;
twks98=-3;

end;

end;

end;

[* flag problem cases where total weeks count exceeds 52 weeks in 1997 or 1998 */
doi=1to 11;

if twks97>52 then flag97=1,;

if twks98>52 then flag98=1;

if twks99>52 then flag99=1;

if twks00>53 then flag00=1;

if twks01>52 then flag01=1;

if twks02>52 then flag02=1;

end;

doi=1to 11;

if rowks97>0 and twks97=0 then miss97=1;
if rowks98>0 and twks98=0 then miss98=1;
if rowks99>0 and twks99=0 then miss99=1;
if rowks00>0 and twks00=0 then miss00=1;
if rowks01>0 and twks01=0 then miss01=1;
if rowks02>0 and twks02=0 then miss02=1;
end;

endsas;

Total Tenure at Job #x as of the Survey Date



Variables Created: CV_WKSWK _JOB_DLI.xx
Programs Used
This program uses emp_begin.sas as input.

This program creates a variable for each job calculating the total length of job tenure in weeks

(excluding within-job gaps) since the respondent's 14t birthday. A variable is created for each potential
job even if the respondent has no data for that job, with the default value set to zero (0). The most jobs
held by any respondent in round 5 was eight, so variables are created for eight jobs for each respondent.

array joblwks (i) wl_1-wl 1253;
array job2wks (i) w2_1-w2_1253;
array job3wks (i) w3_1-w3 1253;
array job4wks (i) w4_1-w4_1253;
array job5wks (i) wb_1-wb5_1253;
array jobéwks (i) wé6_1-w6_1253;
array job7wks (i) w7_1-w7_1253;
array job8wks (i) w8 _1-w8 1253;
array job9wks (i) w9_1-w9 1253;
array job10wks (i) w10 _1-wl10 1253;
array jobliwks (i) wll 1-wll 1253;
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** Calculate cumulative weeks on individual jobs for all years **

Fhhhhkhkhkkkhkhkhkhrhhhkhkhkhkkhkhhrrrhkhkhkhkhkhrrrrrhkhhhkhkhrrrrrhrhhhhihirriiiixhhiix.
)

réten1=0;
réten2=0;
réten3=0;
réten4=0;
réten5=0;
réten6=0;
réten7=0;
réten8=0;
réten9=0;
réten10=0;
réten11=0;

do i=1to 1253;

if joblwks=1 then do;
rétenl=r6tenl+1;
end;

if job2wks=1 then do;
réten2=réten2+1;
end;

if job3wks=1 then do;
réten3=r6ten3+1;



end;

if job4dwks=1 then do;
réten4=rétend+1;
end;

if job5wks=1 then do;
réten5=réten5+1;
end;

if job6wks=1 then do;
réten6=réten6+1;
end;

if job7wks=1 then do;
réten7=réten7+1;
end;

if job8wks=1 then do;
réten8=r6ten8+1;
end;

if job9wks=1 then do;
réten9=r6ten9+1;
end;

if job10wks=1 then do;
réten10=r6ten10+1;
end;

if jobllwks=1 then do;
rétenll=r6ten11+1;
end;

end;

flag=0;

do i=1to 1253;

if joblwks=-3 then do;
rétenl=-3;

flag=1;

end;

if job2wks=-3 then do;
réten2=-3;

flag=2;

end;

if job3wks=-3 then do;
réten3=-3;

flag=3;

end,

if job4wks=-3 then do;
réten4=-3;

flag=4;

end;

if job5wks=-3 then do;
réten5=-3;

flag=5;

end,

if job6wks=-3 then do;



réten6=-3;

flag=6;

end;

if job7wks=-3 then do;
réten7=-3;

flag=7;

end;

if job8wks=-3 then do;
réten8=-3;

flag=8;

end;

if job9wks=-3 then do;
réten9=-3;

flag=9;

end;

if jobl0wks=-3 then do;
réten10=-3;

flag=10;

end,

if jobllwks=-3 then do;
rétenll=-3;

flag=11;

end;

end;

if €200=-5 then do;

rétenl=-5; réten2=-5; réten3=-5; r6ten4=-5; r6ten5=-5; réten6=-5; réten7=-5; r6ten8=-5; r6ten9=-5;
réten10=-5; r6ten11=-5;

end;

array rlten (i) rltenl-riten9; /* New R1 c.v. name */
array r2ten (i) r2tenl-r2ten9; /* New R2 c.v. name */
array r3ten (i) r3tenl-r3ten9; /* New R3 c.v. name */
array raten (i) rdtenl-r4ten9; /* New R4 c.v. name */
array rsten (i) r5tenl-r5ten9; /* New R5 c.v. name */
array réten (i) rétenl-rétenll; /* New R6 c.v. name */
array totten (i) tottenl-totten11;/* Total c.v. name */

doi=1to 11;
totten=0;
end;

/* When matching jobs from a dli Round to Round 6, we only need to worry about jobs in Round 6 with
a UID not
beginning with "2002" since only those jobs that could have been worked in both rounds. */

array matchl (i) matchl_1-matchl 11;
array match2 (i) match2_1-match2_11,;
array match3 (i) match3_1-match3_11;



array match4 (i) match4_1-match4_11,
array match5 (i) match5_1-match5_11;
array match6 (i) match6_1-match6 11;
array match7 (i) match7_1-match7_11;
array match8 (i) match8_1-match8 11;
array match9 (i) match9_1-match9_11;

doi=1to 11;
match1=0; match2=0; match3=0; match4=0; match5=0; match6=0; match7=0; match8=0; match9=0;
end;

/* Define matchl_4 as the dummy variable that equals one when the first job on the dli UID roster and
the fourth job on
the Round6 roster have the same UID. */

array rluid (i) rluid1-rluid9; /* Note there are 7 jobs in Round 1, array matched to make programming
easier */

array r2uid (i) r2uid1-r2uid9;

array r3uid (i) r3uid1-r3uid9;

array r4uid (i) r4uidl-r4uid9;

array rbuid (i) rbuid1-r5uid9;

array réuid (i) uid1-uid11,

/* If any UID from the first position in dli Round matches with any UID in Round 5 */
do over réuid;

if r5uid1>0 and réuid>0 and r5int>0 and intwk>0 then do;
if r5uid1=r6uid then do;

matchl1=1;

end;

end;

if r4uid1>0 and réuid>0 and r5int=-5 and r4int>0 and intwk>0 then do;
if r4uid1=r6uid then do;

matchl=1;

end;

end;

if r3uid1>0 and r6éuid>0 and r4int=-5 and r5int=-5 and intwk>0 then do;
if r3uid1=r6uid then do;

matchl=1;

end;

end;

if r2uid1>0 and réuid>0 and r4int=-5 and r3int=-5 and r5int=-5 and intwk>0 then do;
if r2uid1=r6uid then do;

matchl1=1;

end;

end;



if rluid1>0 and r6uid>0 and r4int=-5 and r3int=-5 and r2int=-5 and r5int=-5 and intwk>0 then do;
if rluid1=r6uid then do;

matchl=1;

end;

end;

end;

do over r6uid; /* If any UID from the second position in dli Round matches with any UID in Round 5 */

if r5uid2>0 and réuid>0 and r5int>0 and intwk>0 then do;
if r5uid2=r6uid then do;

match2=1;

end;

end;

if r4uid2>0 and réuid>0 and r4int>0 and r5int=-5 and intwk>0 then do;
if r4uid2=r6uid then do;

match2=1;

end;

end;

if r3uid2>0 and r6uid>0 and r4int=-5 and r3int>0 and r5int=-5 and intwk>0 then do;
if r3uid2=r6uid then do;

match2=1;

end;

end;

if r2uid2>0 and réuid>0 and r4int=-5 and r3int=-5 and r5int=-5 and intwk>0 then do;
if r2uid2=r6uid then do;

match2=1;

end;

end;

if rluid2>0 and réuid>0 and r4int=-5 and r3int=-5 and r2int=-5 and r5int=-5 and intwk>0 then do;
if riuid2=r6uid then do;

match2=1;

end;

end;

end;

do over r6uid; /* If any UID from the third position in dli Round matches with any UID in Round 5 */
if r5uid3>0 and réuid>0 and r5int>0 and intwk>0 then do;

if r5uid3=r6uid then do;

match3=1;

end;

end;



if r4uid3>0 and r6uid>0 and r4int>0 and intwk>0 and r5int=-5 then do;

if r4uid3=r6uid then do;

match3=1;

end;

end;

if r3uid3>0 and réuid>0 and r4int=-5 and r3int>0 and intwk>0 and r5int=-5 then do;
if r3uid3=r6uid then do;

match3=1;

end;

end;

if r2uid3>0 and r6uid>0 and r4int=-5 and r3int=-5 and r5int=-5 and intwk>0 then do;
if r2uid3=r6uid then do;

match3=1;

end;

end;

if rluid3>0 and r6uid>0 and r4int=-5 and r3int=-5 and r2int=-5 and r5int=-5 and intwk>0 then do;
if rluid3=r6uid then do;

match3=1;

end;

end;

end;

do over r6uid; /* If any UID from the fourth position in dli Round matches with any UID in Round 5 */
if r5uid4>0 and r6uid>0 and r5int>0 and intwk>0 then do;

if r5uid4=r6uid then do;

match4=1;

end;

end,

if r4uid4>0 and réuid>0 and r4int>0 and intwk>0 and r5int=-5 then do;
if r4uid4=r6uid then do;

match4=1;

end;

end;

if r3uid4>0 and r6uid>0 and r4int=-5 and r3int>0 and intwk>0 and r5int=-5 then do;
if r3uid4=r6uid then do;

match4=1;

end;

end;

if r2uid4>0 and r6uid>0 and r4int=-5 and r3int=-5 and intwk>0 and r5int=-5 then do;
if r2uid4=r6uid then do;
match4=1;



end;
end;

if rluid4>0 and réuid>0 and r4int=-5 and r3int=-5 and r2int=-5 and intwk>0 and r5int=-5 then do;
if riuid4=r6uid then do;

match4=1;

end;

end;

end;

do over r6uid; /* If any UID from the fifth position in dli Round matches with any UID in Round 5 */
if r5uid5>0 and r6éuid>0 and r5int>0 and intwk>0 then do;

if r5uid5=r6uid then do;

match5=1;

end;

end;

if r4uid5>0 and r6uid>0 and r4int>0 and intwk>0 and r5int=-5 then do;
if r4uid5=r6uid then do;

match5=1;

end;

end;

if r3uid5>0 and réuid>0 and r4int=-5 and r3int>0 and intwk>0 and r5int=-5 then do;
if r3uid5=r6uid then do;

match5=1;

end;

end;

if r2uid5>0 and réuid>0 and r4int=-5 and r3int=-5 and intwk>0 and r5int=-5 then do;
if r2uid5=r6uid then do;

match5=1;

end;

end;

if rluid5>0 and réuid>0 and r4int=-5 and r3int=-5 and r2int=-5 and intwk>0 and r5int=-5 then do;
if riuid5=r6uid then do;

match5=1;

end;

end;

end;

do over r6uid; /* If any UID from the sixth position in dli Round matches with any UID in Round 5 */
if r5uid6>0 and réuid>0 and r5int>0 and intwk>0 then do;

if r5uid6=r6uid then do;

match6=1;

end;

end;

if r4uid6>0 and réuid>0 and r4int>0 and intwk>0 and r5int=-5 then do;
if r4uid6=r6uid then do;



match6=1;

end;

end;

if r3uid6>0 and réuid>0 and r4int=-5 and r3int>0 and intwk>0 and r5int=-5 then do;
if r3uid6=r6uid then do;

match6=1;

end;

end;

if r2uid6>0 and réuid>0 and r4int=-5 and r3int=-5 and intwk>0 and r5int=-5 then do;
if r2uid6=r6uid then do;

match6=1;

end;

end;

if rluid6>0 and réuid>0 and r4int=-5 and r3int=-5 and r2int=-5 and intwk>0 and r5int=-5 then do;
if rluid6=r6uid then do;

match6=1;

end;

end;

end;

do over r6uid; /* If any UID from the seventh position in dli Round matches with any UID in Round 5
*/

if r5uid7>0 and réuid>0 and r5int>0 and intwk>0 then do;

if r5uid7=r6uid then do;

match7=1;

end;

end;

if r4uid7>0 and réuid>0 and r4int>0 and intwk>0 and r5int=-5 then do;

if r4uid7=r6uid then do;

match7=1;

end;

end;

if r3uid7>0 and réuid>0 and r4int=-5 and r3int>0 and intwk>0 and r5int=-5 then do;
if r3uid7=r6uid then do;

match7=1;

end;

end;

if r2uid7>0 and réuid>0 and r4int=-5 and r3int=-5 and intwk>0 and r5int=-5 then do;
if r2uid7=r6uid then do;

match7=1;

end;

end;

if riuid7>0 and réuid>0 and r4int=-5 and r3int=-5 and r2int=-5 and intwk>0 and r5int=-5 then do;
if rluid7=r6uid then do;

match7=1;

end;



end;
end;

do over r6uid; /* If any UID from the eighth position in dli Round matches with any UID in Round 5 */
if r5uid8>0 and réuid>0 and r5int>0 and intwk>0 then do;

if r5uid8=r6uid then do;

match8=1;

end;

end;

if r4uid8>0 and r6uid>0 and r4int>0 and intwk>0 and r5int=-5 then do;

if r4uid8=r6uid then do;

match8=1;

end;

end;

if r3uid8>0 and réuid>0 and r4int=-5 and r3int>0 and intwk>0 and r5int=-5 then do;
if r3uid8=r6uid then do;

match8=1;

end;

end;

if r2uid8>0 and réuid>0 and r4int=-5 and r3int=-5 and intwk>0 and r5int=-5 then do;
if r2uid8=r6uid then do;

match8=1;

end;

end;

end;

do over r6uid; /* If any UID from the ninth position in dli Round matches with any UID in Round 5 */
if r5uid1>0 and r6uid>0 and r5int>0 and intwk>0 then do;

if r5uid9=r6uid then do;

match9=1;

end;

end;

if r4uid9>0 and réuid>0 and r4int>0 and intwk>0 and r5int=-5 then do;

if r4uid9=r6uid then do;

match9=1;

end;

end;

if r3uid9>0 and réuid>0 and r4int=-5 and r3int>0 and intwk>0 and r5int=-5 then do;
if r3uid9=r6uid then do;

match9=1;

end;

end;

if r2uid9>0 and réuid>0 and r4int=-5 and r3int=-5 and intwk>0 and r5int=-5 then do;
if r2uid9=r6uid then do;

match9=1;

end;

end;

end;



[* There can only be 11 possible jobs for the respondent, since we are not counting jobs that were only
worked in

previous rounds. Recall that the only dli Round jobs that we are worried about are the one that were also
worked

in Round 6. */

do over totten;

totten=r6ten;

end;

/* Now reassign total tenure if there is a job was worked in both rounds. Using the match variable, a job
worked in

both round 6 & the dli round will update the total tenure variable. Need to add positivity condition on
the tenure

values since some of the values equal -3. */

do over matchl;

if match1=1 and r6ten=>0 and r5ten1=>0 then do;
totten=r5tenl+r6ten;

end;

if match1=1 and -4<r5ten1<0 then do;

totten=-3;

end;

if match1=1 and r6ten=>0 and r4ten1=>0 and r5int=-5 then do;
totten=r4tenl+r6ten;

end;

if match1=1 and -4<r4ten1<0 and r4int=-5 and r5int=-5 then do;
totten=-3;

end;

if match1=1 and r6ten=>0 and r4ten1=-5 and r5int=-5 and r3ten1=>0 then do;
totten=r3tenl+r6ten;

end;

if match1=1 and -4<r3ten1<0 and r4int=-5 and r5int=-5 then do;

totten=-3;

end;

if match1=1 and r6ten=>0 and r2ten1=>0 and r4int=-5 and r3int=-5 and r5int=-5 then do;
totten=r2tenl+r6ten;

end;

if matchl=1 and -4<r2ten1<0 and r4int=-5 and r3int=-5 and r5int=-5 then do;

totten=-3;

end;

if match1=1 and r6ten=>0 and r1ten1=>0 and r4int=-5 and r3int=-5 and r2int=-5 and r5int=-5 then do;
totten=rltenl+r6ten;

end;

if match1=1 and -4<rlten1<0 and r5int=-5 and r4int=-5 and r3int=-5 and r2int=-5 then do;



totten=-3;
end;
end;

do over match2;

if match2=1 and r6ten=>0 and r5ten1=>0 then do;
totten=r5ten2+r6ten;

end;

if match2=1 and -4<r5ten1<0 then do;

totten=-3;

end;

if match2=1 and r6ten=>0 and r5ten2=-5 and r4ten2=>0 and r5int=-5 then do;
totten=r4ten2+r6ten;

end;

if match2=1 and -4<r4ten2<0 then do;

totten=-3;

end;

if match2=1 and r6ten=>0 and r3ten2=>0 and r5int=-5 and r4int=-5 then do;
totten=r3ten2+rb6ten;

end;

if match2=1 and -4<r3ten2<0 and r4int=-5 and r5int=-5 then do;

totten=-3;

end;

if match2=1 and r6ten=>0 and r2ten2=>0 and r5int=-5 and r4int=-5 and r3int=-5 then do;
totten=r2ten2+r6ten;

end;

if match2=1 and -4<r2ten2<0 and r5int=-5 and r4int=-5 and r3int=-5 then do;

totten=-3;

end;

if match2=1 and r6ten=>0 and r1ten2=>0 and r5int=-5 and r4int=-5 and r3int=-5 and r2int=-5 then do;
totten=rlten2+r6ten;

end;

if match2=1 and -4<rl1ten2<0 and r4int=-5 and r3int=-5 and r2int=-5 and r5int=-5 then do;

totten=-3;

end;

end;

do over match3;

if match3=1 and r6ten=>0 and r5ten3=>0 then do;
totten=r5ten3+r6ten;

end;

if match3=1 and -4<r5ten3<0 then do;

totten=-3;



end;

if match3=1 and r6ten=>0 and r5int=-5 and r4ten3=>0 then do;
totten=r4ten3+r6ten;

end;

if match3=1 and r5int=-5 and -4<r4ten3<0 then do;

totten=-3;

end;

if match3=1 and r6ten=>0 and r3ten3=>0 and r5int=-5 and r4int=-5 then do;
totten=r3ten3+rbten;
end;

if match3=1 and -4<r3ten3<0 and r5int=-5 and r4int=-5 and r3int=-5 then do;

totten=-3;

end;

if match3=1 and r6ten=>0 and r2ten3=>0 and r5int=-5 and r4int=-5 and r3int=-5 then do;
totten=r2ten3+r6ten;

end;

if match3=1 and -4<r2ten3<0 and r5int=-5 and r4int=-5 and r3int=-5 then do;

totten=-3;

end;

if match3=1 and r6ten=>0 and r1ten3=>0 and r5int=-5 and r4int=-5 and r3int=-5 and r2int=-5 then do;
totten=r1lten3+rb6ten;

end;

if match3=1 and -4<r1ten3<0 and r5int=-5 and r4int=-5 and r3int=-5 and r2int=-5 then do;
totten=-3;

end;

end;

do over match4;

if match4=1 and r6ten=>0 and r5ten4=>0 then do;
totten=r5ten4+r6ten;

end;

if match4=1 and -4<r5ten4<0 then do;

totten=-3;

end;

if match4=1 and r6ten=>0 and r3ten4=>0 and r4int=-5 and r5int=-5 then do;
totten=r3ten4+r6ten;

end;

if match4=1 and -4<r3ten4<0 and r4int=-5 and r5int=-5 then do;

totten=-3;

end;

if match4=1 and r6ten=>0 and r2ten4=>0 and r4int=-5 and r3int=-5 and r5int=-5 then do;
totten=r2ten4+réten;



end;

if match4=1 and -4<r2ten4<0 and r4int=-5 and r3int=-5 and r5int=-5 then do;

totten=-3;

end;

if match4=1 and r5ten=>0 and r1ten4=>0 and r5int=-5 and r4int=-5 and r3int=-5 and r2int=-5 then do;
totten=rlten4+r6ten;

end;

if match4=1 and -4<rl1ten4<0 and r4int=-5 and r3int=-5 and r2int=-5 and r5int=-5 then do;
totten=-3;

end;

end;

do over match5;

if match5=1 and r6ten=>0 and r5ten5=>0 then do;
totten=r5ten5+r6ten;

end;

if match5=1 and -4<r5ten5<0 then do;

totten=-3;

end;

if match5=1 and r6ten=>0 and r4ten5=>0 and r5int=-5 then do;

totten=r4ten5+r6ten;

end;

if match5=1 and -4<r4ten5<0 and r5int=-5 then do;

totten=-3;

end;

if match5=1 and r6ten=>0 and r3ten5=>0 and r4int=-5 and r5int=-5 then do;
totten=r3ten5+rb6ten;

end;

if match5=1 and -4<r3ten5<0 and r4int=-5 and r5int=-5 then do;

totten=-3;

end;

if match5=1 and r6ten=>0 and r2ten5=>0 and r4int=-5 and r3int=-5 and r5int=-5 then do;
totten=r2ten5+r6ten;

end;

if match5=1 and -4<r2ten5<0 and r4int=-5 and r3int=-5 and r5int=-5 then do;

totten=-3;

end;

if match5=1 and r5ten=>0 and r1ten5=>0 and r5int=-5 and r4int=-5 and r3int=-5 and r2int=-5 then do;
totten=rlten5+r6ten;

end;

if match5=1 and -4<rl1ten5<0 and r5int=-5 and r4int=-5 and r3int=-5 and r2int=-5 then do;
totten=-3;

end;

end;

do over match6;

if match6=1 and r6ten=>0 and r5ten6=>0 then do;
totten=r5ten6+r6ten;

end;



if match6=1 and -4<r5ten6<0 then do;

totten=-3;

end;

if match6=1 and r5ten=>0 and r4ten6=>0 then do;
totten=r5ten6+r6ten;

end;

if match6=1 and r6ten=>0 and r4ten6=>0 and r5int=-5 then do;
totten=r5ten6+r6ten;

end;

if match6=1 and -4<r5ten6<0 then do;

totten=-3;

end;

if match6=1 and r6ten=>0 and r4ten6=>0 and r5int=-5 then do;
totten=r4ten6+r6ten;

end;

if match6=1 and -4<r4ten6<0 and r5int=-5 then do;

totten=-3;

end;

if match6=1 and r6ten=>0 and r3ten6=>0 and r4int=-5 and r5int=-5 then do;
totten=r3ten6+rb6ten;

end;

if match6=1 and -4<r3ten6<0 and r4int=-5 and r5int=-5 then do;

totten=-3;

end;

if match6=1 and r6ten=>0 and r2ten6=>0 and r4int=-5 and r3int=-5 and r5int=-5 then do;
totten=r2ten6+r6ten;

end;

if match6=1 and -4<r2ten6<0 and r4int=-5 and r3int=-5 and r5int=-5 then do;

totten=-3;

end;

if match6=1 and r6ten=>0 and r1ten6=>0 and r4int=-5 and r3int=-5 and r2int=-5 and r5int=-5 then do;
totten=rlten6+r6ten;

end;

if match6=1 and -4<r1ten6<0 and r4int=-5 and r3int=-5 and r2int=-5 and r5int=-5 then do;
totten=-3;

end;

end;

do over match7;

if match7=1 and r6ten=>0 and r5ten7=>0 then do;
totten=r5ten7+r6ten;

end;

if match7=1 and -4<r5ten7<0 then do;

totten=-3;

end;

if match7=1 and r6ten=>0 and r4ten7=>0 and r5int=-5 then do;



totten=r4ten7+r6ten;

end;

if match7=1 and -4<r4ten7<0 and r5int=-5 then do;

totten=-3;

end;

if match7=1 and r5ten=>0 and r3ten7=>0 and r4int=-5 and r5int=-5 then do;
totten=r3ten7+r6ten;

end;

if match7=1 and -4<r3ten7<0 and r4int=-5 and r5int=-5 then do;
totten=-3;

end;

if match7=1 and r6ten=>0 and r2ten7=>0 and r4int=-5 and r3int=-5 and r5int=-5 then do;
totten=r2ten7+r6ten;

end;

if match7=1 and -4<r2ten7<0 and r4int=-5 and r3int=-5 and r5int=-5 then do;

totten=-3;

end;

if match7=1 and r5ten=>0 and r1ten7=>0 and r4int=-5 and r3int=-5 and r2int=-5 and r5int=-5 then do;
totten=rlten7+r6ten;

end;

if match7=1 and -4<r1ten7<0 and r4int=-5 and r3int=-5 and r2int=-5 and r5int=-5 then do;
totten=-3;

end;

end;

do over match8;

if match8=1 and r6ten=>0 and r5ten8=>0 then do;
totten=r5ten8+rb6ten;

end;

if match8=1 and -4<r5ten8<0 then do;

totten=-3;

end;

if match8=1 and r6ten=>0 and r4ten8=>0 and r5int=-5 then do;
totten=r4ten8+r6ten;

end;

if match8=1 and -4<r4ten8<0 and r5int=-5 then do;

totten=-3;

end;

if match8=1 and r6ten=>0 and r3ten8=>0 and r4int=-5 and r5int=-5 then do;
totten=r3ten8+r6ten;

end;

if match8=1 and -4<r3ten8<0 and r4int=-5 and r5int=-5 then do;

totten=-3;

end;

if match8=1 and r6ten=>0 and r2ten8=>0 and r4int=-5 and r3int=-5 and r5int=-5 then do;
totten=r2ten8+r6ten;

end;

if match8=1 and -4<r2ten8<0 and r4int=-5 and r3int=-5 and r5int=-5 then do;



totten=-3;
end;
end;

do over match9;

if match9=1 and r6ten=>0 and r5ten9=>0 then do;
totten=r5ten9+r6ten;

end;

if match9=1 and -4<r5ten9<0 then do;

totten=-3;

end;

if match9=1 and r6ten=>0 and r4ten9=>0 and r5int=-5 then do;
totten=r4ten9+r6ten;

end;

if match9=1 and -4<r4ten9<0 and r5int=-5 then do;

totten=-3;

end;

if match9=1 and r6ten=>0 and r3ten9=>0 and r4int=-5 and r5int=-5 then do;
totten=r3ten9+rb6ten;

end;

if match9=1 and -4<r3ten9<0 and r4int=-5 and r5int=-5 then do;
totten=-3;

end;

if match9=1 and r6ten=>0 and r2ten9=>0 and r4int=-5 and r3int=-5 and r5int=-5 then do;
totten=r2ten9+r6ten;

end;

if match9=1 and -4<r2ten9<0 and r4int=-5 and r3int=-5 and r5int=-5 then do;

totten=-3;

end;

end;

do over r6uid,;
if réuid=-4 then totten=-4;
end,

endsas;

Total Hours Worked in 19xx/20xx

Variables Created: CV_HOURS WK_YR_ALL.80 - CV_HOURS WK_YR_ALL.03
CV_HOURS WK_YR_ET.80-CV_HOURS WK_YR_ET.03
CV_HOURS WK_YR_SE.98 - CV_HOURS WK_YR_SE.03

Programs Used

This program uses emp_begin.sas as input.



This program calculates the number of hours worked by the respondent at all jobs in each calendar year.
Three sets of variables are created: one for all jobs, one for employee-type jobs, and one for self-
employed jobs for respondents age 18 and older in rounds 4 and 5. See the introduction to this
appendix for important information about the universes for each of these variables. A variable is
created for each respondent even if the respondent has worked no jobs in a given year with the default
value set to zero (0). Note that when both "starting hours" and "current hours™ are reported, the latter are
used to construct these measures.

if pubid=1461 then self03=0;
*** Organize hours for each job;

array starw (k) starw01-starw1l;
array stopw (k) stopw01-stopw11,;

array rghrsb (k) rghrsb01-rghrsh11;
array rghrs (k) rghrs01-rghrs11;
array othrs (k) othrsO1-othrs11;
array hours (k) hours01-hoursl1;

array e23901 (k) e2390101-e2390111;

array e24501 (k) e2450101-e2450111;

array 34402 (k) e3440201-e3440211;

array e34403 (k) e3440301-e3440311,

array e34428 (k) e3442801-e3442811,

array e37904 (k) e3790401-e3790411;

array e38000b (k) e38000b01-e38000b11;

array e38000f (k) e38000f01-e38000f11;

array e38002 (k) €3800201-e3800211;

array e38102 (k) €3810201-e3810211;

array e38103 (k) e3810301-e3810311;

array e38105 (k) €3810501-e3810511;

array €59901 (k) €5990101-e5990111;

array e88000 (k) e8800001-e8800011;

array e88501 (k) €8850101-e8850111;

array 98402 (k) e9840201-e9842011;

array €98403 (k) €9840301-e9840311;

array €98429 (k) €9842901-e9842911;

array €1002252 (k) e100225012 €100225022 100225032 €100225042 €100225052 100225062
100225072 €100225082 100225092

100225102 €100225112;

array €100231 (k) e10023101-e10023111;

array €1002253 (k) 100225013 100225023 €100225033 €100225043 100225053 €100225063
100225073 €100225083 100225093

100225103 €100225113;

array e100232 (k) €10023201-e10023211;

array €226042 (k) 22604012 €22604022 22604032 22604042 €22604052 22604062 22604072
£22604082 22604092

£22604102 22604112;



array e22610 (k) e2261001-e2261011,

array 226043 (k) 22604013 e22604023 22604033 22604043 €22604053 22604063 €22604073
€22604083 22604093

€22604103 22604113,

array e22611 (k) e2261101-e2261111;

array starfl (k) starfl_1-starfl_11;

array stopfl (k) stopfl_1-stopfl_11;

***** |nitialize the number of hours per week to 0;

do k=1 to 11;
rghrsb =0;
rghrs=0;
othrs=0;
hours=0;
end;

***** Regular rghrs Per Week;

do k=1to 11;

if 23901 not in (.,-4,-5) then rghrsh=e23901,
if 34402 not in (.,-4,-5) then rghrsb=e34402;
if 34428 not in (.,-4,-5) then rghrsh=e34428;

if 22610 not in (.,-4,-5) then rghrsh=e22610;
else if 226042 It 0 and €226042 not in (.,-4,-5) then rghrsb=-3;

if e88000 not in (.,-4,-5) then rghrsh=e88000;
if €98402 not in (.,-4,-5) then rghrsb=e98402;
if 98429 not in (.,-4,-5) then rghrsh=e98429;

if e100231 not in (.,-4,-5) then rghrsb=e100231;
else if 1002252 It 0 and €1002252 not in (.,-4,-5) then rghrsb=-3;

if e38000f not in (.,-4,-5) then rghrsb=e38000f;

if 38002 in (.,-4,0) then rghrs=rghrsb;

else if e38002 It 0 and €38002 ne -5 then rghrs=-3;
else if e38002 gt 0 then do;

if rghrsb gt O then rghrs=rghrsb-e38002;

else rghrs=-3;

end;

if e38000b It 0 and €38000b not in (-4,-5,.) then rghrs=-3;

if 38102 in (1,3) and €38103 not in (.,-4,-5) then rghrs=e38103;
if 38102 It 0 and €38102 not in (-4,-5, .) then rghrs=-3;

if e37904 > -4 then rghrs=e37904;

if €59901 > -4 then rghrs=e59901;

end;



***** Qvertime Hours Per Week;

do k=1to 11;

if 24501 not in (.,-4,-5) then othrs=e24501;

if 34403 not in (.,-4,-5) then othrs=e34403;

if 22611 not in (.,-4,-5) then othrs=e22611;

else if 226043 It 0 and €226043 not in (.,-4,-5) then othrs=-3;
if 88501 not in (.,-4,-5) then othrs=e88501;

if €98403 not in (.,-4,-5) then othrs=e98403;

if e100232 not in (.,-4,-5) then othrs=e100232;

else if 1002253 It 0 and €1002253 not in (.,-4,-5) then othrs=-3;
if 38002 not in (.,-4,-5) then othrs=e38002;

if 38105 not in (.,-4,-5) then othrs=e38105;

else if 38102 It 0 and €38102 not in (.,-4,-5) then othrs=-3,;
end;

***** Total Hours Per Week;

do k=1to 11;

if rghrs in (-1,-2,-3) or othrs in (-1,-2,-3) then hours=-3;
else if rghrs ge 0 and othrs ge 0 then hours=rghrs + othrs;
end;

Khhkhkkhkhkhkkhkhkhkkhhkhkkhhhkkhhhkkhhhkkhhhkkhkkhkhkkhkkhhkhkkhhkhkkhhhkhirhkkiihhkhhhkhihkhkihhkihkhkihiiiiik

** Calculate cumulative weeks on individual jobs for each year **

KhAhkhkAAAkAkAkAkrAkhkrAhkhkrAhkhkhhkhkrhkhkrkrAhkhkrAhkrkrhkrrhkhkrhkhkrhkhkrhhkhhhkhirhkikihhkiihiihik:
’

***** The following program is using the created variables from the program
"/femp_curr/emp31_jobwks.sas"--number of weeks
worked on each job in each year;

array self (k) selfO1-self11;

/[* 1980 */

* created no. of weeks worked on each job;
array wks80 (k) réw80_1-réw80 11;

* hours worked on each job;

array ah80 (k) ah80_1-ah80 11;

array sah80 (k) sah80_1-sah80_11;

array eah80 (k) eah80_1-eah80 11;

do k=1to 11;
ah80=0;
sah80=0;
eah80=0;
end;

do k=1to 11;
if hours ge 0 and wks80 ge 0 then ah80=hours*wks80;
else if wks80=-3 or (hours in (-1,-2,-3) and wks80 ne 0) then ah80=-3;



if self=1 then sah80=ah80;
if self=0 then eah80=ah80;

end;

* total hours worked in the year;

r6hrs80=0;
réshrs80=0;
réehrs80=0;

do k=1 to 11;

if ah80 ge 0 then r6hrs80 = r6hrs80 + ah80;
if sah80 ge 0 then réshrs80 = r6shrs80 + sah80;
if eah80 ge 0 then réehrs80 = réehrs80 + eah80;

end;

do k=1 to 11;

if ah80=-3 then r6hrs80 = -3;
if sah80=-3 then r6shrs80 = -3;
if eah80=-3 then r6ehrs80 = -3;

end;

[* At this point the program repeats the above 1980 code for each year through 2002. This code is

omitted here due to space considerations. Users who need to see the entire program should contact NLS

User Services. The week numbers and variables created for each year are as follows:

Year/ Weeks Variables Created Year/ Weeks Variables Created
1981 wks811-wks818; [[ah811-ah818; 1993 wks931-wks938; [[ah931-ah938;
53-104 swks811-swks818; sah811-sah818; | -50" o swks931-swks938; sah931-sah938;
ewks811-ewks818;|leah811-eah818; ewks931-ewks938;[leah931-eah938;
1982 wks821-wks828; [[ah821-ah828; 1994 wks941-wks948: [[ah941-ah948;
105-156 swks821-swks828; |sah821-5ah828; |57 -oa swks941-swks948; [sah941-sah948;
ewks821-ewks828;|leah821-eah828; ewks941-ewks948:leah941-eah948;
1983 wks831-wks838; [[ah831-ah838; 1995 wks951-wks958; [[ah951-ah958;
157-209 swks831-swks838; sah831-sah838; -0\ "o swks951-swks958; [1sah951-sah958;
ewks831-ewks838;|leah831-eah838; ewks951-ewks958;leah951-eah958;
1984 wks841-wks848; [[ah841-ah848; 1996 wks961-wks968; [[ah961-ah968;
210-261 swks841-swks848; sah841-sah848; o oo swks961-swks968; [Isah961-sah968;
ewks841-ewks848;|leah841-eah848; ewks961-ewks968;[leah961-eah968;
1985 wks851-wks858; [[ah851-ah858; 1997 wks971-wks978; [[ah971-ah978;
962-313 swks851-swks858; |sah851-5ah858; | saq g swks971-swks978; [sah971-sah978,;
ewks851-ewks858;|leah851-eah858; ewks971-ewks978;[leah971-eah978;
1986 wks861-wks868; [[ah861-ah868; 1998 wks981-wks988; [[ah981-ah988;
314-365 swks861-swks868; |sah861-5ah868; | o 1 001 swks981-swks988; sah981-sah988,;
ewks861-ewks868:;|leah861-eah868; ewks981-ewks988:[leah981-eah988;
L0 17 [Wks871-wks878; |ah871-ang78; 1909 . |wks991-wks998; [ah991-ahos;
swks871-swks878; |sah871-sah878; swks991-swks998: |sah991-sah998;




ewks871-ewks878;|leah871-eah878; ewks991-ewks998:[leah991-eah998;
1988 wks881-wks888; [[ah881-ah888; 2000 wks001-wks008; [[ah001-ah008;
418-470 swks881-swks888; sah881-sah888; |l 1 1 4 109  [SWKs001-swks008; |sah001-sah008;

ewks881-ewks888;|leah881-eah888; ewks001-ewks008;leah001-eah008;
1989 wks891-wks898; [[ah891-ah898; 2001 wks011-wks018; [lah011-ah018;
471-522 swks891-swks898; sah891-5ah898; ||, 107 1149 [SWkSO11-swks018; sah011-sah018;

ewks891-ewks898;|leah891-eah898; ewks011-ewks018;[leah011-eah018;
1990 wks901-wks908; [[ah901-ah908; 2002 wks021-wks028; [[ah021-ah028;
523-574 swks901-swks908; sah901-5ah908; |1, 4 19 1500 [SWWKS021-swks028; |sah021-sah028;

ewks901-ewks908:;|leah901-eah908; ewks021-ewks028;[leah021-eah028;
1991 wks911-wks918; [[ah911-ah918; 2003 wks031-wks038; [[ah031-ah038;
575-626 swks911-swks918; sah911-sah918; ||, 57 15, [SWkSO31-s5wks038; |sah031-sah038;

ewks911-ewks918;|leah911-eah918; ewks031-ewks038;[leah031-eah038;
1992 wks921-wks928; [[ah921-ah928;
627-678 swks921-swks928; [sah921-sah928;

ewks921-ewks928;|leah921-eah928;

if €200 in (-3,-5) then do;
réhrs80=-5; r6hrs81=-5; réhrs82=-5; r6hrs83=-5; réhrs84=-5; r6hrs85=-5;
réhrs86=-5; réhrs87=-5; réhrs88=-5; r6hrs89=-5; réhrs90=-5; r6hrs91=-5;
réhrs92=-5; r6hrs93=-5; réhrs94=-5; r6hrs95=-5; r6hrs96=-5; r6hrs97=-5;
réhrs98=-5; r6hrs99=-5; réhrs00=-5; r6hrs01=-5; réhrs02=-5; r6hrs03=-5;
réshrs80=-5; réshrs81=-5; r6shrs82=-5; ré6shrs83=-5; ré6shrs84=-5; r6shrs85=-5;
réshrs86=-5; réshrs87=-5; r6shrs88=-5; r6shrs89=-5; r6shrs90=-5; r6shrs91=-5;
réshrs92=-5; r6shrs93=-5; r6shrs94=-5; r6shrs95=-5; r6shrs96=-5; r6shrs97=-5;
réshrs98=-5; ré6shrs99=-5; r6shrs00=-5; réshrs01=-5; r6shrs02=-5; r6shrs03=-5;
réehrs80=-5; réehrs81=-5; r6ehrs82=-5; r6ehrs83=-5; réehrs84=-5; r6ehrs85=-5;
réehrs86=-5; réehrs87=-5; r6ehrs88=-5; r6ehrs89=-5; r6ehrs90=-5; ré6ehrs91=-5;
réehrs92=-5; réehrs93=-5; r6ehrs94=-5; r6ehrs95=-5; r6ehrs96=-5; réehrs97=-5;
réehrs98=-5; réehrs99=-5; r6ehrs00=-5; réehrs01=-5; r6ehrs02=-5; r6ehrs03=-5;

end;

array thrs (i) thrs80-thrs99 thrs00-thrs03;

array tshrs (i) tshrs80-tshrs99 tshrs00-tshrs03;
array tehrs (i) tehrs80-tehrs99 tehrs00-tehrs03;
array rlhrs (i) r1hrs80-r1hrs99 rihrs00-r1hrs03;
array r2hrs (i) r2hrs80-r2hrs99 r2hrs00-r2hrs03;
array r3hrs (i) r3hrs80-r3hrs99 r3hrs00-r3hrs03;
array rahrs (i) r4hrs80-r4hrs99 r4hrs00-r4hrs03;

array r4shrs (i) rdshrs80-r4shrs99 r4shrs00-r4shrs03;
array rdehrs (i) r4ehrs80-r4ehrs99 r4ehrs00-r4ehrs03;
array rshrs (i) r5hrs80-r5hrs99 r5hrs00-r5hrs03;

array rsshrs (i) r5shrs80-r5shrs99 r5shrs00-r5shrs03;
array r5ehrs (i) roehrs80-r5ehrs99 r5ehrs00-r5ehrs03;
array réhrs (i) réhrs80-réhrs99 réhrs00-réhrs03;

array réshrs (i) réshrs80-r6shrs99 réshrs00-r6shrs03;
array réehrs (i) réehrs80-r6ehrs99 r6ehrs00-r6ehrs03;




/* For the round 1 to round 3 c.v.'s, we are assuming that all jobs are employee-type jobs. Thus, these dli
information
will be added to the "all jobs™ and "employee jobs" c.v.'s but not "self-employed jobs" c.v.'s. */

do over réhrs;

thrs=0;

tshrs=0;

tehrs=0;

if réhrs>0 then do;

thrs=réhrs;

end;

if réshrs>0 then do;

tshrs=r6shrs;

end;

if réehrs>0 then do;

tehrs=r6ehrs;

end;

if r5hrs>0 and dliwk=r5int then do;
thrs=r5hrs;

end;

if roshrs>0 and dliwk=r5int then do;
tshrs=rb5shrs;

end;

if r5ehrs>0 and dliwk=r5int then do;
tehrs=r5ehrs;

end;

if r4hrs>0 and dliwk=r4int then do;
thrs=réhrs;

end;

if r4shrs>0 and dliwk=r4int then do;
tshrs=r4shrs;

end;

if rdehrs>0 and dliwk=r4int then do;
tehrs=r4ehrs;

end;

if r3hrs>0 and dliwk=r3int then do;
thrs=r3hrs;

tehrs=r3hrs;

end;

if r2hrs>0 and dliwk=r2int then do;
thrs=r2hrs;

tehrs=r2hrs;

end;

if rLhrs>0 and dliwk=rlint then do;
thrs=rlhrs;

tehrs=rlhrs;

end;

if r5hrs>0 and r6hrs>0 and dliwk=r5int then do;
thrs=r5hrs+réhrs;

end;



if r5shrs>0 and r6shrs>0 and dliwk=r5int then do;
tshrs=r5shrs+réshrs;

end;

if r5ehrs>0 and r6ehrs>0 and dliwk=r5int then do;
tehrs=r5ehrs+réehrs;

end;

if r4hrs>0 and réhrs>0 and dliwk=r4int then do;
thrs=r4hrs+r6hrs;

end;

if r4shrs>0 and réshrs>0 and dliwk=r4int then do;
tshrs=r4shrs+réshrs;

end;

if rdehrs>0 and r6ehrs>0 and dliwk=r4int then do;
tehrs=r4ehrs+réehrs;

end;

if r3hrs>0 and r6hrs>0 and dliwk=r3int then do;
thrs=r3hrs+réhrs;

end;

if r3hrs>0 and réehrs>0 and dliwk=r3int then do;
tehrs=r3hrs+réehrs;

end;

if r2hrs>0 and réhrs>0 and dliwk=r2int then do;
thrs=r2hrs+r6hrs;

end;

if r2hrs>0 and réehrs>0 and dliwk=r2int then do;
tehrs=r2hrs+r6ehrs;

end;

if rihrs>0 and r6hrs>0 and dliwk=rlint then do;
thrs=r1hrs+réhrs;

end;

if rihrs>0 and r6ehrs>0 and dliwk=rlint then do;
tehrs=rlhrs+r6ehrs;

end;

end;

do over réhrs;

if -4<r6hrs<0 then do;
thrs=r6hrs;

end;

if -4<r6shrs<0 then do;
tshrs=r6éshrs;

end;

if -4<r6ehrs<0 then do;
tehrs=r6ehrs;

end;

if -4<r5hrs<0 then do;
thrs=r5hrs;

end;

if -4<r5shrs<0 then do;
tshrs=rbshrs;

end;



if -4<r5ehrs<0 then do;

tehrs=r5ehrs;

end;

if -4<rdhrs<0 and dliwk=r4int then do;
thrs=r4hrs;

end;

if -4<r4shrs<0 and dliwk=r4int then do;
tshrs=r4shrs;

end;

if -4<rdehrs<0 and dliwk=r4int then do;
tehrs=rdehrs;

end;

if -4<r3hrs<0 and dliwk=r3int then do;
thrs=r3hrs;

tehrs=r3hrs;

end;

if -4<r2hrs<0 and dliwk=r2int then do;
thrs=r2hrs;

tehrs=r2hrs;

end;

if -4<rlhrs<0 and dliwk=rlint then do;
thrs=rlhrs;

tehrs=rlhrs;

end;

end;

do over thrs;

if €200=-5 then do;
thrs=-5; tehrs=-5; tshrs=-5;
end;

end;

endsas;

Total Hours Worked Age 14-19, Hours Worked at All Jobs Since Age 20, and Hours
Worked at Employee-Type Jobs Since Age 20

Variables Created: CV_HOURS_WK_TEEN
CV_HOURS_WK_ADULT_ALL
WE_HOURS_WK_ADULT ET

Programs Used

This program uses emp_begin.sas as input.

This program calculates the number of hours worked by the respondent at all employee-type jobs
between the ages of 14 and 19. It then creates two variables for the number of hours worked by the



respondent since age 20: one for all jobs and one for employee-type jobs. See the introduction to this
appendix for important information about the universes for each of these variables. A variable is
created for each respondent even if the respondent has worked no jobs in a given year with the default
value set to zero (0). Note that when both "starting hours™ and "current hours™ are reported, the latter are
used to construct these measures.

*** Organize hours for each job;

array rghrsb (k) rghrsb01-rghrsb11;
array rghrs (k) rghrs01-rghrs11;
array othrs (k) othrsO1-othrs11;
array hours (k) hours01-hoursl1;

array e23901 (k) e2390101-e2390111;

array e24501 (k) e2450101-e2450111;

array e34402 (k) e3440201-e3440211;

array e34403 (k) e3440301-e3440311,

array e34428 (k) e3442801-e3442811,

array e37904 (k) e3790401-e3790411;

array e38000b (k) e38000b01-e38000b11;

array e38000f (k) e38000f01-e38000f11;

array e38002 (k) €3800201-e3800211;

array e38102 (k) €3810201-e3810211;

array e38103 (k) e3810301-e3810311;

array e38105 (k) e3810501-e3810511;

array €59901 (k) €5990101-e5990111;

array e88000 (k) e8800001-e8800011;

array e88501 (k) €8850101-e8850111;

array 98402 (k) e9840201-e9842011;

array €98403 (k) €9840301-e9840311;

array €98429 (k) €9842901-e9842911;

array €1002252 (k) e100225012 €100225022 100225032 €100225042 €100225052 100225062
100225072 €100225082 100225092 €100225102 €100225112;

array €100231 (k) e10023101-e10023111;

array €1002253 (k) €100225013 100225023 €100225033 100225043 100225053 €100225063
100225073 €100225083 100225093 €100225103 €100225113;

array €100232 (k) €10023201-e10023211;

array e226042 (k) 22604012 e22604022 22604032 22604042 e22604052 22604062 22604072
€22604082 22604092 €22604102 €22604112;

array €22610 (k) e2261001-e2261011;

array 226043 (k) 22604013 e22604023 22604033 22604043 €22604053 22604063 €22604073
€22604083 22604093 €22604103 €22604113;

array e22611 (k) e2261101-e2261111,

array starfl (k) starfl_1-starfl 11;

array stopfl (k) stopfl_1-stopfl_11;

***** |nitialize the number of hours per week to 0;

do k=1to 11;
rghrsb =0;



rghrs=0;
othrs=0;
hours=0;
end;

***** Regular rghrs Per Week;

do k=1to 11;

if 23901 not in (.,-4,-5) then rghrsb=e23901,
if 34402 not in (.,-4,-5) then rghrsb=e34402;
if 34428 not in (.,-4,-5) then rghrsb=e34428;

if 22610 not in (.,-4,-5) then rghrsh=e22610;
else if e226042 It 0 and e226042 not in (.,-4,-5) then rghrsb=-3;

if e88000 not in (.,-4,-5) then rghrsh=e88000;
if 98402 not in (.,-4,-5) then rghrsbh=e98402;
if 98429 not in (.,-4,-5) then rghrsh=e98429;

if e100231 not in (.,-4,-5) then rghrsb=e100231;
else if 1002252 It 0 and €1002252 not in (.,-4,-5) then rghrsb=-3;

if e38000f not in (.,-4,-5) then rghrsb=e38000f;

if e38002 in (.,-4,0) then rghrs=rghrsb;

else if 38002 It 0 and €38002 ne -5 then rghrs=-3;
else if 38002 gt O then do;

if rghrsb gt 0 then rghrs=rghrsb-e38002;

else rghrs=-3;

end;

if e38000b It 0 and €38000b not in (-4,-5,.) then rghrs=-3;

if 38102 in (1,3) and €38103 not in (.,-4,-5) then rghrs=e38103;
if 38102 It 0 and €38102 not in (-4,-5, .) then rghrs=-3;

if e37904 > -4 then rghrs=e37904;

if €59901 > -4 then rghrs=e59901;

end;

***%*x Overtime Hours Per Week;

do k=1to 11;

if 24501 not in (.,-4,-5) then othrs=e24501;

if 34403 not in (.,-4,-5) then othrs=e34403;

if 22611 not in (.,-4,-5) then othrs=e22611;

else if 226043 It 0 and €226043 not in (.,-4,-5) then othrs=-3;

if 88501 not in (.,-4,-5) then othrs=e88501;

if €98403 not in (.,-4,-5) then othrs=e98403;

if e100232 not in (.,-4,-5) then othrs=e100232;

else if 1002253 It 0 and €1002253 not in (.,-4,-5) then othrs=-3;
if e38002 not in (.,-4,-5) then othrs=e38002;



if 38105 not in (.,-4,-5) then othrs=e38105;
else if e38102 It 0 and €38102 not in (.,-4,-5) then othrs=-3;
end;

***** Total Hours Per Week;

do k=1to 11;

if rghrs in (-1,-2,-3) or othrs in (-1,-2,-3) then hours=-3;
else if rghrs ge 0 and othrs ge 0 then hours=rghrs + othrs;
end;

khhhhhkhkkkkhkhkhhhhhkhkhkhkkhkhkhihrrhhkhhkhhhihirrrhhhhhhrirrrhhhhhkhiirriiihhhiiiix

** Calculate cumulative weeks on each job since age 14/20 **

F*hkhhhkkhhkkhkhhkhkhkhkihkkhrhkhhkhkihkhhhkhhkhkihkkhhhkihkhrhkkhhkhkihkihihkihhkihiihihhihiihiiiik:

array joblwks (i) wl_1-wl_1253;
array job2wks (i) w2_1-w2_1253;
array job3wks (i) w3_1-w3 1253;
array job4wks (i) w4_1-w4 1253;
array job5wks (i) ws_1-wb5 1253;
array job6wks (i) w6_1-w6_1253;
array job7wks (i) w7_1-w7_1253;
array job8wks (i) w8_1-w8 1253;
array job9wks (i) w9_1-w9 1253;
array job10wks (i) w10 _1-w10 1253;
array jobllwks (i) wll 1-wll 1253;

/* Initialize created variables */
réhrs14=0;

réehrs14=0;

réhrs20=0;

réehrs20=0;

/* Read "wks1405" as the number of weeks worked between the ages of 14 and 19, for job 5 only.
Read "hrs1405" as the number of hours worked between the ages of 14 and 19, for job 5 only.

Read "ehrs1405" as the number of employee-type job hours worked between the ages of 14 and 19, for
job 5 only.

Read "wks2005" as the number of weeks worked since age 20, for job 5 only.

Read "hrs2005" as the number of hours worked since age 20, for job 5 only.

Read "ehrs2005" as the number of employee-type job hours worked since age 20, for job 5 only. */

array self (k) selfO1-self11;

array wks14 (k) wks1401-wks1411;
array hrs14 (k) hrs1401-hrs1411;
array ehrs14 (k) ehrs1401-ehrs1411;
array wks20 (k) wks2001-wks2011;
array hrs20 (k) hrs2001-hrs2011;
array ehrs20 (k) ehrs2001-ehrs2011;



do k=1to 11;
wks14=0;
hrs14=0;
ehrs14=0;
wks20=0;
hrs20=0;
ehrs20=0;
end;

Fkdkkdkkkkkkkkkkkkkxkx* the created variable for "since age 14",

[* The ending week number for the count of "agel4-agel9" depending on whether respondents turn to
age 20 or not. */
end14wk=min(age20wk-1, 1253);

/* The number of weeks worked on each job since age 14 */

do i=agel4wk to end14wk;
if joblwks=1 then do;
wks1401=wks1401+1;
end;

if job2wks=1 then do;
wks1402=wks1402+1;
end;

if job3wks=1 then do;
wks1403=wks1403+1;
end;

if job4wks=1 then do;
wks1404=wks1404+1;
end;

if job5wks=1 then do;
wks1405=wks1405+1;
end;

if job6wks=1 then do;
wks1406=wks1406+1;
end;

if job7wks=1 then do;
wks1407=wks1407+1;
end;

if job8wks=1 then do;
wks1408=wks1408+1;
end;

if job9wks=1 then do;
wks1409=wks1409+1;
end;

if job10wks=1 then do;
wks1410=wks1410+1;
end;

if jobllwks=1 then do;
wks1411=wks1411+1;



end;
end;

do i=agel4wk to end14wk;
if joblwks=-3 then do;
wks1401=-3;

end;

if job2wks=-3 then do;
wks1402=-3;

end;

if job3wks=-3 then do;
wks1403=-3;

end;

if job4wks=-3 then do;
wks1404=-3;

end;

if job5wks=-3 then do;
wks1405=-3;

end;

if job6wks=-3 then do;
wks1406=-3;

end;

if job7wks=-3 then do;
wks1407=-3;

end;

if job8wks=-3 then do;
wks1408=-3;

end;

if job9wks=-3 then do;
wks1409=-3;

end;

if job10wks=-3 then do;
wks1410=-3;

end;

if jobl1lwks=-3 then do;
wks1411=-3;

end;

end;

* The number of hours worked on each job since age 14;

do k=1to 11;

if hours ge 0 and wks14 ge 0 then hrs14=hours*wks14;

else if wks14=-3 or (hours in (-1,-2,-3) and wks14 ne 0) then hrs14=-3;
if self=0 then ehrs14=hrs14;

end;

* The total number of hours worked since age 14;

do k=1to 11;
if hrs14 ge 0 then r6hrs14 = r6hrs14 + hrsl4;



if ehrs14 ge 0 then réehrs14 = r6ehrs14 + ehrsl4,
end;

do k=1to 11;

if hrs14=-3 then r6hrs14=-3;
if ehrs14=-3 then r6ehrs14=-3;
end;

FhFAFAKAKF*FX*X** The created variable for "since age 20™;
if agel4wk>0 and age20wk<=1253 then do;
* The number of weeks worked since age 20 for the respondents who have turned 20 by Round 6;

do i=age20wk to 1253;
if joblwks=1 then do;
wks2001=wks2001+1;
end;

if job2wks=1 then do;
wks2002=wks2002+1;
end;

if job3wks=1 then do;
wks2003=wks2003+1;
end;

if job4dwks=1 then do;
wks2004=wks2004+1;
end;

if job5wks=1 then do;
wks2005=wks2005+1;
end;

if job6wks=1 then do;
wks2006=wks2006+1;
end;

if job7wks=1 then do;
wks2007=wks2007+1;
end;

if job8wks=1 then do;
wks2008=wks2008+1;
end;

if job9wks=1 then do;
wks2009=wks2009+1;
end;

if job10wks=1 then do;
wks2010=wks2010+1;
end;

if jobllwks=1 then do;
wks2011=wks2011+1;
end;

end;



do i=age20wk to 1253;
if joblwks=-3 then do;
wks2001=-3;

end;

if job2wks=-3 then do;
wks2002=-3;

end;

if job3wks=-3 then do;
wks2003=-3;

end;

if job4wks=-3 then do;
wks2004=-3,;

end;

if job5wks=-3 then do;
wks2005=-3,;

end;

if job6wks=-3 then do;
wks2006=-3,;

end;

if job7wks=-3 then do;
wks2007=-3,;

end;

if job8wks=-3 then do;
wks2008=-3;

end;

if job9wks=-3 then do;
wks2009=-3;

end;

if job10wks=-3 then do;
wks2010=-3;

end;

if jobllwks=-3 then do;
wks2011=-3,;

end;

end;

* The number of hours worked since age 20 for the respondents who have turned 20 by Round 6;

do k=1to 11;

if hours ge 0 and wks20 ge 0 then hrs20=hours*wks20;

else if wks20=-3 or (hours in (-1,-2,-3) and wks20 ne 0) then hrs20=-3;
if self=0 then ehrs20=hrs20;

end;

* The total number of hours worked since age 20;

do k=1 to 11;

if hrs20 ge 0 then r6hrs20 = r6hrs20 + hrs20;

if ehrs20 ge 0 then r6ehrs20 = réehrs20 + ehrs20;
end;



do k=1 to 11;

if hrs20=-3 then r6hrs20=-3;
if ehrs20=-3 then r6ehrs20=-3;
end;

end;

if e200=-5 then do;
réhrs14=-5;
réehrs14=-5;
réhrs20=-5;
réehrs20=-5;

end;

/* Initialize created variables to zero. */
thrs14=0;

thrs20=0;

tehrs20=0;

/* By the construction of the dli created variables, we can simply add the two created variables from the
current and

previous rounds if they are both postive. If one is positive and one is not, then the positive value will be

the total

created variable for both rounds. If neither is positive, then the total created variable for both rounds will
be

zero. */

/* hand editor the case self03=0*/

if pubid=1461 then r6ehrs20=r6hrs20;
if rehrs14=>0 then do;
thrs14=r6hrsl4;

end;

if rehrs14=-3 then do;

thrs14=-3;

end;

if r5hrs14=>0 and réhrs14=>0 then do; /* dli is Round 5 */
thrs14=r5hrs14+r6hrs14;

end;

if r5hrs14=-3 then do;

thrs14=-3;

end;

if rdhrs14=>0 and r6hrs14=>0 and r5int=-5 then do; /* dli is Round 4 */
thrs14=r4hrs14+r6hrsi4;

end;

if r4hrs14=-3 then do;

thrs14=-3;



end;

if r3hrs14=>0 and r6hrs14=>0 and r4int=-5 and r5int=-5 then do; /* dli is Round 3 */
thrs14=r3hrs14+r6hrs14;

end;

if r3hrs14=-3 and r4int=-5 and r5int=-5 then do;

thrs14=-3;

end;

if r2hrs14=>0 and r6hrs14=>0 and r3int=-5 and r4int=-5 and r5int=-5then do; /* dli is Round 2 */
thrs14=r2hrs14+r6hrsi4;

end;

if r2hrs14=-3 and r3int=-5 and r4int=-5 and r5int=-5 then do;

thrs14=-3;

end;

if rihrs14=>0 and r6hrs14=>0 and r4int=-5 and r3int=-5 and r2int=-5 and r5int=-5 then do; /* dli is
Round 1 */

thrs14=rlhrs14+r6hrsl4;

end;

if rlhrs14=-3 and r3int=-5 and r2int=-5 and r4int=-5 and r5int=-5 then do;

thrs14=-3;

end;

if rohrs20>0 then thrs20=r6hrs20;

if r5hrs20>0 then thrs20=r5hrs20;

if rohrs20>0 and r5hrs20>0 then do;
thrs20=r6hrs20+r5hrs20;

end;

if rohrs20=-3 or r5hrs20=-3 then do;
thrs20=-3;

end;

if r4hrs20>0 and r5int=-5 then thrs20=r4hrs20;

if réhrs20>0 and r4hrs20>0 and r5int=-5 then do;
thrs20=r6hrs20+r4hrs20;

end;

if (réhrs20=-3 or r4hrs20=-3) and r4int=-5 and r5int=-5 then do;
thrs20=-3;

end;

if r3hrs20>0 and r4int=-5 and r5int=-5 then thrs20=r3hrs20;

if réhrs20>0 and r3hrs20>0 and r4int=-5 and r5int=-5 then do;
thrs20=r6hrs20+r3hrs20;

end;

if (r6hrs20=-3 or r3hrs20=-3) and r4int=-5 and r5int=-5 then do;



thrs20=-3;
end;

if r6ehrs20>0 then tehrs20=r6ehrs20;

if r5ehrs20>0 then tehrs20=r5ehrs20;
if reehrs20>0 and r5ehrs20>0 then do;
tehrs20=r6ehrs20+r5ehrs20;

end;

if réehrs20=-3 or r5ehrs20=-3 then do;
tehrs20=-3;

end;

if r4ehrs20>0 and r5int=-5 then tehrs20=r4ehrs20;
if r6ehrs20>0 and r4ehrs20>0 and r5int=-5then do;
tehrs20=r6ehrs20+r4ehrs20;

end;

if reehrs20=-3 or r4hrs20=-3 then do;

tehrs20=-3;

end;

if r3hrs20>0 and r4int=-5 and r5int=-5 then tehrs20=r3hrs20;

if reehrs20>0 and r3hrs20>0 and r4int=-5 and r5int=-5 then do;
tehrs20=r6ehrs20+r3hrs20;

end;

if (réehrs20=-3 or r3hrs20=-3) and r4int=-5 and r5int=-5 then do;
tehrs20=-3;

end;

[* For respondents younger than 20 at interview date, their thrs14 c.v. will be -4. */
if age20wk>intwk and intwk>0 then do;

thrs20=-4;

tehrs20=-4;

end;

/* Account for non-interview cases */
if uid01=-5 then do;

thrs14=-5;

thrs20=-5;

tehrs20=-5;

end;

endsas;

Number of Jobs Held during 19xx/20xx

Variables Created: rCV_TTL_JOB_ALL.80-CV_TTL_JOB_ALL.03



CV_TTL_JOB_ET.80-CV_TTL_JOB ET.03
CV_TTL_JOB_SE.98-CV_TTL_JOB_SE.03

Programs Used
This program uses emp_begin.sas as input.

This program calculates the number of employee-type jobs the respondent held during each calendar
year. Three sets of variables are created: one for all jobs, one for employee-type jobs, and one for self-
employed jobs. See the introduction to this appendix for important information about the
universes for each of these variables. These variables are created only for respondents who have
worked at least one week in the applicable calendar year.

array joblwks (i) wl_1-wl 1253;
array job2wks (i) w2_1-w2_1253;
array job3wks (i) w3_1-w3_1253;
array job4wks (i) w4_1-w4 1253;
array job5wks (i) ws_1-wb5 1253;
array job6wks (i) w6_1-w6_1253;
array job7wks (i) w7_1-w7_1253;
array job8wks (i) w8_1-w8_1253;
array job9wks (i) w9_1-w9 1253;
array job10wks (i) w10_1-wi10_1253;
array jobl11lwks (i) will 1-wl1l_1253;

*AhhkhkAhkhkhkikhkhkhkrkhkhkkrkkkkrhhkhkirhkhkihhkhkkihhkhkihkhkhkirkrAhkirAhkhkrhkhkirhkhkihkhkihkhkihkhkihkhihhkiihiiikx

** Indicate if worked at least one week on a job in a given year **

Fhhhhkhkhkkkhkhkhhrrhkhkhkhkhkhhihrrhhkhkhkhkkhkrrhrrrhhhhkhdrrrrrhhhhhirrrriihthhhhiirix:
)

[* 1980 */

r6j801=0; r6s801=0; r6e801=0;
r6j802=0; r6s802=0; r6e802=0;
r6j803=0; r6s803=0; r6e803=0;
r6j804=0; r6s804=0; r6e804=0;
r6j805=0; r6s805=0; r6e805=0;
r6j806=0; r6s806=0; r6e806=0;
r6j807=0; r6s807=0; r6e807=0;
r6j808=0; r6s808=0; r6e808=0;
r6j809=0; r6s809=0; r6e809=0;
r6j8010=0; r6s8010=0; r6e8010=0;
r6j8011=0; r6s8011=0; r6e8011=0;

do i=1to 52;

if joblwks=-3 then do;

r6j801=-3;

end;

if joblwks=-3 and self01=1 then do;
res801=-3;



end,

if joblwks=-3 and self01=0 then do;
ree801=-3;

end;

if job2wks=-3 then do;

r6j802=-3;

end;

if job2wks=-3 and self02=1 then do;
r6s802=-3;

end;

if job2wks=-3 and self02=0 then do;
r6e802=-3;

end;

if job3wks=-3 then do;

r6j803=-3;

end;

if job3wks=-3 and self03=1 then do;
r6s803=-3;

end;

if job3wks=-3 and self03=0 then do;
ree803=-3;

end;

if job4wks=-3 then do;

r6j804=-3;

end;

if job4dwks=-3 and self04=1 then do;
r6s804=-3;

end;

if job4wks=-3 and self04=0 then do;
r6e804=-3;

end;

if job5wks=-3 then do;

r6j805=-3;

end;

if job5wks=-3 and self05=1 then do;
res805=-3;

end;

if job5wks=-3 and self05=0 then do;
ree805=-3;

end;

if job6wks=-3 then do;

r6j806=-3;

end;

if job6wks=-3 and self06=1 then do;
r6s806=-3;

end;

if job6wks=-3 and self06=0 then do;
r6e806=-3;

end;

if job7wks=-3 then do;

r6j807=-3;



end;

if job7wks=-3 and self07=1 then do;
resg07=-3;

end;

if job7wks=-3 and self07=0 then do;
ree807=-3;

end;

if job8wks=-3 then do;

r6j808=-3;

end;

if job8wks=-3 and self08=1 then do;
r6s808=-3;

end;

if job8wks=-3 and self08=0 then do;
r6e808=-3;

end;

if job9wks=-3 then do;

r6j809=-3;

end;

if job9wks=-3 and self09=1 then do;
res809=-3;

end;

if job9wks=-3 and self09=0 then do;
ree809=-3;

end;

if job10wks=-3 then do;
r6j8010=-3;

end;

if job10wks=-3 and self10=1 then do;
r6s8010=-3;

end;

if job10wks=-3 and self10=0 then do;
r6e8010=-3;

end;

if jobl1lwks=-3 then do;
r6j8011=-3;

end;

if jobllwks=-3 and self11=1 then do;
resg011=-3;

end;

if jobllwks=-3 and self11=0 then do;
r6e8011=-3;

end;

end;

do i=1to 52;

if joblwks=1 then do;

r6j801=1,

end;

if joblwks=1 and self01=1 then do;
resg0l1=1,;



end;

if joblwks=1 and self01=0 then do;
ree801=1;

end;

if job2wks=1 then do;

r6j802=1,;

end;

if job2wks=1 and self02=1 then do;
r6s802=1,

end;

if job2wks=1 and self02=0 then do;
r6e802=1;

end;

if job3wks=1 then do;

r6j803=1;

end;

if job3wks=1 and self03=1 then do;
res803=1,

end;

if job3wks=1 and self03=0 then do;
ree803=1;

end;

if job4dwks=1 then do;

r6j804=1;

end;

if job4dwks=1 and self04=1 then do;
r6s804=1,

end;

if job4wks=1 and self04=0 then do;
r6e804=1;

end;

if job5wks=1 then do;

r6j805=1;

end;

if job5Swks=1 and self05=1 then do;
res805=1,

end;

if job5wks=1 and self05=0 then do;
ree805=1;

end;

if job6wks=1 then do;

r6j806=1;

end;

if job6wks=1 and self06=1 then do;
r6s806=1,

end;

if job6wks=1 and self06=0 then do;
ree806=1;

end;

if job7wks=1 then do;

r6j807=1,;



end;

if job7wks=1 and self07=1 then do;
resg07=1,

end;

if job7wks=1 and self07=0 then do;
ree807=1;

end;

if job8wks=1 then do;

r6j808=1,;

end;

if job8wks=1 and self08=1 then do;
r6s808=1,

end;

if job8wks=1 and self08=0 then do;
ree808=1;

end;

if job9wks=1 then do;

r6j809=1;

end;

if job9wks=1 and self09=1 then do;
resg09=1,

end;

if job9wks=1 and self09=0 then do;
ree809=1;

end;

if job10wks=1 then do;

r6j8010=1;

end;

if job10wks=1 and self10=1 then do;
r6s8010=1;

end;

if job10wks=1 and self10=0 then do;
r6e8010=1,

end;

if jobl1lwks=1 then do;

r6j8011=1;

end;

if jobllwks=1 and self11=1 then do;
resg80l11=1;

end;

if jobllwks=1 and self11=0 then do;
ree8011-=1,

end;

end;

if r6j801 ne -3 and r6j802 ne -3 and r6j803 ne -3 and r6j804 ne -3 and r6j805 ne -3 and r6j806 ne -3 and
r6j807 ne -3

and r6j808 ne -3 and r6j809 ne -3 and r6j8010 ne -3 and r6j8011 ne -3 then do;
r6job80=sum(r6j801,r6j802,r6j803,r6j804,r6j805,r6j806,r6j807,r6j808,r6j809,r6j8010,r6j8011);

end;

if r6j801=-3 or r6j802=-3 or r6j803=-3 or r6j804=-3 or r6j805=-3 or r6j806=-3 or r6j807=-3 or r6j808=-



3

or r6j809=-3 or r6j8010=-3 or r6j8011=-3 then do;
réjob80=-3;

end;

if r6s801 ne -3 and r6s802 ne -3 and r6s803 ne -3 and r6s804 ne -3 and r6s805 ne -3 and r6s806 ne -3
and r6s807 ne -3

and r6s808 ne -3 and r6s809 ne -3 and r6s8010 ne -3 and r6s8011 ne -3 then do;
réself80=sum(r6s801,r6s802,r6s803,r6s804,r6s805,r6s806,r6s807,r6s808,r6s809,r6s8010,r6s8011);
end;

if r6s801=-3 or r6s802=-3 or r6s803=-3 or r6s804=-3 or r6s805=-3 or r6s806=-3 or r6s807=-3 or
r6s808=-3

or r6s809=-3 or r6s8010=-3 or r6s8011=-3 then do;

réself80=-3;

end;

if r6e801 ne -3 and r6e802 ne -3 and r6e803 ne -3 and r6e804 ne -3 and r6e805 ne -3 and r6e806 ne -3
and r6e807 ne -3

and r6e808 ne -3 and r6e809 ne -3 and r6e8010 ne -3 and r6e8011 ne -3 then do;
réemp80=sum(r6e801,r6e802,r6e803,r6e804,r6e805,r6e806,r6e807,r6e808,r6e809,r6e8010,r6e8011);
end;

if r6e801=-3 or r6e802=-3 or r6e803=-3 or r6e804=-3 or r6e805=-3 or r6e806=-3 or r6e807=-3 or
r6e808=-3

or r6e809=-3 or r6e8010=-3 or r6e8011=-3 then do;

réemp80=-3;

end;

[*repeat the above code for 1981-2003. The do i statements for each year are as follows:*/
/* 1981 */ do i=53 to 104;

/* 1982 */ do i=105 to 156;
[* 1983 */ do i=157 to 209;
[* 1984 */ do i=210 to 261,
/[* 1985 */ do i=262 to 313,;
/[* 1986 */ do i=314 to 365;
[*1987 */ do i=366 to 417,
/* 1988 */ do i=418 to 470;
[* 1989 */ do i=471 to 522;
/*1990 */ do i=523 to 574;
/* 1991 */ do i=575 to 626;
[* 1992 */ do i=627 to 678;
/* 1993 */ do i=679 to 730;
[* 1994 */ do i=731 to 783;
[* 1995 */ do i=784 to 835;
/* 1996 */ do i=836 to 887,
[* 1997 */ do i=888 to 939;
/* 1998 */ do i=940 to 991,
/*1999 */ do i=992 to 1043;
/* 2000 */ do i=1044 to 1096;
/* 2001 */ do i=1097 to 1148;
/* 2002 */ do i=1149 to 1200;
/* 2003 */ do i=1201 to 1252;



array réjob (k) r6job80-r6job99 r6job00-r6job03;
array réself (k) réself80-r6self99 r6self00-r6self03;
array réemp (k) réemp80-r6emp99 r6emp00-r6emp03;

*** Include non-interview cases;
do over r6job;

if €200=-5 then do;

réjob=-5; r6self=-5; réemp=-5;
end;

end;

array r5job r5job80-r5job99 r5job00 r5job01 r5job02;

array tjob tjob80-tjob99 tjob00 tjob01 tjob02;

array rbsjob r5sjob80-r5sjob99 r5sjob00 r5sjob01 r5sjob02;
array tsjob tsjob80-tsjob99 tsjob00 tsjob01 tsjob02;

array r5ejob r5ejob80-r5ejob99 r5ejob00 r5ejob01 r5ejob02;
array tejob tejob80-tejob99 tejob00 tejob01 tejob02;

array self self1-self9;

array roslf r5slf1-r5slfo;

do over tjob;
r5job=tjob;
r5sjob=tsjob;
rSejob=tejob;
end;

do over self;
r5slf=self;
end;

drop tjob80-tjob99 tjob00-tjob02 tsjob80-tsjob99 tsjob00-tsjob02 tejob80-tejob99 tejob00-tejob02 selfl-
self9;

rs5int_y=y5int_y;

[***hand edit***/
if pubid=1461 then self03=0;

I* (2-26-01) Begin by renaming the infile c.v. variables */
array rljob (i) r1job80-r1job99 r1job00-r1job03;

array r2job (i) r2job80-r2job99 r2job00-r2job03;

array r3job (i) r3job80-r3job99 r3job00-r3job03;

array r4job (i) r4job80-r4job99 r4job00-r4job03;

array r4self (i) r4sjob80-r4sjob99 r4sjob00-r4sjob03;
array rdemp (i) r4ejob80-rdejob99 r4ejob00-rdejob03;
array r5job (i) r5job80-r5job99 r5job00-r5job03;

array rbself (i) r5sjob80-r5sjob99 r5sjob00-r5sjob03;



array rs5emp (i) r5ejob80-r5ejob99 r5ejob00-r5ejob03;

array réjob (i) r6job80-r6job99 r6job00-r6job03;
array ré6self (i) réself80-r6self99 r6self00-r6self03;
array réemp (i) reemp80-r6emp99 r6emp00-r6emp03;
array tjob (i) tjob80-tjob99 tjob00-tjob03;

array tsjob (i) tsjob80-tsjob99 tsjob00-tsjob03;

array tejob (i) tejob80-tejob99 tejob00-tejob03;

/* Initialize created variable */
do over tjob;

tjob=0;

tsjob=0;

tejob=0;

end;

/* Begin by adding together the created variables from all rounds. Jobs that are double counted will be
subtracted off later in the program. */

do over tjob;

if r6job>0 then do;

tjob=r6job;

end;

if reemp>0 then do;

tejob=r6emp;

end;

if réself>0 then do;
tsjob=r6self;

end;

if r5job>0 then do;
tjob=r5job;

end;

if r5emp>0 then do;
tejob=r5emp;

end;

if r5self>0 then do;
tsjob=r5self;

end;

if r4job>0 and r5int=-5 then do;
tjob=r4job;

end;

if rdemp>0 and r5int=-5 then do;
tejob=r4emp;

end;

if rdself>0 and r5int=-5 then do;
tsjob=r4self;

end;

if r3job>0 and r4int=-5 and r5int=-5 then do;
tjob=r3job;

tejob=r3job;

end;

if r2job>0 and r3int=-5 and r4int=-5 and r3int=-5 and r5int=-5 then do;



tjob=r2job;

tejob=r2job;

end;

if r1job>0 and r2int=-5 and r3int=-5 and r4int=-5 and r5int=-5 and intwk>0 then do;
tjob=rljob;

tejob=r1job;

end;

if r5job>0 and r6job>0 then do;
tjob=r5job+r6job;

end;

if r5emp>0 and r6emp>0 then do;
tejob=r5emp+réemp;

end;

if roself>0 and r6self>0 then do;
tsjob=r5self+r6self;

end;

if r4job>0 and r6job>0 and r5int=-5 then do;
tjob=r4job+r6job;

end;

if rdemp>0 and réemp>0 and r5int=-5 then do;
tejob=rdemp+réemp;

end;

if rdself>0 and r6self>0 and r5int=-5 then do;
tsjob=r4self+r6self;

end;

if r3job>0 and r6job>0 and r4int=-5 and r5int=-5 then do;
tjob=r3job+r6job;

end;

if r3job>0 and r6emp>0 and r4int=-5 and r5int=-5 then do;
tejob=r3job+ré6emp;

end;

if r2job>0 and r6job>0 and r3int=-5 and r4int=-5 and r5int=-5 then do;
tjob=r2job+r6job;

end;

if r2job>0 and réemp>0 and r3int=-5 and r4int=-5 and r5int=-5 then do;
tejob=r2job+réemp;

end;

if r1job>0 and r6job>0 and r2int=-5 and r3int=-5 and r4int=-5 and r5int=-5 then do;
tjob=rljob+r6job;

end;

if r1job>0 and r6emp>0 and r2int=-5 and r3int=-5 and r4int=-5 and r5int=-5 then do;
tejob=r1job+r6emp;

end;

end;

/* Define negative values for the total created variable. */



do over tjob;

if r6job in (-1,-2,-3) then tjob=-3;

if réself in (-1,-2,-3) then tsjob=-3;
if réemp in (-1,-2,-3) then tejob=-3;

if r5job in (-1,-2,-3) then tjob=-3;
if roself in (-1,-2,-3) then tsjob=-3;
if roemp in (-1,-2,-3) then tejob=-3;

if r4job in (-1,-2,-3) and r5int=-5 then tjob=-3;
if rdself in (-1,-2,-3) and r5int=-5 then tsjob=-3;
if rdemp in (-1,-2,-3) and r5int=-5 then tejob=-3;

if r3job in (-1,-2,-3) and r4int=-5 and r5int=-5 then do;

tjob=-3;

tejob=-3;

end;

if r2job in (-1,-2,-3) and r3int=-5 and r4int=-5 and r5int=-5 and intwk>0 then do;
tjob=-3,;

tejob=-3;

end;

if rljob in (-1,-2,-3) and r2int=-5 and r3int=-5 and r4int=-5 and r5int=-5 and intwk>0 then do;
tjob=-3;

tejob=-3;

end;

end;

/* When matching jobs from Round 5 to Round 6 (for example), we only need to worry about jobs in
Round 6 with a UID
beginning with "2001" or earlier since only those jobs could have been worked in more than 1 round. */

array rluid (i) rluid1-rluid9 rluid10 rluidl1;
array r2uid (i) r2uid1-r2uid9 r2uid10 r2uid11;
array r3uid (i) r3uid1-r3uid9 r3uid10 r3uidl1;
array rduid (i) r4uid1-r4uid9 r4uid10 rduidl1,
array rsuid (i) r5uid1-r5uid9 r5uid10 r5uidll;
array réuid (i) uidO1-uid11;

array raslf (i) raslf1-r4sIfo r4sIf10 r4slf11; /* 1-9-03 Dummy var. for self-employed job in Round 4. */
array roslf (i) roslf1-r5sIf rbsIf10 r5slfll;
array self (i) selfO1-selfl1;

array matchl (i) matchl_1-matchl 11,

array match2 (i) match2_1-match2_11;

array match3 (i) match3_1-match3 11;

array match4 (i) match4_1-match4 11,

array match5 (i) match5_1-match5_11;

array match6 (i) match6_1-match6_11,;

array match7 (i) match7_1-match7_11;

array match8 (i) match8_1-match8 11;

array match9 (i) match9_1-match9_11,



doi=1to 11;
match1=0; match2=0; match3=0; match4=0; match5=0; match6=0; match7=0; match8=0; match9=0;
end;

/* Define match14 as the dummy variable that equals one when the first job on the Roundl UID roster
and the fourth job on

the Round2 roster have the same UID. There are upto 9 possible matches as of round 6 - in round 7 the
max will be 11 to

incorporate the round 6 jobs. Round 1 only has 7 jobs which is why the last two job matches don't
include r1 components. */

do over r6uid; /* If any UID from the first position in dli Round matches with any UID in Round 6 */
if r5uid1>0 and réuid>0 and r5int>0 and intwk>0 then do;

if r5uid1=r6uid then do;

matchl=1;

end;

end;

if r4uid1>0 and r6éuid>0 and r5int=-5 and intwk>0 then do;

if r4uid1=r6uid then do;

matchl=1;

end;

end;

if r3uid1>0 and réuid>0 and r5int=-5 and r4int=-5 and intwk>0 then do;

if r3uid1=r6uid then do;

matchl1=1;

end;

end;

if r2uid1>0 and réuid>0 and r5int=-5 and r4int=-5 and r3int=-5 and intwk>0 then do;
if r2uid1=r6uid then do;

matchl1=1;

end;

end;

if rluid1>0 and r6éuid>0 and r5int=-5 and r4int=-5 and r3int=-5 and r2int=-5 and intwk>0 then do;
if rluid1=r6uid then do;

matchl=1;

end;

end;

end;

do over r6uid; /* If any UID from the second position in dli Round matches with any UID in Round 6 */
if r5uid2>0 and réuid>0 and r5int>0 and intwk>0 then do;

if r5uid2=r6uid then do;

match2=1;

end;

end;

if r4uid2>0 and réuid>0 and r5int=-5 and r4int>0 and intwk>0 then do;

if r4uid2=r6uid then do;

match2=1;

end;

end;

if r3uid2>0 and réuid>0 and r5int=-5 and r4int=-5 and r3int>0 and intwk>0 then do;



if r3uid2=r6uid then do;

match2=1;

end;

end;

if r2uid2>0 and réuid>0 and r5int=-5 and r4int=-5 and r3int=-5 and intwk>0 then do;
if r2uid2=r6uid then do;

match2=1;

end;

end;

if rluid2>0 and réuid>0 and r5int=-5 and r4int=-5 and r3int=-5 and r2int=-5 and intwk>0 then do;
if riuid2=r6uid then do;

match2=1;

end;

end;

end;

[*repeat above code for UIDs in positions 3-9 in dli round*/

/* Define "same98" as a counter variable that adds up how many matching UIDs are in the respondent's
UID roster. This will

be subtracted from the total number of jobs created variable to avoid double counting the same job.
Begin by initializing

the "same" variables to zero. */

same97=0;

same98=0;

same99=0;

same00=0;

same01=0;

same02=0;

ssame97=0;

ssame98=0;

ssame99=0;

ssame00=0;

ssame01=0;

ssame02=0;

array r1j97 (i) r1j971 r1j972 r1j973 r1j974 r1j975 r1j976 r1j977 r1j978 r1j979 r1j9710 r1j9711;
array r1j98 (i) r1j981 r1j982 r1j983 r1j984 r1j985 r1j986 r1j987 r1j988 r1j989 r1j9810 r1j9811,
array r2j98 (i) r2j981 r2j982 r2j983 r2j984 r2j985 r2j986 r2j987 r2j988 r2j989 r2j9810 r2j9811,
array r2j99 (i) r2j991 r2j992 r2j993 r2j994 r2j995 r2j996 r2j997 r2j998 r2j999 r2j9910 r2j9911;
array r3j99 (i) r3j991 r3j992 r3j993 r3j994 r3j995 r3j996 r3j997 r3j998 r3j999 r3j9910 r3j9911,
array r3j00 (i) r3j001 r3j002 r3j003 r3j004 r3j005 r3j006 r3j007 r3j008 r3j009 r3j0010 r3j0011,
array r4j00 (i) r4j001 r4j002 r4j003 r4j004 r4j005 r4j006 r4j007 r4j008 r4j009 r4j0010 r4j0011;
array r4j01 (i) r4j011 r4j012 r4j013 r4j014 r4j015 r4j016 r4j017 r4j018 r4j019 r4j0110 r4j0111;
array r5j01 (i) r5j011 r5j012 r5j013 r5j014 r5j015 r5j016 r5j017 r5j018 r5j019 r5j0110 r5j0111;
array r5j02 (i) r5j021 r5j022 r5j023 r5j024 r5j025 r5j026 r5j027 r5j028 r5j029 r5j0210 r5j0211,

array r6j97 (i) r6j971 r6j972 r6j973 r6j974 r6j975 r6j976 r6j977 r6j978 r6j979 r6j9710 r6j9711;
array r6j98 (i) r6j981 r6j982 r6j983 r6j984 r6j985 r6j986 r6j987 r6j988 r6j989 r6j9810 r6j9811;
array r6j99 (i) r6j991 r6j992 r6j993 r6j994 r6j995 r6j996 r6j997 r6j998 r6j999 r6j9910 r6j9911,
array r6j00 (i) r6j001 r6j002 r6j003 r6j004 r6j005 r6j006 r6j007 r6j008 r6j009 r6j0010 r6j0011;



array r6j01 (i) r6j011 r6j012 r6j013 r6j014 r6j015 r6j016 r6j017 r6j018 r6j019 r6j0110 r6j0111;
array r6j02 (i) r6j021 r6j022 r6j023 r6j024 r6j025 r6j026 r6j027 r6j028 r6j029 r6j0210 r6j0211;
array r6j03 (i) r6j031 r6j032 r6j033 r6j034 r6j035 r6j036 r6j037 r6j038 r6j039 r6j0310 r6j0311;

/* Consider the respondents with a Round 1 interview date in 1997, non-interview cases only. */
if rlint_y=1997 and r2int=-5 and r3int=-5 and r4int=-5 and r5int=-5 and intwk>0 then do;
do over matchi;

if match1=1 and r6j97=1 and r1j971=1 then do;

same97=same97+1;

end;

end;

do over match2;

if match2=1 and r6j97=1 and r1j972=1 then do;

same97=same97+1;

end;

end;

[*repeat for match3-match9*/

end;

/* Consider the respondents with a Round 1 interview date in 1998, non-interview cases only. */
if rlint_y=1998 and r2int=-5 and r3int=-5 and r4int=-5 and r5int=-5 and intwk>0 then do;
do over matchi;

if match1=1 and r6j98=1 and r1j981=1 then do;

same98=same98+1;

end;

end;

do over match2;

if match2=1 and r6j98=1 and r1j982=1 then do;

same98=same98+1;

end;

end;

[*repeat for match3-match9*/

end;

/* Consider the respondents with a Round 2 interview date in 1998. */
if r2int_y=1998 and r3int=-5 and r4int=-5 and r5int=-5 and intwk>0 then do;
do over matchi;

if matchl=1 and r6j98=1 and r2j981=1 then do;

same98=same98+1;

end;

end;

do over match2;

if match2=1 and r6j98=1 and r2j982=1 then do;

same98=same98+1;

end;

end;

[*repeat for match3-match9*/

end;

[* Consider the respondents with a Round 2 interview date in 1999. */



if r2int_y=1999 and r3int=-5 and r4int=-5 and r5int=-5 and intwk>0 then do;
do over matchi,

if match1=1 and r6j99=1 and r2j991=1 then do;
same99=same99+1;

end;

end;

do over match2;

if match2=1 and r6j99=1 and r2j992=1 then do;
same99=same99+1;

end;

end;

[*repeat for match3-match9*/

end;

/* Consider the respondents with a Round 3 interview date in 1999. */
if r3int_y=1999 and r4int=-5 and r5int=-5 and intwk>0 then do;
do over matchl;

if match1=1 and r6j99=1 and r3j991=1 then do;
same99=same99+1;

end;

end;

do over match2;

if match2=1 and r6j99=1 and r3j992=1 then do;
same99=same99+1;

end;

end;

[*repeat for match3-match9*/

end;

/* Consider the respondents with a Round 3 interview date in 2000. */
if r3int_y=2000 and r4int=-5 and r5int=-5 and intwk>0 then do;
do over matchi,

if match1=1 and r6j00=1 and r3j001=1 then do;
same00=same00+1,

end;

end;

do over match2;

if match2=1 and r6j00=1 and r3j002=1 then do;
same00=same00+1,

end;

end;

[*repeat for match3-match9*/

end;

/* Consider the respondents with a Round 5 interview date in 2002. */

/* 1-9-03 "ssame" refers to a match of self-employed jobs, only needed for Round 4 and beyond since
there were no self-employed jobs

on the roster before Round 4. Need to add back5=1 condition to account for backreporters who reported
jobs before the

interview year. */



if (r5int_y=2002 and intwk>0) or back5=1 then do;

do over matchi,

if match1=1 and r6j02=1 and r5j021=1 then do;

same02=same02+1,

end;

if match1=1 and r6j02=1 and r5j021=1 and self=1 and r5slf1=1 then do;
ssame02=ssame02+1;

end;

end;

do over match2;

if match2=1 and r6j02=1 and r5j022=1 then do;

same02=same02+1,

end;

if match2=1 and r6j02=1 and r5j022=1 and self=1 and r5slf2=1 then do;
ssame02=ssame02+1;

end;

end;

[*repeat for match3-match9*/

end;

/* Consider the respondents with a Round 5 interview date in 2001. */
if r5int_y=2001 and intwk>0 then do;

do over matchi,

if match1=1 and r6j01=1 and r5j011=1 then do;

sameOl=same01+1,

end;

if match1=1 and r6j01=1 and r5j011=1 and self=1 and r5slf1=1 then do;
ssame0l=ssame01+1,

end;

end;

do over match2;

if match2=1 and r6j01=1 and r5j012=1 then do;

sameOl=same01+1,

end;

if match2=1 and r6j01=1 and r5j012=1 and self=1 and r5slf2=1 then do;
ssame0l=ssame01+1,

end;

end;

[*repeat for match3-match9*/

end;

/* Consider the respondents with a Round 4 interview date in 2000. */
if (rdint_y=2000 and intwk>0) or back4=1 then do;

do over matchl;

if match1=1 and r6j00=1 and r4j001=1 then do;

same00=same00+1;

end;

if match1=1 and r6j00=1 and r4j001=1 and self=1 and r4slf1=1 then do;
ssame00=ssame00+1,;

end;



end,

do over match2;

if match2=1 and r6j00=1 and r4j002=1 then do;
same00=same00+1;

end;

if match2=1 and r6j00=1 and r4j002=1 and self=1 and r4slf2=1 then do;
ssame00=ssame00+1,

end;

end;

[*repeat for match3-match9*/

end;

/* Consider the respondents with a Round 4 interview date in 2001. */
if rdint_y=2001 and intwk>0 then do;

do over matchi,

if match1=1 and r6j01=1 and r4j011=1 then do;

same0l=same01+1;

end;

if match1=1 and r6j01=1 and r4j011=1 and self=1 and r4slf1=1 then do;
ssame0l=ssame0l1+1;

end;

end;

do over match2;

if match2=1 and r6j01=1 and r4j012=1 then do;

same0l=same01+1;

end;

if match2=1 and r6j01=1 and r4j012=1 and self=1 and r4slf2=1 then do;
ssame0l=ssame0l+1;

end;

end;

[*repeat for match3-match9*/

end;

/* 1-9-03 This checks finds those with matching jobs that were self-employed in one year and then not
the next. */

do over matchi,

if match1=1 then do;

if (self=1 and r5sIf1=0) or (self=0 and r5slf1=1) then do;
trouble=1;

end;

end;

if match2=1 then do;

if (self=1 and r5slf2=0) or (self=0 and r5sIf2=1) then do;
trouble=1;

end;

end;

[*repeat for match3-match9*/

end;

/* 1-9-03 By construction of the same variable, employeee-type same must be the difference between



total and self-employed

same. This variable is only necessary for Round 4 (years 00 and 01) since self-employed jobs were not
on the roster until

Round 4. */

esame00=0;
esame01=0;
esame02=0;

esame00=same00-ssame00;
esame0l=same01-ssame0l;
esame02=same02-ssame02;

/* Now subtract the "same" count variable from the total created variable computed above. */
if tjob97=>0 then do;
tjob97=tjob97-same97;
end;

if tejob97=>0 then do;
tejob97=tejob97-same97,
end;

if tjob98=>0 then do;
tjob98=tjob98-same98;
end;

if tejob98=>0 then do;
tejob98=tejob98-same98;
end;

if tjob99=>0 then do;
tjob99=tjob99-same99;
end,

if tejob99=>0 then do;
tejob99=tejob99-same99;
end,

if tjob00=>0 then do;
tjob00=tjob00-same00;
end;

if tejob00=>0 then do;
tejob00=tejob00-esame00;
end;

if tsjob00=>0 then do;
tsjob00=tsjob00-ssameQ0;
end;

if tjob01=>0 then do;
tjob01=tjob01-same01,;
end;

if tejob01=>0 then do;
tejob01=tejob01-esame0l;
end,

if tsjob01=>0 then do;
tsjob01=tsjob01-ssame01;
end,

if tjob02=>0 then do;



tjob02=tjob02-same02;
end;

if tejob02=>0 then do;
tejob02=tejob02-esame02;
end;

if tsjob02=>0 then do;
tsjob02=tsjob02-ssame02;
end;

/* Round 6 Non-interview cases */
do over tjob;

if uid01=-5 then do;

tjob=-5;

tejob=-5;

tsjob=-5;

end;

end;

endsas;

Total Number of Jobs Held Age 14-19, Number of Employee Jobs Held since Age 20,
and Number of All Jobs Held since Age 20

Variables Created: réempl4
réjobl4
réemp20
r6job20

Programs Used
This program uses emp_begin.sas as input.

This program calculates the total number of employee-type jobs held by the respondent between the
ages of 14 and 19. It then creates two variables for the total number of jobs held by the respondent since
age 20: one for all jobs and one for employee-type jobs. See the introduction to this appendix for
important information about the universes for each of these variables. The variables are only
created for respondents who have worked at least one week in the applicable age range.

array joblwks (i) wl_1-wl 1253;
array job2wks (i) w2_1-w2_1253;
array job3wks (i) w3_1-w3_1253;
array job4wks (i) w4_1-w4_1253;
array job5wks (i) w5_1-w5_1253;
array job6wks (i) wé_1-w6_1253;
array job7wks (i) w7_1-w7_1253;
array job8wks (i) w8 _1-w8 1253;



array job9wks (i) w9_1-w9 1253;
array job10wks (i) w10 _1-wl10 1253;
array jobllwks (i) wll 1-wll 1253;

FhAAAkAAkAIAAkAAAAAkAIAhkAhkArAkArhkrAhkrArhkrArhkhhkhrhkhrhkihkhrhiirhihkhrhkiixhihkhihihhihkiihiixikkx

** Indicate if worked at least one week on a given job since age 14 & 20 **

*hhkhkAhkhkhkkhhkkkhkhhkkhhhkkhkhhkhkhhkkhkhhkhkhhkhkkhhkhkkhhkhkihhhkiirhkhihhkhihhkhihkhihkhkrhkhrhhrhhkihhiihiiikiik
1

e141=0; j141=0; j201=0; e201=0;
e142=0; j142=0; j202=0; e202=0;
e143=0; j143=0; j203=0; e203=0;
e144=0; j144=0; j204=0; e204=0;
e145=0; j145=0; j205=0; €205=0;
e146=0; j146=0; j206=0; e206=0;
e147=0; j147=0; j207=0; e207=0;
e148=0; j148=0; j208=0; €208=0;
e149=0; j149=0; j209=0; e209=0;
e1410=0; j1410=0; j2010=0; €2010=0;
e1411=0; j1411=0; j2011=0; e2011=0;

* the ending week for the count "between age 14 and 20" depending on whether the respondent turns to
20 or not;
end14wk=min(age20wk-1, 1253);

* the count for "between age 14 and 20"--all jobs;

do i=agel4wk to end14wk;
if joblwks in (-3,1) then do;
j141=1;

end;

if job2wks in (-3,1) then do;
jl142=1;

end;

[*and so on through*/

if jobllwks in (-3,1) then do;
j1411=1;

end;

end;

* the count for "between age 14 and 20"--employee type jobs;

do i=agel4wk to end14wk;

if joblwks in (-3,1) and self01=0 then do;
eld1=1,;

end;

if job2wks in (-3,1) and self02=0 then do;
el42=1,;

end;

[*and so on through*/

if jobllwks in (-3,1) and self11=0 then do;



el411=1;
end;
end;

* the count for "since age 20" for those who are over 20 at interview date--all jobs;

if agel4wk>0 and age20wk<=1253 then do;
do i=age20wk to 1253;

if joblwks in (-3,1) then do;
j201=1;

end;

if job2wks in (-3,1) then do;
j202=1,

end;

[*and so on through*/

if jobllwks in (-3,1) then do;
j2011=1;

end;

end;

end;

* the count for "since age 20" for those who are over 20 at interview date--employee type jobs;

if agel4wk>0 and age20wk<=1253 then do;
do i=age20wk to 1253,

if joblwks in (-3,1) and self01=0 then do;
e201=1;

end;

if job2wks in (-3,1) and self02=0 then do;
e202=1;

end;

[*and so on through*/

if jobllwks in (-3,1) and self11=0 then do;
e2011=1;

end;

end;

end;

réjobl4=sum(j141,j142,j143,j144,j145,j146,j147,j148,j149,j1410,j1411);
réempld=sum(eldl,el42,e143,e144,e145,e146,e147,e148,149,e1410,e1411);
r6job20=sum(j201,j202,j203,j204,j205,j206,j207,j208,j109,j2010,j2011);
réemp20=sum(e201,e202,e203,e204,e205,e206,e207,6208,6209,62010,e2011);

FxxkxA*E assign -3 to cases with unknown stop dates or unknown start dates;

array starw (k) starw01-starw1l;
array stopw (k) stopw01-stopw11,;
array starf (k) starf_1-starf 11;
array stopf (k) stopf_1-stopf 11;
array self (k) selfO1-self11;



do k=1to 11;

if stopf=1 and starf ne 1 and starw<agel4wk and stopw>agel4wk and self=0 then réempl4=-3;

if stopf=1 and starf ne 1 and starw<agel4wk and stopw>agel4wk then r6job14=-3;

if stopf=1 and starf ne 1 and starw<age20wk and stopw>age20wk and age20wk<intwk and self=0 then
réemp20=-3;

if stopf=1 and starf ne 1 and starw<age20wk and stopw>age20wk and age20wk<intwk then r6job20=-3;

if starf=1 and stopf ne 1 and stopw>age20wk and starw<age20wk and self=0 then réemp14=-3;
if starf=1 and stopf ne 1 and stopw>age20wk and starw<age20wk then r6job14=-3;
end;

if e200=-5 then do;
réempl4=-5;
réjob14=-5;
réjob20=-5;
réemp20=-5;

end;

array job14 (i) job141-job148;
array job20 (i) job201-job208;
array r5j14 (i) r5j141-r5j148;
array r5j20 (i) r5j201-r5j208;

array self (i) selfl-self8;
array rbself (i) roselfl-r5selfs;

do over jobl14;
r5j14=job14;
r5j20=job20;
end;

do over self;
r5self=self;
end;

rsempl4=totempl4;
r5job20=totjob20;
rSemp20=totemp20;

/* 12-18-01 Initialize final created variable */

totemp14=0;
totjob20=0;
totemp20=0;

/* Begin by adding together the created variables from both rounds. Jobs that are double counted will be
subtracted off later in the program. */

if reemp14>0 then do;

totempl4=r6empl4,

end;



if r5emp14>0 then do;
totempl4=r5emp14;
end;

if rdemp14>0 and r5int=-5 then do;

totempl4=rdempl4;

end;

if r3job14>0 and r4int=-5 and r5int=-5 then do;

totempl4=r3jobl4;

end;

if r2job14>0 and r3int=-5 and r4int=-5 and r5int=-5 and intwk>0 then do;
totempl4=r2jobl4;

end;

if r1job14>0 and r5int=-5 and r4int=-5 and r3int=-5 and r2int=-5 and intwk>0 then do;
totempl4=rljobl4;

end;

if rsemp14>0 and r6emp14>0 then do;

totempl4=r5empl4+r6empl4;

end;

if rdemp14>0 and r6emp14>0 and r5int=-5 then do;
totempl4=rdempl4+r6empl4,

end;

if r3job14>0 and r6emp14>0 and r4int=-5 and r5int=-5 then do;
totempl4=r3jobl4+réempl4;

end;

if r2job14>0 and r6emp14>0 and r3int=-5 and r4int=-5 and r5int=-5 then do;
totempl4=r2jobl4+r6empl4;

end;

if r1job14>0 and réemp14>0 and r2int=-5 and r3int=-5 and r4int=-5 and r5int=-5 then do;
totempl4=rljobl4+r6empl4;

end;

if r6job20>0 then do;
totjob20=r6j0b20;

end;

if r5j0b20>0 then do;
totjob20=r5j0b20;

end;

if r4job20>0 and r5int=-5 then do;
totjob20=r4job20;

end;

if r3job20>0 and r5int=-5 and r4int=-5 then do;
totjob20=r3job20;

end;

if r5j0b20>0 and r6job20>0 then do;
totjob20=r5job20+r6job20;

end;

if r4job20>0 and r6job20>0 and r5int=-5 then do;
totjob20=r4job20+r6job20;



end;

if r3job20>0 and r6job20>0 and r4int=-5 and r5int=-5 then do;
totjob20=r3job20+r6job20;

end;

if reemp20>0 then do;
totemp20=r6emp20;

end;

if r5emp20>0 then do;
totemp20=r5emp20;

end;

if rAemp20>0 and r5int=-5 then do;
totemp20=r4emp20;

end;

if r3job20>0 and r4int=-5 and r5int=-5 then do;
totemp20=r3job20;

end;

if r5emp20>0 and r6emp20>0 then do;
totemp20=r5emp20+r6emp20;

end;

if rAemp20>0 and r6emp20>0 and r5int=-5 then do;
totemp20=r4demp20+r6emp20;

end;

if r3job20>0 and r6emp20>0 and r4int=-5 and r5int=-5 then do;
totemp20=r3job20+r6emp20;

end;

/* Jobs that are worked in 1998 or 1999 have the possibility of being double counted since they are
counted in

each Round's created variable programs. Here we will try to compare the UID's to see which jobs are
double counted. */

array r5j14 (i) r5j141-r5j149 r5j1410 r5j1411,

array r5j20 (i) r5j201-r5j209 r5j2010 r5j2011;

array job14 (i) e141-e149 e1410 e1411;

array job20 (i) j201-j209 j2010 j2011;

array rluid (i) rluid1-rluid9 rluid10 rluidl1;

array r2uid (i) r2uid1-r2uid9 r2uid10 r2uid11;

array r3uid (i) r3uid1-r3uid9 r3uid10 r3uidl1;

array rduid (i) r4uid1-r4uid9 r4uid10 r4uidl1;

array rsuid (i) r5uid1-r5uid9 r5uid10 r5uidll;

array réuid (i) uid0O1-uid11;

array ra4slf (i) raslf1-r4slIfo rasIf10 r4slf11; /* 1-9-03 Dummy var. for self-employed job in Round 4. */
array roslf (i) roslf1-r5sIf9 rbsIf10 r5slfll;

array self (i) selfO1-selfl1;

array rbself (i) r5selfl-rbselfll;

array matchl (i) matchl_1-matchl 11;
array match2 (i) match2_1-match2_11,;
array match3 (i) match3_1-match3_11;



array match4 (i) match4_1-match4_11,
array match5 (i) match5_1-match5_11;
array match6 (i) match6_1-match6 11;
array match7 (i) match7_1-match7_11;
array match8 (i) match8_1-match8 11;
array match9 (i) match9_1-match9_11;

doi=1to 11;

match1=0; match2=0; match3=0; match4=0; match5=0; match6=0; match7=0; match8=0; match9=0;
end,

/* Define match14 as the dummy variable that equals one when the first job on the Round1 UID roster
and the fourth job on

the Round2 roster have the same UID. There are upto 9 possible matches as of round 6 - in round 7 the
max will be 11 to

incorporate the round 6 jobs. Round 7 only has 7 jobs which is why the last two job matches don't
include r1 components. */

do over r6uid; /* If any UID from the first position in dli Round matches with any UID in Round 6 */
if r5uid1>0 and réuid>0 and r5int>0 and intwk>0 then do;

if r5uid1=r6uid then do;

matchl1=1;

end;

end;

if r4uid1>0 and réuid>0 and r5int=-5 and intwk>0 then do;

if r4uid1=r6uid then do;

matchl=1;

end;

end;

if r3uid1>0 and r6éuid>0 and r5int=-5 and r4int=-5 and intwk>0 then do;

if r3uid1=r6uid then do;

matchl=1;

end;

end;

if r2uid1>0 and réuid>0 and r5int=-5 and r4int=-5 and r3int=-5 and intwk>0 then do;
if r2uid1=r6uid then do;

matchl=1;

end;

end;

if rluid1>0 and r6éuid>0 and r5int=-5 and r4int=-5 and r3int=-5 and r2int=-5 and intwk>0 then do;
if rluid1=r6uid then do;

matchl=1;

end;

end;

end;

do over r6uid; /* If any UID from the second position in dli Round matches with any UID in Round 6 */
if r5uid2>0 and r6uid>0 and r5int>0 and intwk>0 then do;

if rbuid2=r6uid then do;

match2=1;

end;



end;

if r4uid2>0 and réuid>0 and r5int=-5 and r4int>0 and intwk>0 then do;

if r4uid2=r6uid then do;

match2=1;

end;

end;

if r3uid2>0 and réuid>0 and r5int=-5 and r4int=-5 and r3int>0 and intwk>0 then do;
if r3uid2=r6uid then do;

match2=1;

end;

end;

if r2uid2>0 and réuid>0 and r5int=-5 and r4int=-5 and r3int=-5 and intwk>0 then do;
if r2uid2=r6uid then do;

match2=1;

end;

end;

if riuid2>0 and réuid>0 and r5int=-5 and r4int=-5 and r3int=-5 and r2int=-5 and intwk>0 then do;
if rluid2=r6uid then do;

match2=1;

end;

end;

end;

[*repeat above code for UIDs in positions 3-9 in DLI round*/

/* Define "same" as a counted variable that adds up how many matching UIDs are in the respondent's
UID roster. This will

be subtracted from the total number of jobs created variable to avoid double counting the same job.
Begin by initializing

the "same" variables to zero. */

samel4=0;
same20=0;
esame20=0;

do over matchi,

if matchl=1 and r5j141=1 and job14=1 and r5self1=0 and self=0 then do;
sameld=samel4+1,

end;

if match1=1 and r5j201=1 and job20=1 then do;

same20=same20+1;

end;

if match1=1 and r5j201=1 and job20=1 and r5self1=0 and self=0 then do;
esame20=esame20+1;
end;

[* round 4*/
if matchl=1 and r4j141=1 and job14=1 and r4self1=0 and self=0 and r5int=-5 then do;



samel4=sameld+1;

end;

if match1=1 and r4j201=1 and job20=1 and r5int=-5 then do;
same20=same20+1;

end;

if match1=1 and r4j201=1 and job20=1 and r4self1=0 and self=0 and r5int=-5 then do;
esame20=esame20+1,;
end;

/* 1-9-03 dli is Round 3, No need for to account for self employed jobs because all jobs Round 3 and
earlier are employee-type. */

if match1=1 and r3j141=1 and job14=1 and r5int=-5 and r4int=-5 then do;

samel4=samel4+1;

end;

if match1=1 and r3j201=1 and job20=1 and r5int=-5 and r4int=-5 then do;

same20=same20+1;

esame20=esame20+1,;

end,

/* 1-9-03 dli is Round 2. No need for same20 here since everyone in the sample was under 20 during
Rounds 1 and 2. */

if matchl=1 and job14=1 and r5int=-5 and r4int=-5 and r3int=-5 then do;

sameld=samel4+1,

end;

/*1-9-03 dli is Round 1 */

if matchl=1 and job14=1 and r5int=-5 and r4int=-5 and r3int=-5 and r2int=-5 then do;
sameld=samel4+1,

end;

end;

do over match2;

if match2=1 and r5j141=1 and job14=1 and r5self1=0 and self=0 then do;
samel4=samel4+1;

end;

if match2=1 and r5j201=1 and job20=1 then do;

same20=same20+1;

end;

if match2=1 and r5j201=1 and job20=1 and r5self1=0 and self=0 then do;
esame20=esame20+1;
end;

[* round 4*/

if match2=1 and r4j141=1 and job14=1 and r4self1=0 and self=0 and r5int=-5 then do;
samel4=samel4+1;

end;

if match2=1 and r4j201=1 and job20=1 and r5int=-5 then do;

same20=same20+1,



end;

if match2=1 and r4j201=1 and job20=1 and r4self1=0 and self=0 and r5int=-5 then do;
esame20=esame20+1;
end;

/* 1-9-03 dli is Round 3, No need for to account for self employed jobs because all jobs Round 3 and
earlier are employee-type. */

if match2=1 and r3j141=1 and job14=1 and r5int=-5 and r4int=-5 then do;

samel4d=samel4+1,

end;

if match2=1 and r3j201=1 and job20=1 and r5int=-5 and r4int=-5 then do;

same20=same20+1,

esame20=esame20+1,;

end;

/*1-9-03 dli is Round 2. No need for same20 here since everyone in the sample was under 20 during
Rounds 1 and 2. */

if match2=1 and job14=1 and r5int=-5 and r4int=-5 and r3int=-5 then do;

samel4=samel4+1;

end;

/*1-9-03 dli is Round 1 */

if match2=1 and job14=1 and r5int=-5 and r4int=-5 and r3int=-5 and r2int=-5 then do;
samel4=samel4+1;

end;

end;

[*repeat the above code for match3-match9*/

/* Now subtract the "same" count variable from the total created variable computed above. */
if totemp14=>0 then do;

totempl4=totempl4-samel4;

end;

if totjob20=>0 then do;

totjob20=totjob20-same20;

end;

if totemp20=>0 then do;

totemp20=totemp20-esame20;

end;

/* Define negative values for the total created variable. */

if r1job14 in (-1,-2,-3) and intwk>0 and r5int=-5 and r4int=-5 and r3int=-5 and r2int=-5 then
totemp14=-3,;

if r2job14 in (-1,-2,-3) and intwk>0 and r5int=-5 and r4int=-5 and r3int=-5 then totemp14=-3;
if r3job14 in (-1,-2,-3) and intwk>0 and r5int=-5 and r4int=-5 then totemp14=-3;

if rdempl4 in (-1,-2,-3) and intwk>0 and r5int=-5 then totemp14=-3;

if r'5emp14 in (-1,-2,-3) then totemp14=-3;

if reempl4 in (-1,-2,-3) then totemp14=-3;

if r3job20 in (-1,-2,-3) and r5int=-5 and r4int=-5 and intwk>0 then totjob20=-3;



if r4job20 in (-1,-2,-3) and r5int=-5 and intwk>0 then totjob20=-3;
if r5jo0b20 in (-1,-2,-3) then totjob20=-3;
if r6job20 in (-1,-2,-3) then totjob20=-3;

if r3job20 in (-1,-2,-3) and r5int=-5 and r4int=-5 and intwk>0 then totemp20=-3;
if rAemp20 in (-1,-2,-3) and r5int=-5 and intwk>0 then totemp20=-3;

if r5emp20 in (-1,-2,-3) then totemp20=-3;

if reemp20 in (-1,-2,-3) then totemp20=-3;

[* 2-25-02 For respondents younger than 20 at interview date, their thrs14 c.v. will be -4. */
if age20wk>intwk and intwk>0 then do;

totjob20=-4;

totemp20=-4,

end;

if uido1=-5 then do;
totempl4=-5;
totjob20=-5;
totemp20=-5;

end;

endsas;

Job Length Less Than 13 Weeks
Variables Created: CV_JOB<13_WKS.01-.11
Variables Used

E3770101-E3770111  YEMP-37701.01-.11
E37901B01-E37901B11 YEMP-37901B.01-.11
E5820101-E5820107  YEMP-58201.01-.07
E5990001-E5990007  YEMP-59900.01-.07
E5840101-E5840111  YEMP-58401.01-.11
pubid PUBID

This program is to create the dummy variable for each job length. Value "1" to this dummy variable
indicates that a job
lasts less than or equal to 13 weeks. And value "0" means that the job lasts more than 13 weeks.

***** Define the arrays for the used variables;
array e37701 e3770101-e3770111;

array €58201 €5820101-e5820111;

array e37901b e37901b01-e37901b11;

array 59900 €5990001-e5990011;

array e58401 e5840101-e5840111;

***** Define the arrays for the created variables;



array jleng jleng01-jlengl1,

***** initialize the variables;
doi=1to 11;

jleng[i]=-4;
end;

**x** Create the variables;
doi=1to 11;

if e37701[i]=0 or e37901b[i]=0 then jleng[i]=1;

else if e58201[i]=0 or €59900[i]=0 then jleng[i]=1;

else if e58401[i]=1 then jleng[i]=1;

else if e37901b[i]=1 or €59900[i]=1 then jleng[i]=0;

else if e37901b[i] in (-1,-2,-3) or €59900[i] in (-1,-2,-3) then jleng[i]=-3;
* Since people who answer 58401 already answer e37701(e37901b) or €58201(e59900), don't assign -
3 based on the invalid answer to e58401. */

else if e3770101=-5 then jleng[i]=-5;
end;

endsas;



